U110
1.1
1.2

020
2.1
2.2
2.3
24
2.5
2.6
2.7
2.8
2.9
2.10
2.11
2.12
2.13
2.14
2.15
2.16
2.17
2.18
2.19
2.20
2.21
2.22
2.23
2.24
2.25
2.26
2.27

oopooooad 1
O0O0D00O00 ... . e e e 1
JavaOOOOOOOOOO0O ... ... e 3
1.21 00000000 .. .. s s 3
1.22 00000000 .. ... s e s 3
1.23 0000 . ... 3
Javal O 7
O000000000 ... .. s s e 7
OO0 . . 7
O000000 (DO00000) oo e 9
OO . 10
OO0 . . e 12
OO0O000O0 . ... e e 12
0000000 @0OODooO)000 ... e 13
O000 (OO000O00) « oo oo oo e e e 15
O00 (DOO0000) « oo oo e e e e e e e e 17
OO0O0 .. . 17
while DO0O0O000 (ODOOO) . . 0o 18
OO0 (OOODO) . . oo e e e s 19
0000 (OO0000) ... e e 20
forJ00O00O0O0O0O0OO0 (OOODO). .« oot 22
OO00000000 ... .. s s s 23
doOOOODODO (ODOOO) v v vt e e e 24
OO00000 . ... 25
0000000 (@O00) oo oo e 25
OO0O0000000 . ... . s s s 26
000 (000000000000) .. oo 28
OO000000 . ... e 30
OOO0 ... s e 34
OO00 ... 37
OO . 38
OO0O000 . ... e e 40
break 000000 (D00 switch) JOODODO ... ..o 000t o e 42

continue OO OOOOOO . ... . . . o s e oo 43



2.28
2.29
2.30
2.31
2.32
2.33
2.34
2.35

30
3.1

3.2
3.3
3.4

040
4.1
4.2
4.3
4.4
4.5
4.6
4.7
4.8

Us0
5.1

5.2

5.3

switchOUOOODODOO .0 0000 e
0000000000 (1)-000000 ... e .
0000000000 (2)-0000 ...
I I
0000000000 (3)-00 . oo
O000000D00000 .. 0o e
I
UO00D0O00 -00 .o

oooooooon

nO 0O o e e
3.1.1 nO000 10000000 ... e e
3.1.2 1000002000000 .00 e i
000 (bit)DOODO (byte) . . . oo s
O000000 . .. e e e s e
OOO0O0 ... e e e e s s e
341 JISOO (1000)000000 .00 oo

goboobooggn
OOODO0O o

UOODO0O .
I
481 DOODODO .o
482 DO0O00O0O0O0O ... o s

ggooobodg

OO0 .
5. 1.1 OODODODO oo oo e
5.1.2 DOOOOODO ..o oo e
OO0 s
521 DOOOOOO ..o e
522 DOOOOO ..o o e
I I
5.3.1 DOOOUOO ..o e
532 DOOOOODO ..o oo
533 UOODODOO oo e
534 DOOOOO ..o e

85
85
85
86
36
86
87
38

89
89
91
92
92
93
93
94
95
95
96



O0AJavalOOOODOOO 111
Al OOODOOO0DOODODO ... e e e 111
A1l SystemOODO ... ..o 111
A12 InmputStream O OO . . . . . ..o 112
A.1.3 InputStreamReaderO OO . . . . . . . . ... ... ... ... .... 112
A14 FileReaderOOD . . . . . . .. oo 113
A.1.5 BufferedReader OO O . . . . . . . . . ... ... ... ... 113
A1.6 PrintStreaem OO0 . ... ... ... .. 114
A17 FileWriter OO0 . . . . . . .o 114
A18 PrintWriter DO O . . . . . .. .. . 115

A2 OO0O0OO0O0O0O (Wrapper Class) . . . . v oo v v i it e 116
A21 Integer OO0 . . . oo 116
A22 DoubledOO . . .. .. 117
A23 BooleanODOO . ... ... 118

A3 O0O0D00O00 ... . s 119
A3 1 MathOODO . ... .. e e 119

A4 OOODOO0DOODODO ... e e e e e 121
A4l String0d OO ... .. 121
A.4.2 StringTokenizer DO DO . . . . . . . . ... . 123

A5 DOO0DOO0DOODDOODO ... e e 123
AS5T Applet OO0 . ... oo 124
A5.2 ContainerODOO . ... ... ... 125
Ab53 Component OO . .. . .. . ... . . 126
Ab5.4 GraphicsO OO . . .. ..o o0 127
Ab55 ColorOOO ... . o 129
A5.6 MouseAdapter DO O . . . . . . . . ... 130
A.5.7 MouseMotionAdapter OO0 . . . . . . . . ... ... ... ... ... 131
A58 MouseEvent OO0 . . . . . . . . . 131
Ab59 InputEvent OO0 . .. . . .. . o 132
AS510 AWTEvent OO0 . . . . . oo e 133
A5.11 EventObject DO O . . . . . . . . o oo 133
A.5.12 MouseListener OO OO OO0 . . . ... ... o .. 133
A.5.13 MouseMotionListener DO OO O OO . . .. .. ... ... ...... 134
00BOOOOOODOOO 135
B.1l OO00O0O0OO00O00O .. .. . e e e e 135
B2 0000000000 ... . e e e 135
B3 0000000000 ... .. e e 137
B4 0000000000 ... . e e 137
BS OO0O0O0O0OO0OO0O0O ... . e e 139
B.6 OOO0OOOO0O .. ... e s e 139

B7 DOO0O0O0OO0O0OD0OO ..o e 141



B8 DOOOOOOOOO0ODO ..o e 141

B9 0000000000 ... .o 143
B10OOOOOOODO . . oo 143
B11O0OOO-00000 . ..ot 143
B120000000000 . .. .ot 145
B1300OOOOO0O0 .. .o ot oo 145
B1400ODOO00000 . .. oot 149
BA1500000000 .. .00t 149
B16 0000000000 . .o oo oot 151
BA7O00D0OO00 . oot 151
BASOOOOOMO . oot 151
B19OODOOOODO . o oot oo 151
B20OOOOOO .o oot 151
B210000000000 . .. ..o 153
B2200000000 .. o oot oo 153
B230000000000 . .. oot 155
B2400 (sin) 0000 .. ..o 155
B250000000000000 . .« ottt 155
B26000000000000 .« .. oottt 159
B27O0000000000 . .. ..o 159
B28O0OOOOO0OD0 .« oo oot oo 159
B200000-0000000000 .« .« 0ot 161
B30 OOOOO . ..ottt 163
B31OOOOOO .. oot 163
B320000000000 . .. ..o 163
B33OOOO . o oot oo e 163

B34OOOOOOO (ODOODO) . .« ot 163



010 ootdod

1.1 0O00oogog

ggboboobuoooobbboooon
ggobobodoooobobooogoon
gogobobooogoboboooobbbuoooobooooon
000000000000 (OooDOooO0)oboooooo
gboboobuooboobobobobbobbooboon

ggbboobooogbo

00000 O0ooooooo(oooooooon)
0 O Javald CO C++0 Pascald FORTRANO BASICO Lisp Prolog

00000000 (source program) OO0 0000000 0OCOOOO
00000000000 (object program)D D000 O0O0O0O0O0O0OOO
goooobbboooooouooobobbbbbboooooo

00000 (compiler)D] 000000000000000000000000000
0oo
00000000 (00)0000000000 (compile) 000

000000 (interpreter)] OO 00000000 O0OOOOOOOO

0000000 (source file)D 00000000000 DO0OOOOOO (DOOOOOOO)
JawvaO0OOOOOOOOODOOOO javaDCOOOOOOOOOOOOO ¢OC+4+0
OO00DO0o0o0oDOoOoob ccObbO COOOO

0000000000 (object file)D D000 0O00O0O00O0O0O0OOODOOOOOO (OO
ooooooooo)
000 UNIXDODOOoOoOooDoooooobooooo ob gD

0000 (virtual machine)0 00 0000000000000 O0 (DOQOOO)
JawvaOOODODOOOODOOODOODOOOOODOODOOOODOObOOODO
goggobobbobbodoooooboboobobbodoooooboobbooooooooboobooo
ggooboogd



Rt - 1

I 5« % (Emacs)

V—R7055 L4
Y—R I 74 (% java)

Y

:ylfzr%rw g

Iz b TOTS A
PSR T 7AJL(x class)

==

RABHEMIZ & B EIT
A4 2% 7)) 3 (java)

R

NTEY
T /3 73 (jdb)

g1 Oogdaoob

ca10101$ emacs *.java

ca10101$ javac *.java
(ca10101$ javac -g *.java)

ca10101$ java *
(ca10101$ jdb *)

O 1.1: JavaOODOOODOOODOO

0000000 (class file)J JavaOOOODOOOOO0O0OODODOODOOOOOOO
JawvaOOOODODOOOOOOODOOOOODOOOOOOODOODOODOODOOOO0 Java
gbobooobooboboboobobobooboboboobobuobooOon class

goon

gbobodoogoobbbouoobboboooobbobuooobbbooogn

00 (OC,bug)0 DO0D0ODODOOOOO

0000 ((00O0,debug)D DO0O0O0O0O0OOO

0000 (debugger)D 0000000000 OOOOOO

00000 (package)d JavaOO OO OOOOOOO

JawvalUOUOOOOOOOOODOOOODOOOO0OODOimpertd Do onono0OOg

ggboobuoooboon
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1.2 JavaUOUOUOUOOOOOOOO

1.2.1 O0goooon

0000 (Mule)DODODDOODOODOOODODOODOODOOOOJawva00O0O0OOO0ODOODO OOO
U.java UO0O0O0OO0OOO0OO0O0OOODO0O0O0O0O0OODOOO0 Renshu.java U000
gdbdbdbdjaval bbb obobobobuobobon
gooooooogogaad

00000 (Renshu.java)O0 00O

public class Renshu {
public static void main(String[] args) {
System.out.println("Hello, yama!");

1.2.2 O00OO0OO0O0OOO

JawvaUOOOOOOOOOOOODOOD javacOOO0OOO0OOOOOOOODOODODODOO
gogbobobooogbboboooobbbd javalDD0D0O0O0O0O0O0DODOOOOODODO

javac(Java compiler)d JavaO0 O O00O0O000000O0O
ggbbobuogobbbuoodbb-gboogbobbooad

- DO0ogooooooogooon

gbobuogouooboobobooobuoooobuoobboobboobbor21i1oon
0000b000boo0obo0obOdU Renshujava DO OO

cal0101$ 1s9 (DOOOO0OOO Renshu.java)
Renshu. java

cal0101$ javac Renshu.javaf (Cohooooo)

cal0101$ 1s -gl¥ (U0O0O000 Renshu.class OOOO)
total 2

-rw-r--r-—— 1 yama teacher 418 10 11 19:19 Renshu.class
-rw-r--r-- 1 yama teacher 111 10 11 19:19 Renshu. java

cal0101$ java Renshuf (oooooooooo)

Hello, yamal!

1.2.3 0O0O0OO

00000000 (compile error)0 D000 0O0O0O0O0O0O0O0O0ODOOOOOO
000000000 (syntax error) 0 00O

jdb(java debugger)d 0000
gooooooooooooodoooooooodoooooooooooooo
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goboobooobboboboogobooobboobbooobbobboobb -gh
ggbobobuoooobbooodgn

cal0101$ cat Comperr.java @sooo ; ood)
public class Comperr {

public static void main(Stringl[] args) {

System.out.println("Hello, yama!")

}

cal0101$ javac Comperr.javaf

(Coboboooo)

Comperr.java:3: ’;’ OO OOOO
System.out.println("Hello, yama!")

gdn 10

cal0101$ javac -g Renshu.javaf

cal0101$ jdb Renshu
jdb DO OOQOQo...
> help

** command list *x*

run [class [args]]

threads [threadgroup]
thread <thread id>
suspend [thread id(s)]

resume [thread id(s)]

where [thread id] | all
wherei [thread id] | all

O

up [n frames]

down [n frames]

kill <thread> <expr>

interrupt <thread>

print <expr>

dump <expr>

eval <expr>

set <lvalue> = <expr>
locals

god

classes
class <class id>
methods <class id>

~

(0000000000000000)
(0000 jdb 0O0O)

(obooooooog)

gboboboooobbobuoooobbbuoooobod

goobooggoooo
gbobboooobboboood

oooooooooo (ooooo-: o000)
ooooboooobodo (ooooob-: odo)
gbbobuoooboboboooobo
obgobuoobog pcO0bbODOODDOODO

gobboogobbobuooobo
goboboooobbobooooboo
goboboooobbboooobbobooooboo
gbobobooaooboo

gbobobooogn
gbobbooogbbboooobbob

ooooboono ooooo)
ooooob/00/0b0b0obo0ooogooooboonDn
gobobbbbbotouooooooooobobbbooobb

gboboboboobooboobon
gbooboogoobobooooboo
gbobuoooboboboooobo
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fields <class id> - 0O00o00obooobooobooooon
threadgroups -——guoooobbboooooogad
threadgroup <name> - guoooobobbboooooogog
stop in <class id>.<method>[(argument_type,...)]

- 0ob0o0ooooobooobooboonbg
stop at <class id>:<line> ——- U UOUOUOUOUOOOOOOOOOOO

clear <class id>.<method>[(argument_type,...)]

- oboodooobooobooboonbg
clear <class id>:<line> - 0UUO0O0O0O0OOOOOOOOOOO
clear - 00000oboooboooboooog
catch <class id> - oboobooobooboobooboon
ignore <class id> -—Uuooobibb ’catch’ JUUOUOOOO

watch [access|all] <class id>.<field name>

- 000000000 O0oO/0000000ad
unwatch [access|all] <class id>.<field name>

- 00000000obobo/00b0bbo0ooooo

trace methods [thread] - 000000000 O0DOO0o0Oon

untrace methods [thread] -- 000000000 0O0OODOOOOO0O

step --0O000000oooo

step up - 000000000000 00000D00o0o0aon
stepi -- 00000000000

next -1 0000000000 (boobboobobooba
ooa)

cont -- 000000000 DOO000O0DoOoOOoa

list [line number|method] -- OUOOOOOOODOOODO
use (or sourcepath) [source file path]
--0D0000O00bOoOooooooo

exclude [class id ... | "none"]
-- 0000000000000 00o0oooooUuoo-

gooono

classpath -——Uuoobon vM U classpath UOOOOOOO
monitor <command> —— Q0000000000000 0000ouoogg
monitor - QO0o00000o0oooo

unmonitor <monitor#> -—Jo0oogoooodg

read <filename> - Q0000000000000 0000oo
lock <expr> - Q0000000000000 000Ooa

threadlocks [thread id] -—goooogooogouoooggno
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pop - Joo0ooooooooooooooooooogoo
reenter - Joooooouooodoonooooogoogon
redefine <class id> <class file name>

- Jooooooooooooon

disablegc <expr> - guooobbbooooooouooooboooobn
enablegc <expr> -——guooobbooooooooooooboooon

I -— pgbobooggooboboogd

<n> <command> - 0000t o 0o0oooon
help (or 7) - goooooooooon
version - goooooooooogd
exit (or quit) --J0ooooooooo

<class id>: JO00O0OO0ODOOOOOOODODOOO
ooooooo ¢x) Dbbooobooooooobboooo
<thread id>: ’threads’ DO0OO0O0ODOODOOOOODOODO
<expr>: Java(tm) DO ODOODOOODOO
ooooooooooobooobboooobo

user.home OO0 wuwser.dir JUOQOODOOOODOO
"jdb.ini" O ".jdbrc" DO UOOO0ODOODOOOOODODOOO
> exit (Ooooooo)



(1200 Javal U

2.1 O0OO0OoOooooon

00000000 -00000: Renshu.java

ooooooo oooo
public class Renshu { // Renshu0 O OO OOO
public static void main(String[] args) { // main0 0000000
System.out.println("Hello, yama!"); // 000
} // main0000000
} // RenshuO 00000

Jawa 0O0OO0O0O0O0OOOOOO (21000000000)00000000O0ODOOOO
gobobobooboobooboobobobouobooboobbJavabOOooooDOO
vboboobdoooboooboobooobooboooobooooobooboboobooboo
gb1010oo0bo0oooobooboooooobobooooboobooooboboooboo
00000 (renshu 0000 Renshu 000000 OODOODOOOO main’ 0000
ubooobooboobooooog

000000000000 (@O000n)
00000000000 ()000(@00000(0)00000000 ()000)

2.2 000

O0O0O0O PrintStream 0000 gggg*

ooobooooOooooooboboooon
System.out.println ( OO );

(1) (2)
() OoOoDOO0O DOO(@COODO)OooooooooooOoOoO
System.out.println - OO0 UOUSystem.out.print - JO OO
(2) OO gboooboobo

000000000000 (00000 = 6371000 m) - Surfacel. java

public class Surfacel {
public static void main(String[] args) {
System.out.println(4.0%3.14159265358979%6371000.0%6371000.0) ;

*streem 00 000000DOCO0OODOOOOODOOOOO
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gooo>
cal0101$ java Surfacelf
5.1006447190978775E14

0000000000 00000000 (D0obooooOOoO)ODoDooooooo
ggbobobogoobbboooobbbuoodaooboo
000000000000 (indent)DO0O000ODOOOCOOO0OODOOOOOODO
gogboboboogoboboooobbobooouoboboobooo

oo bbbooobobbOboOodn - surface2. java

public class

Surface2 { public static

void main (  String[] args )
{ System.out.println

(4.0 * 3.14159265358979 *

6371000.0%6371000.0); } }

000 (boooo)oooooooooo
0000000 (MU0oooooo

oo o0l - Surface3.java

public class Surface3 {
public static void main(String[] args) {
System.out.println(4.0%3.14159265358979%6371000.0%6371000.0) ;
System.out.println("4.0%3.14159265358979%6371000.0%6371000.0") ;

<good»>

cal0101$ java Surface3f
5.1006447190978775E14
4.0%3.14159265358979*6371000.0%6371000.0

000 print 0 println 000 (DO0D0OO0O0O0OO0OOO) - Surfaced. java

public class Surface4 {
public static void main(String[] args) {
System.out.println(4.0%3.14159265358979%6371000.0%6371000.0) ;
System.out.println("4.0%3.14159265358979%6371000.0%6371000.0") ;

System.out.println();
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System.out.println();
System.out.print(4.0%3.14159265358979*6371000.0%6371000.0) ;
System.out.print("4.0%3.1415");

23 000O0O0D0O0O (DDOODODO)

ogoooon
OO0 (1000000 (1.414)00000 ("Yamaguchi") OO

0000 OO0 (integer number) 0000 O

00 (000000000)0oooooooo*
000000 (byte) O 8bit —27 ~ 27-1

0000 (short) 0 16bit —215 ~ 211
00000 (int) 0 32bit —231 ~ 2311
0000 (long) O 64bit —263 ~ 2631

gooooboboib oLl Iong g
0, 1023, -16, 2147483648L

0000 000000 (floaing point number) 00000
0000000000000 000000000000o0O (boooooooooo
O)f
0000 (float) O 32bit £1.4x107% ~ £3.4x10"38
00 (00)00 (double) O 6dbit £4.9 x 107324 ~  £1.7 x 10+308

00000000 D000F/DOD0ODODOD float/double D
1.0, 3.141592F, 6.04e23(= 6.04 x 10%), 1e-100D(= 1071%)

000000000 (1) - Integerl.java

public class Integerl {
public static void main(String[] args) {
System.out.println(6371000%6371000%4.0%3.14159265358979) ;
}

good»>
cal0101$ java Integerlf
-2.632547196212943E10

000000000 (2) - Integer2. java

‘000000 330000000000000D000
‘000000 43000000000000 440000000000000
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public class Integer2 {
public static void main(Stringl[] args) {
System.out.println(6371000%6371000) ;

oo obbObodd - Doublel.java

public class Doublel {
public static void main(String[] args) {
System.out.println(6371000.0%6371000.0) ;

ot obobbObdOd - Double2.java

public class Double2 {
public static void main(String[] args) { // 0000gd 170
System.out.println(1.11111111111111111);
System.out.println(2.22222222222222222) ;
System.out.println(3.33333333333333333);
System.out.println(4.44444444444444444);

2.4 OO
000 00000000000 (00000000D0)
0000000

00000 0oooooooo0o0UoUoOo (boboooogn)
0000000 final 0000000000000 OOOO0OO(0O0O0)00O
ggboooboogoboo

ggbbobouoogbobbboooobbbooaob
(00O0O000O0)0(boooO)Doooooo,ooo ..
g int x, y;
final float PI;
public static double a;

oooo0oo0ooo
00 (ADZ,a02z)000 ()O00000 ($)000 (0090000000 (000000
oooo)

0000000000000000000000 (00=0000000000000
ooo)
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Oo000oooooooooo
goododd ans, wa, sa, CP.97.10_21

OO0 ODoooooooo
odddodgd int, float, double

000 (0DooOoO0)ODoDoOoOooOoO0O000O0(booooU0OooUooooDooooo)

U4 public, class, static, void, int, float, if, for, while
0000000000 (22000000) - Variablel.java

public class Variablel {
public static void main(String[] args) {
final double PI = 3.14159265358979;
final double R = 6371000.0;
System.out.println(4.0*PI*R*R) ;

<goOoo>
cal0101$ java Variablelf
5.1006447190978775E14

0000000000 (23000000) - Variable2.java

public class Variable2 {
public static void main(String[] args) {
final int R = 6371000;
System.out.println(R*R) ;

00 oooobobibibn -Variable3. java

public class Variable3 {
public static void main(Stringl[] args) {
final double PI = 3.14159265358979;
final double R = 6371000.0;
final double D 0.001;
System.out.println(4.0/3.0%PI*(R+D)*(R+D)*(R+D)-4.0/3.0*%PI*R*R*R) ;
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25 00O

00000 (=00000000000000000000ODODO0000O0O0OOOO
gbooboooobobooon

ggboboboooobood
ggo =dgoo ;

ggbbbugoogbbobuoooobbooogn

ooooooooooooo
OoOd int x = 1;
final double R = 6371000.0;

2.6 UOooood

JawvaUDOOOOODOOODOODOODODOODODOODOODObDObDOObLDOoLDbDOobDOobDObDO
0000000000000000 (String)J0 000000000000 0O0O (00000
00000)00000000000000O0O00000000OoOOOO0oO0oOOo

ggbobbbodoooobbboooobbbooaobn
gbbobuoooobbbooggboboogobbbgogo.colgbbbod
O00O0Omein00000 args00 (OD0)000000000ODargsO00O0OODOO
args[0], args(1], ... 000000000000 0O0O0OO0OOOOOOODOO
ERERE

cal0101$ java Assignl 0.0019

0000 (Exception)U OO0000O0OO0O0O0O0O0OOOOOOOOO
gobbooobobbuooobbbuoobobobbooobbbuooobbooon
000000 (Exception) 0000000

000 0o00obo0bOobboOoboOgnDgn - Assignl. java
U00000000D0 Double.parseDouble(args[0]) UDODOOOOOOOOOOO
0000 doubleDDODOOOOODOODOOO
int00000O0 Integer.parselnt(args[0]) O OOO

public class Assignl {
public static void main(String[] args) {
final double PI = 3.14159265358979;
final double R = 6371000.0;
double d = Double.parseDouble(args[0]);
// 00000000 doubleOODOODO
System.out.println(4.0/3.0%PI*(R+d)*(R+d)*(R+d)-4.0/3.0*%PI*R*R*R) ;

tDouble.parseDouble 0 Java 2 SDK 1.200000000000000000O0OJDK 1.1.7 000 Javal
O0O0000000ODouble.parseDouble(args[0]) OO 00O Double.valueOf (args[0]) .doubleValue()
000oooooo
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}
}
gbood»>
cal0101$ java Assignl 0.0019 (Doboobooooog)
5.10064459776E11
cal0101$ java Assignilfq (DODoooooooooono)

Exception in thread "main" java.lang.ArrayIndexOutOfBoundsException
at Assignl.main(Assignl.java:5)

cal0101$ java Assignl test (double OO OODOOODOOO)

Exception in thread "main" java.lang.NumberFormatException: test
at java.lang.FloatingDecimal.readJavaFormatString(FloatingDecimal.java:121
at java.lang.Double.parseDouble(Double.java:201)

at Assignl.main(Assignl.java:5)

27 00O0DO0OOODO@IDOOODOO)DOOO

ggbobobuoogoobbbuooboo
ggoboboogoooboooon

ggobbuodooobboboooooon
ggbbobuooobbooooboboooobo

00000 (+)000(0000000)0000000
0 +0

00000 (-)000(0000000)0000000
0 -0

o0oo000 (o oo (CooooOoo)ooooooo
O x [0

00000 (/)0 00 (0000000)0000000
0 /0

00000 (%0000 (0000000)000 (00)00000
0 %0

oo o000 mmUOdododon - Assign2. java

public class Assign2 {
public static void main(Stringl[] args) {
final double PI = 3.14159265358979;
final double R = 6371000.0;
double d = Double.parseDouble(args[0]);
d = d/1000.0;
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System.out.println(4.0/3.0%PI*(R+d)*(R+d)*(R+d)-4.0/3.0*%PI*R*R*R) ;
}

good»>
cal0101$ java Assign2 17
5.10064459776E11

00000000o (-)booooooooo
-U

Oo0DOoggg (+=, -=, x=, /=, =)0 000000000D0O0OCOOOO0O0OO
obooboobooboon

o0 oobooog O a += b;
- U0 =00 0oooo d a=a+b;

0000000 (increment) 000 (++)0 00000000 O0OOOOOOO

Od++, ++00
OO0 sum=a + b++; - alv0O000sumUO00000vp0 10000

OO sum =a + ++b; - bUO100000a0b000 sumUOOOOO

000000 (decrement) 000 (--)0 0000000000 OOOOOOO
ugd--, --00

ggboooood
00000 >00000(Gx, /, %, +, -)>00000
00000 >00000((@ooooooooooon)
(DoCocoooooooooo

gbogboobuooboobobbobbooboobooboobo
ool int U long OO long

int 0 double 0O double
float O double O double

goobobd dobbbOd long UOODO int OO long
000000 double OOOO int OO double
000000 double DO OO float OO double

0000 (cast)/0000 000000000 OODOOOOOOOOOOODO

(0o) ooo

OO double d = 3.1415;
OO0 float f = (float)d;
OO int i = (int)d;

ggboobooogoo
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1. 0000000000 (oooo
00 x=a/b/c; - x=C(/b)/c;x=a/(d/c);
x=a+bx*xc; - x=a+ (bx*xc); x=1(a+Db)*c;
2. 00000 ((@MO)0000000O0OODODOO0ODO ()obooo

OO0 x=a+++tb; - x = at+ + b; x = a + ++b;

2.8 0000 (D0OOOO)

00000 000000000 (StringO)
gobobuogobbooobobbooobboooboboooobbuooobooon
gdbdstringU 0000
gboobuoobobobobbobid Sstringld

public static void main(String[] args) {
”””””” ooooooggn

ggooboboogd

String name;

gboboobuooborrogbooboobon

"Hello, Yamal!!", "OO"

000000 (+)0oooooooooood
oo0d +00ad

000000000 (1) - Stringl. java

public class Stringl {
public static void main(String[] args) {

System.out.println("Hello, " + "yama!");

<gggg»>
cal0101$ java Stringl
Hello, yama!

000000000 (2) - String2. java
OO0DbO0O0D0O argsl0], args(1] ... ODOOO0OOOO0OOODOOOOOOOOOOO

public class String2 {
public static void main(String[] args) {
System.out.println("Hello, " + args[0] + " and " + args[1] + "!");
}
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}

good»>

cal0101$ java String2 Yasushi Tarof (COOobOoobo20000)
Hello, Yasushi and Taro!

cal0101$ java String2 Taro Yasushif (COhoooobooo...o

Hello, Taro and Yasushi!

ggbobobuoogobbobuoooobbooogn
0000000000000 (000 O0)ooooooooo
00 (+) 0000000000000 000oo0oOODODO0o0D0DooooooooOo

gud +doggad

00000000 (1) - Conversionl.java

public class Conversionl {
public static void main(Stringl[] args) {
int a = 10;
System.out.println("a = " + a); // 000 "a="000a00
}

<gggo»>
cal0101$ java Conversionl
a =10

00000000 (2) - Conversion2. java
goooooooboboooooo v 0obooobooooobooo

public class Conversion2 {
public static void main(String[] args) {
int a = Integer.parselnt(args[0]);
int b

System.out.println("Result: " + a + " + " + b+ " =" + (atb));

Integer.parselnt(args([1]);

000000 ooooooooooOooooo(oooo)
O00 str 0 int OO0OO0O0O0O0O0ODODOO0OOO Integer.parselnt(str) OO
double O OOUODDOOOODOOODO Double.parseDouble(str) DOOODOOO
000 (26000 1000000)0
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2.9 000(QODOOOO)

000000100000 (chard)
Java OO Unicode OODOODOOOOOODOODOODO 2bytedDOOOODOO

O0oOoooon
char ooo, 000

00000000 ’'oo00oo00o0 (boboo”000o0OO)

)1), )A)’ )b)’ )!), )n)

0000000ooopooooo0oU0UoUuoooDoooD (Doooon)

\n - O0oOoo0O L)

\t - 00 (HD

\b - D0DDO0O0O0O0O0 (BS)
\f - 00 (FF)

\r - 00 (Cr)

\\ -\

\J - )

\u R n

\uxxxx -~ UnicodeO O (xxxxO 400 1600)

2.10 0OO0OO

0000000000000 00000O0O0O000000OD0 (bO)DODOoDUoODO (ooo
Oo0oooooooon)

000000/ 00000 x/ 000 (/000000000 javadocOOODOOOOO
00000000oooon)

oooooooobobooooobooooby//boOon

00000000 (UnicodeDECCOO EUCOODO)0000000O0O
(1) O0ooO
(2) 0OO
(3) 000 (000,0000,00000)-0000000

oo obbbbdddd - Commentl. java

public class Commentl {
/x 000000000000 00000 =/
public static void main(String[] args) {
final double OO = 3.14159265358979; /+ O OO =*/

final double R = 6371000.0; // 00 (radius)
double d = Double.parseDouble(args[0]);
d /= 1000.0; // 00000dg

System.out.println("O0 = " +
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(4.0/3.0%0 0 *(R+d) * (R+d) *(R+d)-4.0/3.0x0 O *R*xR*R) + " m~3");

<ggoog>
cal0101$ java Commentl 19
OO0 = 5.10064459776E11 m~3

2.11 while 000000 (DODOO)

00000 00000000000 (DoO0)ooooooo
Javal [0 while, do, for U0 O O0ODOUO0OD if0000O0O0OOOODOOODOO

gogoboboooobbobooooboon
whileUOOODODOO1000000000000O00
wvhileUUOUOOOODOOOOOODOOOOODOODOOO0bDOOOO0On

while (O) O
- Quogggbbbugooboboooooboog
gbobooboogobobuooobon

0000000000 (00 5.75%000) - Wwhilel.java

public class Whilel {
public static void main(Stringl[] args) {
final double R = 0.0575; // 5.75%
System.out.println("Term " + (1.0+4R*1));
(1.0+4R*2));
(1.0+Rx*3));
(1.0+R*4)) ;

(1.04R*5));

System.out.println("Term "
System.out.println("Term "

System.out.println("Term "

+ 4+ + o+
gD W N -
+ + + + +
+ + + + 4+

System.out.println("Term "

<good»>

cal0101$ java Whileld

Term 1: 1.0575

Term 2: 1.115

Term 3: 1.1725
1.23
1.2875

Term 4:

Term 5:

0000000000 (00 5.75%000) - While2. java
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public class While2 {
public static void main(String[] args) {

final double R = 0.0575; // 5.75%

int i=1;

System.out.println("Term " + i + ": " + (1.0+Rx*i)); i++;
System.out.println("Term " + i + ": " + (1.0+R¥i)); i++;
System.out.println("Term " + i + ": " + (1.0+Rxi)); i++;
System.out.println("Term " + i + ": " + (1.0+Rx*i)); i++;
System.out.println("Term " + i + ": " + (1.0+R¥i)); i++;

000000000 @ 0 }00000212000000)- Whiled.java

public class While3 {
public static void main(String[] args) {

final double R = 0.0575; // 5.75%

int i=1;

while (i < 6) {
System.out.println("Term " + i + ": " + (1.0+Rxi));
i++;

}

2.12 00 (00DO00)

000 0000000000000 O0 {yo0000O0o0ooooDOoOoOO
gbbobuooobobbbooodibwhiledO0D0oooooooooon
000000000000 {}00000000000oogQ

00000 (indent)d 00000
000000000000000000000000000000000

000000 {}00000...-While4.java

public class Whiled {
public static void main(String[] args) {

final double R = 0.0575; // 5.75%

int i=1;

while (i < 6) // 00000b00ooboooobooo {000
System.out.println("Term " + i + ": " + (1.0+Rxi));
i++;

I
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<gpgpog>

O20 JavalOUO

cal0101$ java While4

Term 1:

Term 1:

Term 1:

~C

1.0575
1.0575

1.0575

(COO0OD0O0O0bOO0OobOoob <ctri-c>O00OO)

2.13 0000 (O0O0OO00O)

00000 00 (true, false)DO OO (boolean)
gboobobobobooboobooboobon

ggbobobodogd

boolean 0O OO, OOO

gO000000 true 0 0O0O false

000000 O000o0o0oO0O00o0000oooooooo(oo)ooo

[ 2 SR R V)

>Db
<b
>= b
<=Db

a>b U 0o0uggooooognd
a<bUO00O0OO00ooobooognd
a>b 0 o0oogogoooog
a<boooogoooood

000000 0000000000 0o0Ooooooooo(oo)ooo

a

al=>b

abpdgboooooobood
azb 00 0000D00DO0OOOO

000000000 (o)ooooo

X&y X00O0OO0yYyooooooooooooooo(@moo)
X&& Y goob -goobbbouogboobogggbobuoooon
X1y X00O0OOO0OyYyooOooooooooooooo(@oo)
Xy o000 -|o0boobobbobooboobuoobuoobon
X X00O0OoOooooooooooo(@oooo)
gogn
X|Y X&Y X&&Y XY XY X
g |0 0 0 0 0 0
g (o U U U U U
g (g U U U U U
g (g 0] U U U U
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00
I(a == b) al0pb000000O a'!=b
1(a > 0) alO00000 a <=0
(a>0) && (a% 2==0) al0OO000OO
(a>0) && (a < 2) allod0O000200000

21

(000000 0<e<2000000000))

gboobougogoboboboooooon

while (true) ...;

g ouoobobbibd - Booll.java

public class Booll {
public static void main(Stringl[] args) {
boolean bl 1> 0);
boolean b2 = (0 > 1);
System.out.println("True (1 > 0) is " + bl);
System.out.println("False (0 > 1) is " + b2);

oo oboobbbbd - Bool2.java

public class Bool2 {
public static void main(Stringl[] args) {
System.out.println("A" + "\t" + "B" + "\t" +
A & B" + "\t" + "A g& B" + "\t" +
"A | B" + "\t" + "A [] B" + "\t" + "IA");
System.out.println("" + true + "\t" + true + "\t" +

(true & true) + "\t" + (true && true) + "\t" +

(true | true) + "\t" + (true || true) + "\t" +
System.out.println("" + true + "\t" + false + "\t" +
(true & false) + "\t" + (true && false) + "\t"
(true | false) + "\t" + (true || false) + "\t"
System.out.println("" + false + "\t" + true + "\t" +
(false & true) + "\t" + (false && true) + "\t"
(false | true) + "\t" + (false || true) + "\t"

System.out.println("" + false + "\t" + false + "\t" +

('true));

+

+ (!true));

+

(!false));

(false & false) + "\t" + (false && false) + "\t" +
(false | false) + "\t" + (false || false) + "\t" + (!false));
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214 for000D00OD0OD0ODO (DDODO)

godooo0pooooooogoobooogono
forU0O0O0O0O0O0O0ODOOOUODOO0ODOOO0ODOOUOUDDO for0ggooog
0)
for00000O0O 10000DO0O0O0OOOOO0O

for (0O 1; 0O2; O03) 0O

-~ 000100000 (@COoOoooon)
O20000000000000000300000
2000000000000 od

ggoobobuoooobbooodgn

0 1;

while (O 2) {
0
0 3;

00D forJ000ODODOODO (OO) - Forl.java

public class Forl {
public static void main(Stringl[] args) {

final double R = 0.0575; // 5.75}
for (int i = 1; i < 101; i++)
System.out.println("Term " + i + ": " + (1.0+R*1i));
}
}
<ggogo»>

cal0101$ java Forlf

: (oo oo m)
Term 98: 6.635000000000001 (Ooooooooo)
Term 99: 6.6925
Term 100: 6.75

000 for0000O0DOODO (OO) - For2.java

: public class For2 {
public static void main(String[] args) {
final double R = 0.0575; // 5.75%
double x = 1.0;
for (int i = 1; i < 101; i++) {
x = x*(1.0+R);

D O N
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7: System.out.println("Term " + i + ": " + x);
8: }

9: %}

10: }

goog»>

cal0101$ java For2f

Term 98: 239.5945045283517
Term 99: 253.37118853873196
Term 100: 267.94003187970907 (DO0bO0o0obOooboboboboooog)

00000000000 (D00 60000O00ODO0OOOODODODO)

6: x *= 1.0+R;

000 (00/000)0000 (Y)O0OO (OO)0O0O00 - For3. java

public class For3 {
public static void main(Stringl[] args) {
final double R = 0.0575; // 5.75%
final double Y = 0.1; // 10.0%
double x = 1.0;
for (int i = 1; i < 101; i++) {
x *= 1.0+R;

x =Y,

System.out.println("Term " + i + ": " + x);

2,15 OOooooogn

00000000 (0DbD)oocooogooooooooood

00000 (Dooooo)obooooooog
000000000000000000000 (000 {}p)oooooooooooo

0002140000 - For4. java
rdboosgbgobobobooboobooboon

: public class Ford {

public static void main(String[] args) {
final double R = 0.0575; // 5.75%
double x = 1.0;

W N -
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5: for (int i = 1; i < 101; i++) {
6: x = x*%(1.0+R);
7: +
8: System.out.println("Term " + i + ": " + x);
9: %}
10: }

o0’ooobooog

020

Java OO O

000 i000000000000ooooOOO(DooooooooooooO)d

4: double x = 1.0;
4’ int 1i;
5: for (i = 1; i < 101; i++) {

2.16 do0ODOODOO (DODODO)

gogoboboooobboboooobon
doOUooobD1000oobobooooobn

do O while (O)

- d0000O000OOo0bOOoooDon
OO000D00000000DO00o0oDoOooDooooo
OOo0O0DOoO0oooooood

000 (whileO doOO0O)
wvhileOJOUOOOOOOOOOODDODODOODODOO0OO0O0Ooooon
doUUOOOOOoUooououboobbbooooooaa

00000000 (0DoO0O0O0O0000OoOn)-Dol.java

1: public class Dol {

2 public static void main(String[] args) {

3 final double R = 0.0575; // 5.75%
4 final double Y = 0.1; // 10.0%
5: int i=1,;

6 double x = 1.0;

7 do {

8 x *= 1.0+R;

9 x =Y,

10: System.out.println("Term " + i + ": " + x);
11: i++;

12: } while (x > 0.0);

13: }

14: }
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000 0000000000000 (D00 12040000000)
ddddd o+ U o000 10000000000 OLOOOO0 1000000000

10: it++;
11: } while (x > 0.0);
12: System.out.println("Terms: " + (i-1));

217 Uogoogg

i=1+24---4+n 000

M-

1

000 whileOOOOOO
int sum = 0;

<.
Il

int i = 1;
while (i <= 10) {
sum += 1; 1++;

b

Odddoooono
int sum = O;
int i = 1;
do {
sum += i; i++;
} while (i <= 10);

000 forOO0oQoog
int sum = 0;
for (int i = 1; i <= 10; i++)

sum += 1i;

2.00000000000

for (int i = 1; i < 10; i++)
for (int j = 1; j < 10; j++)
cout << i << " x " << j << " = " << i*j << endl;

2.18 if000000O (DDOOO)

ggobooboooobobboooon
ifdoobodgglgooboogaooobod

if (0) 01

- Jooooooodgi1ooooog

if (0) 01 else 02

- oo l1gododouooooouoo 2000004
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00000000 (DOo0O0O00000O0oooooon)-1Ifl. java

1: public class If1l {

2 public static void main(String[] args) {

3 final double R = 0.0575; // 5.75%
4 final double Y = 0.1; // 10.0%
5: int i=1;

6 double x = 1.0;

7 double z;

8 do {

9: x *= 1.0+R;

10: if (x>=Y) z =Y; else z = x;

11: X -= Zz;

12: System.out.println("Term " + i + ": " + x);
13: i++;

14: } while (x > 0.0);

15: %}

16: }

O0’0while0OO0O0O0O0(OOO8ODODO 40000 0OOO)

8: while (x > 0.0) {

14: }

2,19 000000000

ggbbbuooobbooodobbbuoooobboooan

0000000000000000000000000
() D0O0O00O00O000000(000/000)

(2) DOOOOO

b bbbuoooobbbdd == 0bb000dbb -Floatl.java
gobbooobbooobbioodbbidlfleoatdd doubleJ O DOOOOO
goon

public class Floatl {
public static void main(String[] args) {
double x = 0.0;
for (int i = 0; i < 10; i++)
x += 0.1;
if (x == 1.0)
System.out.println("1.0 == 0.1 * 10 == " + x);
else
System.out.println("1.0 != 0.1 *x 10 == " + x);



219. 0O0O0DOOOO0OOO

0000000000000 (D0O0O000000D0D00000000) - Float2.java

public class Float2 {
public static void main(String[] args) {
final double EPS = 1.0E-14;
double x = 0.0;
for (int i = 0; i < 10; i++)

x += 0.1;
if ((x > (1.0-EPS)) && (x < (1.0+EPS)))
System.out.println("1.0 == 0.1 * 10 == " + x);
else
System.out.println("1.0 != 0.1 * 10 == " + x);

goobbob40700000000ODOO0O0O0ODOOO - DLoopl. java
4000000 o0100b0O 7OoobOobOoO0 O rrolgboobooog
21600do 00 000OODODOODOOODOOODLOOODOOO
ggbbobuoogobbooobuoogbobboo

public class DLoopl {
public static void main(String[] args) {
final double Y = 0.1; // 10.0%
double r = 0.04; // 4.00%

27

while (r != 0.0701) { // 00000 o.o701 ODOOODO

int i = 1;
double x = 1.0;
do {

x *= 1.0+r;

x =Y,

i++;
} while (x > 0.0);
System.out.println("Rate: " + r + ", Term: " + (i-1));

r += 0.0001;

<0O00o>
cal0101$ java DLooplf
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Rate: 0.0998000000000017, Term: 66
Rate: 0.09990000000000171, Term: 73 (ooooooooo)
~C (OO0OooOood<Cctrl-c>Ooog)

gboobo4b070000000000000000O00 - DLoop2. java
4000000 0010000 700D 30100b00oon
ggbbobuogobbfergbbbuoooobn

public class DLoop2 {
public static void main(String[] args) {
final double Y = 0.1; // 10.0%
for (int n = 400; n < 701; n++) {
int i = 1;
double r = n/10000.0;
double x = 1.0;
do {
x *= (1.0+1);
x =Y,
i++;
} while (x > 0.0);

System.out.println("Rate: " + r + ", Term: " + (i-1));

gobood»>
cal0101$ java DLoop2

Rate: 0.0698, Term: 18
Rate: 0.0699, Term: 18
Rate: 0.07, Term: 18 (Oooooog)

220 000 (DOODODOODOOO)

Java D0OOO0ODOOOOOOOODOOOOOOOODODOOOOOODLOOOoObLOODDO
gbobogobbooobooobbooobuoobooboobuooobbooobboon
00000000000 000o0oo0 (Doo00oDoOoUO0)ooooDooUoooooo
gbogdgobbobouoooobbbuoood

0000 0000000000000 (D0000)0D00000D0ooOoOO0
JawvaOUODOOO java.io.x 000000000 ODO0OOOODOOOOOOOODOODOO

import java.io.*; // java.io.x JUODOUOODO import
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try { // 0000000
BufferedReader br = new BufferedReader (new InputStreamReader (System.in));
// 000 BufferedReader U 0[O
int i = Integer.parselnt(br.readLine());
// 00 (ne) JO0O0OODOO
double d = Double.parseDouble(br.readLine());
// 00 (double) UOODOODOO

}
catch (Exception e) { // 00000ogn
System.out.println("Error: " + e);// UUODOODO
e.printStackTrace(); // StackTrace(UUOOODOODOO)YODODO
+

00000 (package)d JavaO OO OOODOOOOOO
00o0oooooooooooodoooonoooooobodoonoooooooao
oodoooooobbibUdd import OO
java.io.x 0O 0OO0O0O import 0O UOUOOOOOOUOOOOODOODOOOOOOO
[l BufferedReader U U0 O OOODOON readLine DO OOOOODOOON

0000 (exception) 00 0000000000000 OOOOO
gobobogobobooobbooobbbooobbooobbooobobooon
ggboboboooobbobuoooobbobuooooboon
00000 +try0OOO {}000000000000000O00O0O (Exception)d OO
obobbodoogbbbidd catchUgdgooooooobbboooonoo

Uodbo200000000 - Calculatel.java
Uboobuoobobobobboobodbbdouwbledgooonoogn

import java.io.*; // java.io.x JOUODODODO import
public class Calculatel {
public static void main(String[] args) {
try { // 0000000
BufferedReader br =
new BufferedReader (new InputStreamReader (System.in));
// 000 BufferedReader J [0 [
System.out.print("a -> ");
double a = Double.parseDouble(br.readLine());
// 00 (double) DO OOODOO
System.out.print("b -> ");
double b = Double.parseDouble(br.readLine());
// 00 (double) DOOOODOO
System.out.println("" + a + " + " + b + " =" + (atb));
System.out.println("" + a + " - " + b+ " ="+ (a-b));

System.out.println("" + a + " x " + b + " =" + (axb));
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System.out.println("" + a + " /" + Db+ " ="+ (a/b));
}
catch (Exception e) { // 00000000
System.out.println("Error: " + e);

e.printStackTrace();

}

}
}
<gooo»>
cal0101$ java Calculateld
a->17 (DoOoooOoooag)
b —> 2¢ (ooooooooo)
1.0+ 2.0 =3.0
1.0 - 2.0=-1.0
1.0 x 2.0 =2.0
1.0 /2.0 =0.5

0000000000000 00000O00(Oo00)oDoooDoooDooUoooOo

2.21 O0OOOOOO

000000000000000(0000000) 00000000000 00o0oooo
ggbbuoobbodbboodobbooobboboobbooobbboobboob
000000000o0o0oo0O0O00000 (DoooooOooo0)Dooooooooo

ggbobobbodoooooboooobbboodooboooobbobooo
ggbobobuoooobbobuoooobbbuooooboo

00000000 00000000000000000000 (Reader, Writer OO)
gbogboodgbgobobodboboboouobooooboobobobogbobg

000000000 00000000(0000000)00000000000
100000000000000000000000 (0000000000000
000)o

00000 0000000000000 (InputStream System.in)
00 styOUOOoooogoboooobbobbuoabbooboboooboboon
ggobobouoodod

00000 0000000000000 00000000 (PrintStream System.out)
OO0 ttyOOOooOOoOoOOoooooooobooooobooboooooooonon
goooooooon
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0000000000000000000000000000 (PrintStream System.err)
00 sty Oooboooobboooboobooobbuoobboboboon
gogobobooodod

000000000 ooooooooouoouoooo
UNIX OO <ctrl-D>O0 Windows O O <ctrl-Zz>000000O

BufferedReader br = new BufferedReader (new InputStreamReader(System.in))
O00000000000000000000 (br)000O

BufferedReader br = new BufferedReader(new FileReader(str))
0000 (str-00000000D0)000000OO0O0ODODOOOOOO (bryDDOO

String str = br.readLine()
0000000oooooo (bry)D0 100000000000
0000 0000000000000000000 null)

int i = br.read()
DDDDDDDDDDDDD(br)DD 1DD(2DDD)DDDDD
gogdno DDDDDDD(QDDD)DDDDDDDDDDD—l)

br.close()
DDDDDDDDDDDDD(br)DDDDD(DD erDDDDDD)

System.out.print(str)
0000 (0000000000000 000)0oo00str00OO0OO

System.out.println(str)
0000 (0000000000000 000)0000O0O0O0000O0Oo0O

System.out.write(i)
0000 (boo00ooooooooooUoO0)D 100 (2000: i - 4int0)0O0O
oon

PrintWriter pw = new PrintWriter(new FileWriter(str))
0000 (str-00000000D)000000C0ODO0O00O0O0ODOODO (pw)OOO

=

.print (str)
000000000oooooD (pwUOO0Ostr000O0

P

=

.println(str)
O000000000000000 (pw)OODOO str00000O000O0O

P

.write(di)
0000000000o0Do0O00 (pw)0 100 (2000:1i - int0)0000OO

=

P

pw.close()
00000000oooDooooD (pw)UOO0OO (DO pwOOOOODODO)
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0000000000 C>»>>»w)000000000000000000

cald101$ DO OO > 0000
000000000000 (booo0o0oooooooDoODoOoOoOOOoOoOOgo
000)00000000

cal0101$ DODODO >> 0000
0000000 (Do0o0O000000oooO)oboo0ooooooooo

cald101$ DODODO > ODOODO
000000000000 (DO0D0OO0o0O0o00O00OOO0)OoDooOooOooo

0000000000 ()0 0000000000000 0O00D000OoooOO

caldl101$ DOODO < O0ODOO
gboboboogobobobooooooo

b bbboogboboboooobbbuodgonbn - Copyl. java
ggbbobolgogdbobobboooobbboooobbboooobo

import java.io.*; // java.io.x JOUODOODO import
public class Copyl {
public static void main(String[] args) {
try { // 0000000
BufferedReader br = new BufferedReader (new InputStreamReader(System.in));
// 0000 BufferedReader [ [J

String str;
while ((str = br.readLine()) !'= null) // ODO0OO0OO 100000
System.out.println(str); // 00000100000
br.close(); // 0000 BufferedReader 0 O
}
catch (Exception e) { // 00000000
System.out.println("Error: " + e);

e.printStackTrace();

ggobbbbboooogobobbbbtoooooobbbbooooooobbon
ggdoobobbotbugooooboboobotbodddooouooooobooon
gogbobbobbouoooobbbouooooobobobobooooooboboon
0000000 (Doooooooooo)o

cal0101$ java Copylfl

Yamaguchi Yasushi (Dooooooooo)
Yamaguchi Yasushi (oobooooboooo)
Computer Programming 19 (Dhoooooooo)
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Computer Programming 1 (Dooooooooo)
<ctrl-D> (<etrl-D>00000000O0)
cal0101$ java Copyl > gomif

Yamaguchi Yasushi (Chooooboooo)
Computer Programming 19 (DOhoooooooo)
<ctrl-D> (<ctr1-D>O0000O0DODOO)

cal0101$ cat gomiq

Yamaguchi Yasushi

Computer Programming 1

cal0101$ java Copyl < gomi
Yamaguchi Yasushi

Computer Programming 1

cal0101$ java Copyl < gomi > junk
cal0101$ cat junk

Yamaguchi Yasushi

Computer Programming 1

oo bboboooobboboooobbbdoodgnon - Copy2.java
ggboboboogobboboooobbl1iboooo1bboboooobn

import java.io.*; // java.io.x OJOUOOODO import
public class Copy2 {
public static void main(String[] args) {
try { // 0000000
BufferedReader br = new BufferedReader(new InputStreamReader (System.in));
// 0000 BufferedReader [ [

int 1i;
while ((i = br.read()) != -1) // 0000001000000
System.out.write(i); // 000001000000
br.close(); // 0000 BufferedReader O O
}
catch (Exception e) { // 00000000
System.out.println("Error: " + e);

e.printStackTrace();

ggbbbobooobobboooobbbuoodgonbn - Copy3. java
000000000000000 (argslo])00000000O0O0O0OOOOOOO
O00000000000D0000 (args(1])0000O0DOOOO
ggobobuoooobbooodgn

import java.io.*; // java.io.x JOODOODO import
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public class Copy3 {
public static void main(Stringl[] args) {
try { // 0000000

BufferedReader br = new BufferedReader(new FileReader(args[0]));
// 0000 args[0] 0 BufferedReader U [J

PrintWriter pw = new PrintWriter(new FileWriter(args[1]));
// 0000 args[1] 00O PrintWriter 00

int n = 0;

String str;

while ((str = br.readLine()) !'= null) // 000000100000

pw.println("" + (++n) + ":\t" + str); // ODO0O0OOOO (OOOO)

br.close(); // 0000 BufferedReader O O
pw.close(); // 000000 PrintWriter OO
System.out.println("Total: " + n + " lines");

}

catch (Exception e) { // 0000000
System.out.println("Error: " + e);

e.printStackTrace();

2.22 0O0O0O0O

ggbboboooobbboooobboo
000000 (00)bo0o0O0O000o00oooooooOooooOo
-gbbogogbbobuooob o ogbbboooobbbuooobbn
0000000 oooooooooOo (oo)yooooo

gboobgobgobobobobbobooboobd
gbooboooboobod

0000 0000oooooo(@oo)
gogbbobooogbbobuoooobboogogoo

000000D0o0oooooo0(ooooooon)
ggbobobuoooobbboooobobbooogbooboo

ggbobobugogbooboooobobobdao
static 00O 00000 (0000 ) {0oOOOOO }

SO (3) (4) (5)




222, 00O0ODO 35

(1) 0000 000000000000 (static)0000000
(2) OO 0000000000 (000000000 void)
(3) 00000 0000000 (000000000000)

(4) 0000 00000000000000000

(

3) 000000 0O0O0OO0oooooo(@mooo)
gogobbobbuoooooobbbobbouoooobooobbouooooooboon

ggobbbbbouoooooobbbbouooooobbbboooooobbboo
ggoooboogd

return U0 0000000000 OO0O0O0O0O00ODOOO

return 0O ;

000000 (@OO) D 0DoooOoOO0ooooooooo
ooood @oooo);

gogbobobbooogoboboooobon
gbbobuoogobbboooobbbuoogooboo
0000000 staticOOOOJava 00O staticfield 00000000000 OOO
000 (Doooopooooo)oooooo

ggoboboboogooboboooooon
0000o00oUooOo(booo0ogUoo)obooooooooo

b bbbuoodbbbOd - Methodl. java

public class Methodl {
static double d; // 00000 4 @ooo)
public static void main(String[] args) {
d = Double.parseDouble(args[0]);

d = d/1000.0;
printv(); // 000000 OO0o
}
static void printv() { // 000000 ODOoQdOooOo
final double PI = 3.14159265358979; // 00O (0O)OO PI (ODOO)
final double R = 6371000.0; // 00 @O0)00 rR(@OO)
System.out.println(4.0/3.0%PI*(R+d)*(R+d)*(R+d)-4.0/3.0*%PI*R*R*R) ;
}

0000000000000000 (1) - Method2. java

public static void main(String[] args) {// main OOOODOOOO
double dn = Double.parseDouble(args[0]);
// 0000 dn (OO0 mmO0O)
dn = dn/1000.0;
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d = dn; printv(); //
d = 10.0%dn; printvQ); //
d = 100.0*dn; printv(); //

0000000000000000 (2) - Method3. java

public class Method3 { //
public static void main(String[] args) {
final double R = 6371000.0; //
double dn = Double.parseDouble(args[0]);
//
dn = dn/1000.0;
printv(dn, R); //
printv(10.0%dn, R); //
printv(100.0%*dn, R); //
}
static void printv(double d, double x) {//
final double PI = 3.14159265358979; //

O20 JavalOUO

gooobog oo
gooobog oo
gboboobodg oo

gobooogd

oo@oH)onD rR OO)
o000 dn (OO0 mmO0)
gobobod 00 2 dn, R
godbdtd 02 10.0xdn, R

godbdd 02 100.0*%dn, R

gobbod gbo200do
o0 @oH)oo pI (WO

System.out.println(4.0/3.0*%PI*(x+d)* (x+d)*(x+d)-4.0/3.0*PI*x*x*Xx) ;

000 0000000000000 (3:000000) - Method4. java

public class Method4 { //
public static void main(String[] args) {

final double R = 6371000.0; //
double dn = inputmm(args[0]); //
//
printv(dn, R); //
printv(10.0*dn, R); //
printv(100.0*dn, R); //

}
static void printv(double d, double x) {//
System.out.println(vol(d, x)); //

}
static double inputmm(String str) { //

double d = Double.parseDouble(str);
//
return d/1000.0; //
}
static double vol(double d, double x) { //
final double PI = 3.14159265358979; //

gobooogd

oo@o)onD rR (OO)
ool an (OO0 mODO)
OO000obDOd 00 1 args([o]
goobobod 00 2 dn, R
gododd 02 10.0xdn, R
guodbdtd b2 100.0%dn, R

goboood go2004ao
gobbobouoooon

oot 00 1 doublelU

ooon 4 (str0ooonono)
OO0 (0000 mO0O)

oot 0O 2 doublelU
oOo@oH)yonD pr (DOO)
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return 4.0/3.0%PI*(x+d)* (x+d)*x(x+d)-4.0/3.0*PI*x*x*x;
} // 000 (OOOo)

2.23 0O0OOO

0000 (recursion, recursive cal)I 0000000 /000000000O0OO
ggbbbuogoobbbouoooobbbuoooobo
00000000oooO(booooooo)ooo

0000 (self recursion)] 000000000000 OOOO

0000 (tail recursion)d] 0000000000000 O0O00O0OOOOOO
000000000000 (0000000 ooOoOO0o0oooooooO)

000 factorial(DO )OO0 (1) - Factoriall. java
gogobobooooobooogo

n>0 000 nl=nx(n-1)
n=0 000 nl=1

0000000 Jwvad0O0O0OOOO0O0O0DOOOOOOODO(OODOOOOOOOOO
Oo0oooooooooo)o

public class Factoriall {
public static void main(String[] args) {
int n = Integer.parselnt(args[0]);
System.out.println("Factorial: " + n + "! = " + factorial(n));
}
static int factorial(int n) {
if (n > 0)
return n * factorial(n-1);
else

return 1;

000 factorial(0 O )OO O (2) - Factorial2. java
goobooobo 10,13, 14, 150000000000 0000int00O0O0O0O0ODO
gobbobuogdoibbibOdouwbledddgooog...0

// 0000000000000 factorial UOOOOOOOOO
static double factorial(int n) {
if (n > 0)

return n * factorial(n-1);
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else

return 1.0;

00020000 (1) - Binaryl. java
200000000 bddg 2000000 bobbUwhiled00nOoogng
gogooooooobood

public class Binaryl {
public static void main(String[] args) {
int i = Integer.parselnt(args[0]);

printBinary(i);
System.out.println();
}
static void printBinary(int i) {
while (i > 0) { // 00000000
System.out.print(i % 2); // 00000000
i/=2; // 000000ooogn
}
}

00020000 (2) - Binary?2. java
gooobobooodoobobboogoboboboooooooobbboooo
gogbobbodooouobobobboodooobobbbooooobobbbbouoo
goooobbbbbooooooooobooobobbn

// 0000 printBinary U0 OO OOOO

static void printBinary(int i) {

if (4 > 1) // 10000000
printBinary(i / 2); // 000000000
System.out.print(i % 2); // 00000000
}
2.24 OO

00000000 (0010000)-000 (i0)000 (areakm?) 00000

0o (0) 0 1 2 3 4 5 6
ad (krn2) 6093.78 6408.28 6363.16 3767.09 4995.72 2102.14  2415.11
0 (O) | Ibaraki Tochigi Gunma Saitama Chiba  Tokyo Kanagawa

gbogbrobooboobooboobobbobooobo
00D area? 7000000000001 00000 area? U0O0O0OO0OOODOOO
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gobibbboodgdobboDbd - Arrayl. java

public class Arrayl {
public static void main(String[] args) {
double area0 = 6093.78, areal = 6408.28, area2 = 6363.16,
area3 = 3767.09, aread = 4995.72, areab = 2102.14, area6 = 2415.11;
Integer.parselnt (args[0]);
if (i == 0) System.out.println("Area of #0: " + area0 + " km"2");

int i

else if (i == 1) System.out.println("Area of #1: " + areal + " km"2");

else if (i == 2) System.out.println("Area of #2: " + area2 + " km™2");
else if (i == 3) System.out.println("Area of #3: " + area3 + " km"2");
else if (i == 4) System.out.println("Area of #4: " + aread + " km"2");
else if (i == 5) System.out.println("Area of #5: " + areab + " km"2");
else if (i == 6) System.out.println("Area of #6: " + area6 + " km"2");

00 (array)0 O000000000O0OO0ODO ((00)0O0O0OO

0000000 (opoooo0OoUooooooo)0Oooog
ggbbbuoobobboooobbboooobo

oo [ ooob , booo
oo ooo 0, ooo 0

gboobooboobod
goooooooooo

ggobobuooodgoboboooooon
0000000oooooooo0oo0oU0O00 (Doo)obocoooooooooooo
ggbbbuooobboooobbbuooobobboooobbboooobn

OO0 [0 OO0
o0 o0oo0 (1

new OO [0OO] ;
new OO [O0OO7] ;

gboobooboobuooboobooboob
O000000ooooooo(@ooo)ooo

o0 [0 ooo
o0 o0oOo0 (1

{0001, ODOO2, ...} ;
{0001, 0002, ...}

000000 (@CoOoO0)DooooO0O0o0oooOUoooD
godbobobogggbbobiddllengthDO00ggoooooooon

OO0 .length
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0000000 (index) DO0O0OO0OOOOOOODODOOO

Oo00000o0o0ooooUoooooUn (DoO-1)boUooooOoUooooOoo
gogbooo

ooo [oo]

gbooboobuoigboobodobodn - Array2. java

public class Array2 {
public static void main(String[] args) {
double[] area = new doublel[7]; // 000000000000
areal[0] = 6093.78; areal[l] = 6408.28; areal[2] = 6363.16; areal[3] = 3767.09;
areal[4] = 4995.72; areal[5] = 2102.14; areal6] = 2415.11;
// 00000000oo
int i = Integer.parselnt(args[0]);

System.out.println("Area of #" + i + ": " + areali] + " km"2");

00002000000000000 - Array3. java
000000000 (String name[]1) 00000

public class Array3 {
public static void main(String args[]) {
// args 0 String 0000000000 OODOODOODOODOO

double areal] = {6093.78, 6408.28, 6363.16, 3767.09,
4995.72, 2102.14, 2415.11}%};
// double 0O ODOOOOODOO, DOOODOODO

String[] name = {"Ibaraki", "Tochigi", "Gunma", "Saitama",
"Chiba", "Tokyo", "Kanagawa'};
// String 0000000000, DOOOOO

int i = Integer.parselnt(args(0]); // 00OO0O0O0OODO 1000

System.out.println("Area of " + name[i] + ": " + areal[i] + " km™2");

}

225 UOUOOOO
0000000000000000000000

oo bboboogobbbibboddubibn - Iterationl. java
00O total = 0.00000O0OO0O0O0ODODOOO0OOOOOO0OODODO

public class Iterationl {

public static void main(String[] args) {
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double[] area = {6093.78, 6408.28, 6363.16, 3767.09,
4995.72, 2102.14, 2415.11};
double total = 0.0; // double 00O total OO OO
for (int j = 0; j < area.length; j++) // ODUO0OU0OOOOOOOOOO
total += arealj];
int i = Integer.parselnt(args[0]);
System.out.println("Ratio of #" + i + " = " + (areali]/total));

obipgdddddgddd - Iteration2. java
U00Orank = 100000000000000OOO0O0O0OOODOO0OO0OO

public class Iteration2 {
public static void main(String[] args) {
double[] area = {6093.78, 6408.28, 6363.16, 3767.09,
4995.72, 2102.14, 2415.11};
int i = Integer.parselnt(args[0]);
int rank = 1; // 000000010
for (int j = 0; j < area.length; j++) // UOO0OOO0ODOOODO
if (arealj] > areali]) rank++; // 000000000000 00
System.out.println("Rank of #" + i + " =" + rank);

oo obbbbobobddgdgddd - Iteration3. java
00000 (for00000)0D0D0000O0O0ODOOODOOOOOOOO

public class Iteration3 {
public static void main(String[] args) {
double[] area = {6093.78, 6408.28, 6363.16, 3767.09,
4995.72, 2102.14, 2415.11%};
double total = 0.0; // 000000
for (int i = 0; i < area.length; i++)
total += arealil;
for (int 1 = 0; i < area.length; i++) { // OD0O0O0O0OOO0ODOOOO
int rank = 1; // 00000
for (int j = 0; j < area.length; j++)
if (arealj] > areal[i]) rank++;
System.out.println("Rank of #" + i + " = " + rank +
", \t Ratio = " + (areal[i]/total));
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goobbboooobbbooobobbbuooobobbibddd - Iteration4. java
0000000000000 0000 1000000000000 (CFIVEO O KantoArea.dat
0 JapanArea.dat0 O 0O000O)

import java.io.*; // java.io.x OOODOODO import
public class Iterationd {
public static void main(Stringl[] args) {
try { // 0000000
BufferedReader br = new BufferedReader(new FileReader(args[0]));
// 0000 args[0] 00 BufferedReader [ [
int n = Integer.parselnt(br.readLine());
// 0000000

double[] area = new doubleln]; // 00000000000
double total = 0.0;
for (int i = 0; i < n; i++) { // 0000000000D0000

areal[i] = Double.parseDouble(br.readLine());

total += arealil;

}
br.close(); // 0000 BufferedReader 0 O
for (int i = 0; i < n; i++) { // 000000000000
int rank = 1; // 00000
for (int j = 0; j < n; j++)
if (arealj] > areali]) rank++;
System.out.println("Rank of #" + i + " = " + rank +
", \t Ratio = " + (areal[i]/total));
}
}
catch (Exception e) { // 00000000
System.out.println("Error: " + e);

e.printStackTrace();

2.26 break0 00000 (DODO switch)OO DO OO

000 000 (while, doOwhile, for)O switchOOODOOO
000000000 switchOOOODOOOOODOOODO ({(JU0O0O0O0OOOD)

break ;



2.27. continueJ D DO OOOOMN 43

2.27 continuell OO OOOON

000 000 (while, doOwhile, for) 0000000000000 OOOOO
while, do OO0 0OO0OOO0OO0OO0OOO
for OO0 g3000n

continue ;

2.28 switchOOOOOOO

gboobooboobooboob
000 (00)00000case 00O (@DO): DO0OOODOOODDODOO
gogbbbuodbbbOdefault: DUOUOOOO0DOOOOOO
switchOOOOOOOOObreak 000000000000 (break0 000000
Oo0oooooooooo)

switch (O) {
case 000000000 (ODOOOOO break;)
case JOO0O0OOOOO (ODOOOOO break;)

default JOOOOO
+

gob224000000000000000 - Switchl. java

public class Switchl {
public static void main(String[] args) {
double area0 = 6093.78, areal = 6408.28, area2 = 6363.16,
area3 = 3767.09, aread = 4995.72, areab = 2102.14, area6 = 2415.11;
int i = Integer.parselnt(args[0]);

switch (1) { // switch 0O OO0
case O: // i==0000 (break00OO0O0OODO)
System.out.println("Area of #0: " + area0 + " km"2"); break;
case 1: // 1==1000 (breakODO0OOODOOO)
System.out.println("Area of #1: " + areal + " km"2"); break;
case 2: // 1i==2 000 (breakO0O0OOOOOO)
System.out.println("Area of #2: " + area2 + " km"2"); break;
case 3: // i==3000 (break00O000OODO)
System.out.println("Area of #3: " + area3 + " km"2"); break;
case 4: // 1==4 000 (break0DO00OOO0DOOO)
System.out.println("Area of #4: " + aread + " km"2"); break;
case 5: // 1 ==5 000 (breakO0O0OOOOOO)
System.out.println("Area of #5: " + areab + " km"2"); break;
case 6: // i==6 000 (break0O0OO0OOOO)

System.out.println("Area of #6: " + area6 + " km"2"); break;
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default: // 000o0ooo

System.out.println("Out of range: i = " + i);

0000000000000 - Switch2.java
000000000 -1,0,1,2,3,450000000break 00000000000
ooooo

public class Switch2 {
public static void main(String[] args) {
int i = Integer.parselnt(args[0]);

switch (i) { // switch 0O OO0

case O: // 1==0000 (break0O0OOOOOO)
System.out.println("" + i + " is less than one.");

case 1: // 1i==1000 (breakO0O0OOOOOO)
System.out.println("" + i + " is less than two.");

case 2: // i==2000 (break00O0OO0O0OODO)
System.out.println("" + i + " is less than three.");

case 3: // 1 ==3 000 (break0O0OOOOONO)
System.out.println("" + i + " is less than four."); break;

case 4: // 1i==4 000 (break0O0OOOOOO)
System.out.println("" + i + " is four."); break;

default: // 0000000

System.out.println("" + i + " is negative or more than four.");

000 000000000000 00o00(0000)D0000000000d -Switch3. java
000000000000 (DUODoODYDODODODODODDOOOO 2byted OO OO
(00000)00000ooO0O0oO0opD oD 00O0OO0O00O0OOOOO 100
obooooooobvbooobooboooobobooooogoo

import java.io.*; // java.io.x JOUOOODO import
public class Switch3 {
public static void main(Stringl[] args) {
try { // 00000400
BufferedReader br = new BufferedReader(new FileReader(args[0]));
// 0000 args[0] O BufferedReader [1
int 1i;
int nline = 0, nwhite = 0, nother = O;
int[] ndigit = {0, 0, 0, 0, 0, O, O, O, O, O};
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// 000000 ,ndigit0000

while ((i = br.read()) !'= -1) { // 0000001000000
switch (1) { // 0000000
case ’0’: «case ’1’: <case ’2’: case ’3’: «case ’4’:
case ’5’: case ’6’: case ’7’: case ’8’: case ’9’:
ndigit[i-’0’]++; Dbreak; // 0= 000000000
case ’\n’:
nline++; // 000
case ’ ’: case ’\t’:
nwhite++; break; // 0000 @o,oo0,00)0
default:
nother++; break; // 000000, break OO0
}
}
br.close(); // 0000 BufferedReader 0 [J

for (i = 0; 1 < 10; i++)
System.out.println("# of " + i + "\’s: " + ndigit[i]);
System.out.println("# of lines: " + nline);

System.out.println("# of whites: " + nwhite);

System.out.println("# of other characters: " + nother);
b
catch (Exception e) { // 0000000n
System.out.println("Error: " + e);

e.printStackTrace();

2,29 000ODOOODOOO (1)-0O0000O0O

JawvaDOOODOODODOOOOOOODOODOODOO
JawvalUOOODOOOOOOODOOOOOOOOObOODbDOOOoOobuobDooboobooDg
gogoooo

000000 (object)D ODOOOD (DO0ODODOODDOO)000000OODDOOOOO
JawvaDODOUOOODOOOODOOODOOOODOOODOOOOO0O0ObOOOO0bOO00O0
goggbobobobboddggooobboobbuoooooobobbouooooooon
g0o0o0oOoOODOOO0O0O0O00000000D0D00000OooooooDoDD (oo
000)000000000oO0oDOooooOoO

000 (class)0 0000000000000 000O0O0O0O0O0O0O0O0O0O0O00
000 (00)0000 (00)000 (00)00000000
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000000 (instance)D 0000000000000 O0OO0ODO(DOOOODO)
ggbobobuoodo boooobbbooobobboood

0000000000 /oooo00 (Doooooooo)ooooo
gbobuoogogbbboooobob

O00000 class OOO0O {
OO0 @oooo)yoooad
ooooooooooo
oooooooo

gboobuooboobooboobo
public Oooobobo@uoboo)ooooooo

abstract O00O0O0OO0OO0OO0OOOO@MOOOOOO)
final oooooo@ooooono)

gbooboobuogbuoobooboobo

gbobuood boood ooodgbo, odos

ggbobbuooogoobbboooobbbuoooobboooan

public ggbobobooodgbbbodo
protected UUUOU0OO0OO0DOUOOO0ODODODOOOOOODOOO
(0o) ggbbobuoggobbodo

private ggbobobogooboogao

ggbobobuooooooboogn
static OUOO0OO0O0O (static UOUOOOOOOODOOOOOO)

final goono

gogbobbuodoodgobbbooodobbbooodobobboooobbb
oOo0D0odd staticUU0ooogooobooooboobbobuooooon
ggbobobooogbbboooobobbooodgoon
gboobuoobgobooboobobn

gbooo.ogd
gooboo.oon

0000000000000 0000000000000000O000O0OO0O0OO (2.22
000000000000O000000O0ooooooOon)

goo

000000000 000O0O0O000 (DOOo)oboooooo
gogbbbod staticUgoooooogooboboogoooobogo
0000000 (Dobopooo0oO0)00DU0ooooooOoooOOoOOoooooDoO
gbooboboobooboobboobuooboobboobooboobbon
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000 (00)0oooOo0O0o0o00ooOooOO00U00oooOoODODOooDoDomooo
gbooboooobood
0000000000000 000000000D0(O000.0oD0ooooooO.
ooooooooo)

oboboo.b0od

ggobbbbodooooobbbbboduoooobbobbooooooobboo
goobobooodb+thisODO0O0ooooooooooon

this UUUOO0Ooooooooooouogoooooobobooobobooooooon
Oo0000000O00oOoooooons

goo
this. 0 00O

ggobbbooooobboboooobobbuoooon
oooobd0o ooboobo b boobo (oboo) {boobooy

gogobobboooggobbobooooboo

static Ubooobgno (static DOOO0OOOODOOOOOOOOO)
final gooooooobobooo @moboboboooo)
abstract ggbobobbooogbboobboboooobboboogon

(ooooog)
synchronized UUOU0O0O0OOUOOO0OOOOOOO0OO0OOOO
(Doboooooooooo)

00000000 O00000000000000 (222000000000)
0000000 static000000000000000000000000000
00000000000000000000000000000000000000
000000 (0010)00
00000000000000000000000000000000000000
00000000000000000

oooo.0ooooo@oooog)
OOoo0Ooboo.0ooogo@ooog)

goggbobbbbuooooobobbbbbooooobbobbouooooobon
000000000 (222000000000000000000O0COOOOOOO)

ooooo@oooo)

00000000000 00000000000000
0000000 static00000000000000000000000000000
00000000000000000000000000000000000000
00000 (0010)00
00000000000000000000000000000000000000

gooogg
‘0000000000000 00000000000000000000000
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oooooo.ooobo@booo)

gbboobogoobogbooboobboooobboboboobooboon
gogbobobooodbbthis0dogooooooooooon

ooooo@oooo)
this. OOO0OOO0 @CO0OO0O)

0000000 (constructor)0 000000000000 0OOOOOO
goggoboboboboboooooobobbobbtoooooobboobbooooooobnobooon
ggbobobogooboogao

gbogbgoboobooboobobbooboobooboob

oooooboob bOobob (@oobo) {bboobooboy

0000000 (instantiation)d OO0 0000000 (D0O0O0OO0O0OOOOO)
O0000000000000000000 1000 (Dbbo)ObooDoooDooooo
00000000000 (0oo0)0D0o00ooooooooooOoo(ooono)O
ggbobobooogbbobooooobbo

new 0000 (QOOOO0O)

OO0 00000 - Prefecturel. java

public class Prefecturel {

String name; // 0000000000 name

double area; // 0000000000 area

int male; // 0000000000 male

int female; // 0000000000 female

int population() { // 000000000000
return male + female;

}

double popDensity() { // 000000000000
return population() / area;

}

public static void main(String[] args) {

Prefecturel p = new Prefecturel(); // 0000000 & OO

p.name = "Kanagawa"; // 000000000000
p.area = 2415.11; // 000000000000
p.male = 4219000; // 000000000000
p.female = 4079000; // 000000000000
System.out.println("Area of " + p.name + " =" + p.area + " [km"2]");

// 000000000000 00

System.out.println("Pop. of " + p.name + " = " +
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p.population() + " [persons]");
// 0000000000000
System.out.println("Pop. Density of " + p.name + " = " +

p.popDensity() + " [persons/km~2]");

gboobuoobogoboobooboobo
gogbbobboogooobbbobboooooobboboboooooooboboon
oooo0oooooooooooooooooofl

00000000000 (overload)D ODO0O00O0000/00000000000OO0O
0000000000000 00000000000OO /000000000000

00000 (signature)D 0000000000000
ggobboooobboooon

000000000000 (default constructor) 00 000000000000
0000000000000 0D000000000D0000000000000 10
0000 (0000000000000 nu121 000 0000) !
0000000000000000000000000000000

00000000 (0000000000000 0D0O0D00D00D0000)-Prefecture?. java
goggbbobbooggobobobbbodooogobobbouoooooooooon
ggobobuoooobbooogon

public class Prefecture2 {
String name;

double area;

int male;

int female;

Prefecture2() { // 00000000000

} // 00000o0og

Prefecture2(String n, double a) { // 20000000000
name = n; area = a;

}

Prefecture2(String name, double area, int male, int female) {
// 40000000000, 0oooooooooooooooood
this.name = name; this.area = area;
this.male = male; this.female = female;

}

int population() {

return male + female;

000D 2310000000000000000000000
lnw11 00000 2310000000000000000000000
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}
double popDensity() {

return population() / area;

}
String toStr() {
return name + ":\n Area =" + area + " [km"2]\n Pop. =" +
population() + " (" + male + "(m)/" + female + "(f)) [persons]" +
"\n Dens. = " + popDensity() + " [persons/km~2]";
}

public static void main(Stringl[] args) {
Prefecture2[] p = new Prefecture2(3]; // UDOOODOODO

pl0] = new Prefecture2("Chiba", 4995.72, 2937000, 2895000) ;
// 0000000, 4000000000O0DOO
pl1] = new Prefecture2("Tokyo", 2102.14);

// 0000000, 2000000000000
p[1] .male = 5795000;
pl1].female = 5844000;
p[2] = new Prefecture2();

// 0000000, OOO0O0DOoO0o0oDboOoooo

p[2] .name = "Kanagawa";
pl2] .area = 2415.11;
p[2] .male = 4219000;

pl[2] .female = 4079000;
for (int i = 0; i < p.length; i++)
System.out.println(p[i].toStr());

230 O00OO0O0OOODOODO (2)-0000

gbogboobobbobboobuoobooboo1oobod
0000 (access)0 DOOOODDOOOOODO

0000 (encapusulation)0 00 0000000000000 000O0OOO0OOOOOO
gogoboboboooobobbooodoooooobobo.bboooooobooboo.boob
goobboobobooooooobbbboooooobbobbouooooooboon
ggooboood
goggobobobboooooobobbodoooooboobbooooooooboobooon
goooo

publicUOO0O DDOUOOOOO0OOOOO0O0OOOOOOO0O00OO
publicUOOD0 100000 2000000000
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00 public0000000000D000000000ODO000000
(0000000000000000000 100 public000000000000
oo)

gogbobbuooogobbbooobobboooobbboooobobb
public ggbobobooogobobodo

protected UUUOU0OO0OODOOOO0ODODODOOOOOODOOO
(0o) ggbbobuogoobbodao
private ggbobobuoggoboogad

00000000 (class library)d JavaOOOOOOOO (=0000000)0000O
000000U0oooooo0o0 10oDooo)booooooooo
(000000O0O00O0OO0)000000O0O0ODOD0O000 (D)ODoooooooOoOoO
0000000000000 00000000 (000000000000 ooooon
O0OO0O0OpublicOODOOODO)

00000 (class path)D 0000000000000 (Q0O0000)

00000 (package)D DO OOOOOOOOO
000000000000000000000000000000O0O000O0DO (00
000000000000O0O0O0o00O0)0oooo

oo bbObooobobbbOoOdn -Prefecture3. java
Uoooooboooboboob printd0gooo220000000000000
ooooooo
000000000000000 (000 Phemo3.java 00 OO ODODO)

public class Prefecture3 {
private String name;
private double area;
private int male;
private int female;
private static double totalArea = 0.0; // O0OOODO (ODDOO)
private static double totalPop = 0.0; // O00OOOO (ODOO)
public Prefecture3(String name, double area, int male, int female) {

this.name = name; this.area = area;

this.male = male; this.female = female;

}

public String name() { // name 0 00O 0O
return name;

}

public void name(String str) { // name 0000 (DOOOOO)
name = str;

}

public double area() { // area0 000
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return area;

}

public void area(double x) { // area0 000 (DOOOOO)
area = X;

}

public int population() {
return male + female;
}
public double popDensity() {
return population() / area;
}
public String toString() {
return name + ":\n Area = " + area + " [km"2]\n Pop. =" +

population() + " (" + male + "(m)/" + female + "(f)) [persons]" +

"\n Dens. = " + popDensity() + " [persons/km~2]";
}
public static void calculateTotal(Prefecture3[] p) {
totalArea = 0.0; // totalArea [l totalPop 0 OO
totalPop = 0.0;
for (int i = 0; i < p.length; i++) {
totalArea += p[i].area;
totalPop += pl[i].population();
}
}

public void print(Prefecture3[] p) { // 00000000
System.out.println(this.toString());
int rank = 1;
for (int 1 = 0; i < p.length; i++)

if (pl[i].area > this.area) rank++;

System.out.println(" Area Rank = " + rank + ",\t Area Ratio = " +
(this.area / totalArea));
rank = 1;
for (int i = 0; i < p.length; i++)
if (p[i].population() > this.population()) rank++;
System.out.println(" Pop. Rank = " + rank + ",\t Pop. Ratio = " +

(this.population() / totalPop));
rank = 1;
for (int i = 0; i < p.length; i++)
if (p[i].popDensity() > this.popDensity()) rank++;
System.out.println(" Pop. Density Rank = " + rank);
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oo bbbooobobbiodddl - PDemo3. java

93

Ubooobuoobobiod JavadODOO Prefecture3.javal U OO UODOOODOO0O
U0 Prefecture3.class U U U UPrefectured.javal U O OO DOOOOOOONO
UOO00000dibO Prefecture3.classU UL DOUOOOO0OOOOOODOOOODO

ggbobobuooogbbboooobbobuoooobobbooo

public class PDemo3 {
public static void main(Stringl[] args) {
Prefecture3[] p = new Prefecture3([3]; // UDOOODOOO

pl0] = new Prefecture3("Chiba", 4995.72, 2937000, 2895000) ;
pl1] = new Prefecture3("Tokyo", 2102.14, 5795000, 5844000) ;
p[2] = new Prefecture3("Kanagawa", 2415.11, 4219000, 4079000);

Prefecture3.calculateTotal(p);

for (int i =
plil .print(p);

System.out.println("Area of #"

// System.out.println("Area of
p[0] .area(0.0);

// pl0].area = 0.0;
System.out.println("Area of #"
System.out.println("Name of #"

// System.out.println("Name of
p[2] .name ("Yokohama") ;

// pl[2] .name = "Yokohama";
System.out.println("Name of #"
Prefecture3.calculateTotal(p);
for (int 1 =

plil .print(p);

0; i < p.length; i++)

0; i < p.length; i++)

// 0O00000g <o)
// 0000000000
// 0000poo0oooog

+ 0+ " is " + p[0].area());
// area0 000

#" + 0+ " is " + p[0].area);
// area0 000

+ 0+ " is " + p[0].area());
+ 2+ " is " + p[2] .name());
// name 00 00O
#" + 2 + " is " + p[2] .name);
// name 0 0 00O

+ 2+ " is " + p[2].name());
// 0000000000
// 00000000000

0000000000000000 (0D00) - Prefecture. java
oboooooobooboboooooboobooboboooo
O000000000000000 (0000000 Phemo4.java DO ODODODOO)

import java.io.*;

import java.util.x;

public class Prefecture {
protected String name;
protected double area;

protected int male;

// protected(0 O 0O)
// protected(0 0O 0O)
// protected(J O 0O)
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protected int female; // protected (] OO )

private static double totalArea = 0.0; // O0OOO0OO (WDOO)

private static double totalPop = 0.0; // O00OOOO (ODDOO)

public Prefecture(String name, double area, int male, int female) {
this.name = name; this.area = area;

this.male = male; this.female = female;

}

public String name() { // name 0000 (ODOOODOOODO)
return name;

}

public double area() { // areal 000 (ODOOODOOODO)
return area,

}

public int population() {
return male + female;
}
public double popDensity() {
return population() / area;
}
public String toString() {
return name + ":\n Area =" + area + " [km"2]\n Pop. =" +
population() + " (" + male + "(m)/" + female + "(f)) [persons]" +
"\n Dens. = " + popDensity() + " [persons/km~2]";
}
public void print(Prefecture[] p) { // 00000000
System.out.println(this.toString());
int rank = 1;
for (int 1 = 0; i < p.length; i++)

if (pl[i].area > this.area) rank++;

System.out.println(" Area Rank = " + rank + ",\t Area Ratio = " +
(this.area / totalArea));
rank = 1;
for (int i = 0; i < p.length; i++)
if (p[i].population() > this.population()) rank++;
System.out.println(" Pop. Rank = " + rank + ",\t Pop. Ratio = " +

(this.population() / totalPop));
rank = 1;
for (int i = 0; i < p.length; i++)
if (p[i].popDensity() > this.popDensity()) rank++;
System.out.println(" Pop. Density Rank = " + rank);
}
public static Prefecturel[] loadFile(String file) {//00 0000000
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Prefecture[] p = null;
try {
BufferedReader br = new BufferedReader(new FileReader(file));
int n = Integer.parselnt(br.readLine());
p = new Prefecture[n];
totalArea = 0.0;
totalPop = 0.0;
for (int i = 0; i < n; i++) {
StringTokenizer st = new StringTokenizer (br.readLine());
String name = st.nextToken();
double area = Double.parseDouble(st.nextToken());
int male = Integer.parselnt(st.nextToken());

int female = Integer.parselnt(st.nextToken());

pli] = new Prefecture(name, area, male, female);
totalArea += area;
totalPop += male + female;
}
br.close();
}
catch (Exception e) {
System.out.println("Error: " + e);
e.printStackTrace();
}

return p;

OO0O0O0bOO0o0bOOob0OoO0boOoOng - PDemo. java
O0o00o0ooooooooodoooddn Prefecture.class 00
goooobodoooobooooob 1o boooooobbbuooo
00000 (CFIVEOD Kanto.dat O Japan.dat D0 0000)

public class PDemo {
public static void main(String[] args) {
Prefecture[] p = Prefecture.loadFile(args[0]);
for (int 1 = 0; i < p.length; i++)
plil .print(p);
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231 O0O0OO0OOOOOOOO0O

000000 (primitive data type)d JavaO0 O OO OO0OO0O0O0O0OO0O0OO
000 (byte, short, int, long)0 O OO (float, double)d 00 00O (boolean)d
000 (char) 0 8000000000000 O0OOOODOOOOOOODOOOOOO
0000 (@ooooo)ooo

ggobobuoooobboboooooon
gogbobobuoogbobobod

000000 (reference data type)d JavaODO O OOOOO0O0O0O0O
gobooboboooboooobbboobobbboob Javad0ooooooonO

ggboobobuoooboboboooooboo
ggobbbbobouooooobbbbbuoooooobbbbooooooobbon
gbboogobodgbouodgbboooogbbobboobuooboobbobobabn
gbbuodbbodbibd newddboogoobouoboobboobooobuoobbd
0000000000000 00000 (ODO)ODoOO000DU0D0oOOoOoOoOOOoO0OOO
gogbobobobuogoogobbobbboooooobobobouoooooboon
ggboobuoogoobo

mll(00)0DOD0OD0O0O0OO0000O0oooooooOooo
gogbboodobbbdabuooobbbooobbboooobboooobbooon
nullJO00O0O00OO

oo bbODbOo00obbbO0O0OOnO - Referencel.java

public class Referencel {
String name;
double area;
int population;
Referencel(String n, double a, int p) {

name = n; area = a; population = p;

public static void main(String[] args) {

int origl = -1;

int copyl = origl; // 00000000000 =00
int[] origA = {3, 2, 1};

int[] copyA = origA; // 00000000000 =00
Referencel origR = new Referencel("Tokyo", 2102.14, 11639000);
Referencel copyR = origR; // 00000000000 =0d
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System.out.println("origl = " + origl + ", copyl = " + copyl);
System.out.println("origh = (" + origA[0] + ", " +

origh[1] + ", " + origA[2] + ")");
System.out.println("copyA = (" + copyA[0] + ", " +

copyA[1] + ", " + copyA[2] + ")");
System.out.println("origR = (" + origR.name + ", " +

origR.area + ", " + origR.population + ")");
System.out.println("copyR = (" + copyR.name + ", " +

copyR.area + ", " + copyR.population + ")");
origl = 0; copyl = 1; // 00000000000000
origA[0] = 0; copyA[2] = 5; // 00000000000000
origR.name = "Kanagawa"; copyR.population = O;
System.out.println("origl = " + origl + ", copyl = " + copyl);
System.out.println("orighA = (" + origA[0] + ", " +

origh[1] + ", " + orighA[2] + ")");
System.out.println("copyA = (" + copyA[0] + ", " +

copyA[1] + ", " + copyA[2] + ")");
System.out.println("origR = (" + origR.name + ", " +

origR.area + ", " + origR.population + ")");
System.out.println("copyR = (" + copyR.name + ", " +

copyR.area + ", " + copyR.population + ")");

00O DboO00odbobobodoodbbDbOd - Reference2. java
goboboboobbooboooboobboobobooboobboobon 20
0000000 (Dooobo)obooooo

public class Reference2 {

String name;

double area;

int population;

Reference2(String n, double a, int p) {
name = n; area = a; population = p;

}

static void sideEffect(int i, int[] a, Reference2 r) {
i = 0; al0] = 0; r.name = "Kanagawa';

}

public static void main(Stringl[] args) {
int i = 1;
int[] a = {3, 2, 1};
Reference2 r = new Reference2("Tokyo", 2102.14, 11639000);
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System.out.println("i = " + i);
System.out.println("a = (" + a[0] + ", " + a[1] + ", " + a[2] + ")");
System.out.println("r = (" + r.name + ", " +
r.area + ", " + r.population + ")");
sideEffect(i, a, r); // 0000000000
System.out.println("i = " + i);
System.out.println("a = (" + a[0] + ", " + a[1] + ", " + a[2] + ")");
System.out.println("r = (" + r.name + ", " +
r.area + ", " + r.population + ")");
}

00 DO0000bobbogdgObDbOd - Reference3. java

public class Reference3 {
static void calculate(double[] a, double[] b, double[] x, double[] y) {
for (int i = 0; i < 3; i++) { // 00000 x,y OOOODO
x[i] = ali] + b[il;
y[i] = alil - b[il;
}
}
public static void main(Stringl[] args) {
double[] vecl = {1.0, 0.0, 0.0};
double[] vec2 = {0.0, 0.0, 1.0};
double[] ansl = new double[3];
double[] ans2 = new doublel[3];

calculate(vecl, vec2, ansl, ans2); // 0000000000
System.out.println("ansl = (" + ans1[0] + ", " +

ans1[1] + ", " + ans1[2] + ")");
System.out.println("ans2 = (" + ans2[0] + ", " +

ans2[1] + ", " + ans2[2] + ")");
calculate(vecl, vec2, vecl, vec2); // 00000000
System.out.println("vecl = (" + vecl[0] + ", " +

veci[1] + ", " + vecl[2] + "m)");
System.out.println("vec2 = (" + vec2[0] + ", " +

vec2[1] + ", " + vec2[2] + ")");
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232 000O0OD0OODOOODOO (3)-00

JawvalUOOOOODOODODOOOODOOOOOODOOODOOObDObODOobDOooooboboboog
000000 (0O)obooo000oooooooOoU0UUooDooDooooOOoOooog

00 (inheritance)D 00000000 (DOOOOOO)0DO0O0O0OOO
gbobbuogdgbbbooobbbuoobbboobbuooobboboobbooon
000 ADODOOOODOODOOBOODOOOODODODO

class O0OOB extends OOOA {3}

gboobgobgoobobboboobooboon
O000fin2dl 000000 (0D0)0000 (000 AQ findlO0OOOOOOOO)

00000 (subclass)0 ODO00OO0O0O0O0OO0OO
OO0 AQOOO (DO0)ODDoOOoOOoOBOODODOO AODODODOOOOOO

0000000 (superclass)0 OO 0O0O0OO0OO0OO0O0OO
O00AODO0OOD(DDO)0D00O00BOOOODODODOOOOOODOAOOO

0000 (multiple inheritance)J 000000000000 O00O0OO
JavaOOODOODOOOOOOODODOD (extendsDOODOOOODOOD1000000D)

ggbbbuooobobbbuoooobbbuooobobbooon
gogobboobobboogoooobobobbtoooooobobboooooooboobooo
ggobobooogooo
ggobbobobbouoooooobbbbboduooooobobbooooooobobo
0000000000000 0 (000000000 O00oOOO0ooooODoOoO0O
O00000oooooooooooooooon)
gbboobooubobouobooboboubobbooboobooboboodbbh
gogoobodgggooboogan

super (0 OO OO)

gbooooboboooooboboboboboooboobobobobobooo

this(DODOODO)

0000 (shadow)D 0000000000000 0OOOOODOOOOOOO
ggboboboooobboooooboo

goo
this. U 00

000000000000000000000000(00000000000000
00000000000000000000000000000000000000
oooo)
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super. U 0O 0O
((OOoOb0OobDOdD)this). OO0

000000 (override) 00000000000 O0ODOOOOODOOOOOODOOOOO

gbooobooood
ggbobobooggbboboooobooboogd

ooooo0o @oooo)
this. 00000 (DODOO)

00000o0o0o00O0O0ODO000000000000000000 (Doboooooo
000000oooon)

super. 00000 (OOOODO)

00000000 finl00000000D0O0OCODO0O0O0 (0DDDOODOOO static
0 final000000000O0O0ODO)

00000000 (dynamic dispatch)D 00 0000000000000
gogbobobuoooobobbooooboboooobbobooooboo

00000 (abstract class)0 D 0000000000000
guoooooooooobbbbooboooo
gooooooobbobboooooad

abstract class OOOO {7}

000000 (abstract method)D OOODOOOOOOO
gggdgoooooooobobbbbbbbbbbooooooooooooobn
gogoooooobbuooooogoooo
gobobbboooouoboobooooobobobbbooooobobbbuooo
gbogbuooboobgobuooboobooboobooobooboobon

goooo
000000000000000000 (000000000000 ooon)

abstract 00O O0OO00OO (@QOOOO) ;

Object D U0 OOOODOOU
00000000 OOpjectD000000O0ODODOODOODODOOOOOO(DDODOO

OO0 extendsO0O0OO0OO0)000000bject 0000000000000

gbo200000000000 - Functionl. java
00000 (000 410000000000000)0000 20000000000

gogobbbbouoooobbbboduoooobobobbouooooooboboo
goon



232, 000O0OO0OOOOOO (3)-00 61

public class Functionl {
private static final double EPS = 1.0e-14; // O0OO0OOO0OO

private double c, lower, upper; // 00000oooog

public Functionl(double c) { // 0000000 -00 ¢
this.c = c;

}

public double compute(double x) { // 2000 ("2 -c¢c) OO0
return X*x - cC;

}

private void bound() { // 0000000
if (¢ < 0) { // c<O 0000000

System.out.println("Error: ¢ (=" + ¢ + " ) must be positive.");

lower = upper = 0.0;

+
else if (c < 1.0) { // 0<c<1 ODOOOOO [c,1]
lower = c; wupper = 1.0;
b
else { // 1<c OOOODO0O [1,c]
lower = 1.0; upper = c;
b
+
public double solve() { // 00000oogog
bound () ;

while ((upper-lower) > EPS*Math.max(1.0, Math.abs(lower))) {
double mid = (lower+upper)/2.0;
if (compute(mid) > 0.0)
upper = mid;
else
lower = mid;
}
return (lower+upper)/2.0;
}
public static void main(Stringl[] args) {
Functionl f = new Functionl(Double.parseDouble(args[0]));

System.out.println("root: " + f.solve());

gob2000 300000000000 - Function2.java
O000D epsU000OD0OOOOO ¢, lower, uwpperD OO0 OODOOODOO solve()
0o0o0oooooooo3tdooooonobddddn CubicFunction2 [ Function?
ogoooooooon
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public class Function2 { // DUOOOOOOOOOODOO protectedd OO
protected static final double EPS = 1.0e-14; // 0O O0OOOODO

protected double c, lower, upper; // 00000oooog

public Function2(double c) { // 0000000 -00 ¢
this.c = c;

}

public double compute(double x) { // 2000 ("2 -c¢c) OO0
return X*x - cC;

}

protected void bound() { // 0000000
if (¢ < 0) { // c<O 0000000

System.out.println("Error: ¢ (=" + ¢ + " ) must be positive.");

lower = upper = 0.0;

+
else if (c < 1.0) { // 0<c<1 ODOOOOO [c,1]
lower = c; wupper = 1.0;
b
else { // 1<c OOOODO0O [1,c]
lower = 1.0; upper = c;
b
+
public double solve() { // 00000oogog
bound () ;

while ((upper-lower) > Math.max(EPS, EPS*Math.abs(lower))) {
double mid = (lower+upper)/2.0;
if (compute(mid) > 0.0)
upper = mid;
else
lower = mid;
}
return (lower+upper)/2.0;
}
public static void main(Stringl[] args) {
Function2 fs = new Function2(Double.parseDouble(args[0]));
Function2 fc = new CubicFunction2(Double.parseDouble(args[0]));
System.out.println("square root: " + fs.solve());

System.out.println("cubic root: " + fc.solve());

class CubicFunction2 extends Function2 { // 3000000
public CubicFunction2(double c) { // 0000000000000d
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super(c) ;
}
public double compute(double x) { // compute 00O OOOO
return x*x*x - C; // 3000 (x"3-c¢) OO0
}
protected void bound() { // bound0OO0OOO0O
if (¢ > 0.0) // 0000oogd
if (¢ > 1.0) { // 1kc OODODODOO [1,c]
lower = 1.0; wupper = c;
}
else { // 0kc<1 OOO0O0OO [c,1]
lower = c; wupper = 1.0;
}
else
if (c < -1.0) { // c<-1 000000 [c,-1]
lower = c; wupper = -1.0;
}
else { // -1<e<O ODODOODOO [-1,c]
lower = -1.0; upper = c;
}
}

gdb2000 300000000000 - Functiond. java
00000 epsOO000O0O0OO0O ¢, lower, upper00O0OOOOOO solve() O
gbooboubobobouobubobobdobd Function3JOOO20000000
U0 0 SquareFunction3 U 300U 0O OUOMOMOU CubicFunction3 [l Function3 [
U0b0000b0o0o0odlbn Function3 OO O2000000 compute(x), bound()
gboobuoobooobooboobuoobooboon

public abstract class Function3 { // 00000 Function3

protected static final double EPS = 1.0e-14; // OO O0OOO0ODO

protected double c, lower, upper; // 0000000000

public abstract double compute(double x);// DU UOUODODO compute

protected abstract void bound(); // 000000 bound

public Function3(double c) { // 0000000 -00 ¢
this.c = c;

}

public double solve() { // 00000oooog
bound () ;

while ((upper-lower) > Math.max(EPS, EPS*Math.abs(lower))) {
double mid = (lower+upper)/2.0;
if (compute(mid) > 0.0)
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upper = mid;
else
lower = mid;
}
return (lower+upper)/2.0;
}

public static void main(Stringl[] args) {

Function3 fs = new SquareFunction3(Double.

O20 JavalOUO

parseDouble(args[0]));

Function3 fc = new CubicFunction3(Double.parseDouble(args[0]));

System.out.println("square root: " + fs.solve());

System.out.println("cubic root: " + fc.solve());

class SquareFunction3 extends Function3 { //

public SquareFunction3(double c) { //
super(c) ;
}
public double compute(double x) { //
return x*x - c; //
}
protected void bound() { //
if (¢ < 0) { //
System.out.println("Error: ¢ (= " + c +

lower = upper = 0.0;
b
else if (c < 1.0) {

lower = c; wupper = 1.0;

}
else {
lower = 1.0; upper = c;
}
}
+
class CubicFunction3 extends Function3 { //
public CubicFunction3(double c) { //
super(c) ;
}
public double compute(double x) { //
return x*x*x - c; //

2000000

Doobooobooobooon
compute J U U

2000 (x"2-c¢) OOO
bound UJ UJ [J

ooooobon

" ) must be positive.");

googog
Dooboobooboon

compute [J [J [
3000 (x"3-c¢c) 00Od
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protected void bound() { // bound 0 O O
if (¢ > 0.0) // 00Q0oogn
if (¢ > 1.0) {
lower = 1.0; wupper = c;
}
else {
lower = c; upper = 1.0;
}
else
if (c < -1.0) {
lower = c; upper = -1.0;
}
else {
lower = -1.0; wupper = c;
}

0000000 (DO00) - Function. java
odoobbodoouobibibU Function U0 O 0OOO0O0O0O0OODOOOOOO
UO0O0UObOb0ODD Fhemod.java UL DO UODOOOOOOO

public abstract class Function { // 00000 Function
protected static final double EPS = 1.0e-14; // 00O 0O0OOOODO
protected double c, lower, upper; // 0000000000
public abstract double compute(double x);// OO DO OODO compute
protected abstract void bound(); // 000000 bound
public Function(double c) { // 0000000 -00 ¢

this.c = c;

}

public String description(double d) { // 00 f£@ 000000
return "f( " +d+ " )";
}
public double solve() { // 0000000000
bound () ;
while ((upper-lower) > Math.max(EPS, EPS*Math.abs(lower))) {
double mid = (lower+upper)/2.0; // 0000000000000
if (compute(mid) > 0.0)
upper = mid;
else
lower = mid;
}

return (lower+upper)/2.0;
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0000000 (00O0) - FDemo4. java
0000000000000000000 FunctionO0O0O0000200000000
00 SquareFunctiond30 000000000 CubicFunctiond OO (tanz) O OO
0000000 Tangent OO OO0O0O0OO0200000000 compute(x), bound()
000000000000000000000B0O

public class FDemo4 {
public static void main(String[] args) {
Function[] f = new Function[3];
f[0] = new SquareFunction(Double.parseDouble(args[0]));
f[1]
£[2]

for (int i = 0; i < 3; i++)

new CubicFunction(Double.parseDouble(args[0]));

new Tangent (Double.parseDouble(args[0]));

System.out.println(f[i] .description(f[i].solve()) + " =" + args[0]);
// 00000000 -004f[E]100 FunctionO0O0OO0O0O0OO
// 000000000000000000000000b000b00
// 00000000 description, compute, bound U0 O[O

class SquareFunction extends Function { // 2000000
public SquareFunction(double c) { // 00000000b0ooobo
super(c);
}
public String description(double d) { // description0 000000

return "( " +d + " )"2";

}
public double compute(double x) { // compute J 00O
return x*x - c; // 2000 (x"2 -c¢) OOO
}
protected void bound() { // bound 0 OO
if (c < 0) { // 0000000

System.out.println("Error: ¢ (= " + ¢ + " ) must be positive.");
lower = upper = 0.0;

}

else if (c < 1.0) {
lower = c; wupper = 1.0;

}

else {

lower = 1.0; upper = c;
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}

class CubicFunction extends Function {

public CubicFunction(double c) {

super(c) ;

b

public String description(double d) {

O00000O0Oooo (3)-00
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// 3000000
// 0000000000000

// description0 000000

return "( " +d + " )"3";

b

public double compute(double x) {

return X*x*xx - C;

b

protected void bound() {

if (c > 0.
if (c >
lower

}
else {

lower

else
if (c <

lower

else {

lower

class Tangent extends Function {

public Tangent(double c) {

super(c) ;

b

public String description(double d) {

// compute 0 O[O
// 3000 (x"3 -c¢c) 000

// bound O OO

0) // 0000ogn
1.0) {

=1.0; upper = c;

= c; upper = 1.0;

-1.0) {

= c; upper = -1.0;

= -1.0; wupper = c;

// 0000 (tan) OO0
// 00000000booog

// description0 000000

return "tan( " +d + " )";

b

public double compute(double x) {

return Math.tan(x) - c;

// compute 0 O[O
// 00 (tan x) OO0
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protected void bound() { // bound 0 OO

lower = - (Math.PI / 2.0) + EPS; // 0000000

upper = (Math.PI / 2.0) - EPS; // (-PI/2 + epsilon, PI/2 - epsilon)
}

233 O0OUOOOOOOOO0On

O0000000000000000 (application)d OO0O0O0OO0OO0OO0O0O0O0OOO
0000000000000 (00000000000 0)00oooooooood
gbogbgoboobobbobooboobd
JawvalOUODOOOOOODOOOOOODOOOOODbDOOobOooObOobDbOOoboooDOg
ggbbbuooobbooogbbbuoooobboooon

cal0101$ java OO ODOODOOON

gbobobobooboboobobooobobuobobobobood public O
goobboooobbbodd publicUd000000000 main00gononon
ERERE

00000 (applet)D OOOOOOO0O0DOODO
wwwioooooogooobooooboobboobooboobowwwogono
gboooboobooboobbooboobboobooboobboobon
gooobuoobuoobooboo
Uboooodbobgnappletbdb0oboboooobobooboobbbOonbn
goobbobbooodobfpuplicODOOOO0O0OO0ODODOO init, start,
stop, destroy, paintUUUOUOOUOOOOODODOON

APPLETO O (tag)D 00000000000 HTMLO O
WWWOOOOOOOOOOO0OO0O00O000000000000000 HTMLO
OWWWOOOOOOoOoooooo)

00000 APPLETOOO0O0OOO0O

<APPLET CODE="U O OUOOODOO" WIDTH=O OO O OO HEIGHT=UODOOOODOO>
</APPLET>

00000000000 (o000000on)

<APPLET [CODEBASE="O OO OOOOOOO URL"]
CODE="U O OOooooor
[ALT="00000000000000"]
WIDTH=0 0 OO0 0O0
HEIGHT=0 D0 O OO0
[ALIGN=0 00O O]
[HSPACE=0 00O 0O0O0OOO]



233. OJO0O0obOoOoOooOooboo 69

[VSPACE=O OO DODODOOOO]>
[<PARAM NAME="OOOOO™ VALUE="O O OO ">]
</APPLET>

0000000000 WWWOOOOOOAPPLETOOOOOO WWWOOO (HTML
0000)000oooooo0o0o0oooooooo(boooo)oooooo

000000000 (appletviewer)D DO000O00000000 (JavaODOOO)
0000000000000 00000000000 WWWOOO (HTMLOODDO)
UoboobooHTMLOODOOD APPLETOUOODODOO0DOOO0ODOOO0DOOO0
gogoooo

cal0101$ appletviewer WWW[I O O URLY

wwwiooooowwwiooooooooooooo
Safari 0 Mozilla OO O WWWOOOOOOODOOODOODOOOOO JavaOOO
ggbooogd
000000000000 ooOo0oooOSafari O WWWOOO (HTMLOOODO)O
gobboobobobuoobbooobbbUO0oUAPPLETODUOOODDOOOOO
0000000000000 oOD WwWwiOooooooooooooooooooo)

cal0101$ open WwwWw O OO URLY

init gooobuoobooobo
Ooooooboooooowwwioooooooooobooobobgooooog
gboooboobuoobooboobon

start goobooooobooo
Dooobooboooobwwwioooboogooooooooboooboooo
ggbbbuogodgbbbod

stop goboboooogboo
OoOoobooboooowwwioooooooboooboooboboooboooo
ggbobuogooboobod

destroy gobbooogoboo
Dooobuooboooobwwwioooboogooooobooboooboooo
gbogbuoobogooboobo

paint gooooo
U000 Component U OO OUOOOO0OODOO0OOOO0OOOO0OOOOOOOO
goooboooooon

000000 (graphics)D 0O O0OO0OOOOO
00 (graph) 0 0000000000000 0C0C0OOCOOOODO (DOODOODOOOOO
00)0000000000O0O00000Ooooooooo
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0000000 (pixe)J 000 (raster)d 000000000 10
000000000000000000000000000000000000000
0D0000000000000000000000(00)0000000 (raster) 0O
00000000000 NCGOO0000000000)000001024(0)x 768(0)
00000000000000
00000000000000 (0,0)0002000000y00000000

GraphicsUUUUO ODODOUOOOODODO
Graphics 000000000 DO(D0O0OOO)000O0OO0O0O0OODOOODOOOOO
gbogbgbodbobooobuabbobuoobobuodbobbudbUlApplet
U GraphicsUUDDOOUOOUOOOODOOOODOOOOOODODODOOOOODDOD

000 0000ooooowwwoOoO (OOOOOOODoOoOO) - HelloApplet.html
02000000 (HelloApplet.class) DO OOOOOO HTMLOOOOOOOOOO
U0 HelloApplet.classU U DO UOODOOOODOOOOOODOODOOODOO WWW
gbooboobobobowwwinoooogooboboobooo

<HTML>

<HEAD><TITLE> Hello Applet </TITLE></HEAD>

<BODY>

<H2>Source Code</H2>

<CODE><PRE>

import java.applet.x*;

import java.awt.*;

public class HelloApplet extends Applet {
public void paint(Graphics g) {

g.drawString("Hello Applet!!", 40, 100); // OOODOOO - OO (40,100)

}
}
</PRE></CODE>
<H2>Result</H2>
<APPLET CODE="HelloApplet" WIDTH=200 HEIGHT=200>
</APPLET>
</B0ODY>
</HTML>

oo obbbbbobobddodddd - HelloApplet. java
010 HTMLOOOOOOOO0DOO0bOOoOooooooobobooog

import java.applet.x*;

import java.awt.*;

public class HelloApplet extends Applet {
public void paint(Graphics g) {

g.drawString("Hello Applet!!", 40, 100); // 0OOODOOO - OO (40,100)
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by

000 0000oooowwwooOO (DOOOoOooono) - AppletLifeCycle.html

04000000 (AppletLifeCycle.class) 0000000 HTMLOOOO

<HTML>

<HEAD><TITLE> Applet Life Cycle </TITLE></HEAD>
<BODY>

<H2>Result</H2>

<APPLET CODE="AppletLifeCycle" WIDTH=600 HEIGHT=100>
</APPLET>

</BODY>

</HTML>

b bbboddgdn - AppletLifeCycle. java

goobobobobboobooboobboobd-b0b0o0moobod -000
goooodbd -0booobbdob -dgooobbooobboooboodgbn
gobooo

WwwioOoOoO (Safari) COOWWWOOOOOOOO(ODODOOO -00000O
0...0)000000 (b0o0ooo0o0o0oooooooo(oo)D)ooo WWwW
0000000000 (0 ~M -0)000000000000000000O000O0O

import java.applet.x*;
import java.awt.*;
public class AppletLifeCycle extends Applet {
private String str = "";
public void init() {
str += "init; ";
}
public void start() {
str += "start; ";
}
public void stop() {
str += "stop; ";
}
public void destroy() {
str += "destroy; ";
System.out.println("destroy");
}
public void paint(Graphics g) {
str += "p; ",
g.drawString(str, 10, 50);
}
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00000000000 WWWOOO (OOOOOoOoOO) - AppletInformation.html
06000000 (AppletInformation.class) 00000000 HTMLOOOO
PARAMO U UOOOOOUOUOOUOOoOobbbuoooog

<HTML>

<HEAD><TITLE> Applet Information </TITLE></HEAD>
<BODY>

<H2>Result</H2>

<APPLET CODE="AppletInformation" WIDTH=400 HEIGHT=300>
<PARAM NAME="Message" VALUE="Argument for mesg">
<PARAM NAME="Text" VALUE="Argument for text">
</APPLET>

</BODY>

</HTML>

oo obbbbOdd - AppletInformation. java
getParameter 00000000 WWWOOOOOOOOOODOOOOOODO (DOO
0000000000000 0D000)00 50 PARAMOODODODOOOO NAMEDDDO
gbooogbvVvALtEd D oOOoooogo

import java.applet.x*;
import java.awt.*;
public class AppletInformation extends Applet {
private int ptimes = 0;
public void paint(Graphics g) {
g.drawString("Message:" + getParameter("Message"), 10, 50);
g.drawString("Text: " + getParameter("Text"), 10, 100);
//wwODOoOoOoOOoooooobooboo
g.drawString("Foreground: " + getForeground(), 10, 150);
g.drawString("Background: " + getBackground(), 10, 200);
// 0000000000
g.drawString("Dimension: " + getSize(), 10, 250);
// 0oooo@ooo)ooo
showStatus("Paint times: " + (++ptimes));
// paint 0000000000000 (DODOOOO)

b x0000 - Crossline. java
00000000000000000 (20)00000000000000O0 getSize
goooboooboon

import java.applet.x*;

import java.awt.*;
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/*
<APPLET CODE="Crossline" WIDTH=300 HEIGHT=200>
</APPLET>
*/
public class Crossline extends Applet {
public void paint(Graphics g) {
Dimension d = getSize();
// 000002000000000 Dimension UOOODOODOODOODOO
// O00d.width 000 0Od.height
g.drawLine(0, 0, d.width-1, d.height-1);
g.drawLine (0, d.height-1, d.width-1, 0);

00 JavalDOOOOODOODOODOOODO PARAMOOODOODODOOODODOODOO
0000000000000 (HTMLODOOOODOOO)

cal0101$ appletviewer Crossline.javaf

oo obobn -Circle.java
00000000000 0D0O0O0000D000 (z,,y,) 000 r00000000OODOO

r=rcosf+z, y=rsinf+y, (0¢€[—mmn])

000000000 (000000 1280)000000000000 PARAMOOOO
UdbbDbO CornersUUUU0OOOOOOOOO0ODODOOO0OOODOOOOOODODO
gogbbobuoggdobvAaLved b booooaoboo

import java.applet.x*;
import java.awt.*;
/*
<APPLET CODE="Circle" WIDTH=300 HEIGHT=300>
<PARAM NAME="Corners" VALUE="128">
</APPLET>
*/
public class Circle extends Applet {
private int nc;
public void init() {
nc = Integer.parselnt(getParameter("Corners"));
// PARAMODOUODOODOODOOOOODOODOO
}
public void paint(Graphics g) {
Dimension d = getSize();
int radius; // 0000000000000000000  40%



74

O20 JavalOUO

if (d.width < d.height)

radius = (int)(d.width * 0.4);
else

radius = (int)(d.height * 0.4);
int 0ldX = radius + (d.width / 2);
int 0ldY = d.height / 2;

for (int i = 1; i <= nc; i++) {
double theta = 2.0 * Math.PI * i / nc;
int newX = (int) (radius * Math.cos(theta)) + (d.width / 2);
int newY = (int) (radius * Math.sin(theta)) + (d.height / 2);
g.drawLine(0ldX, oldY, newX, newY);
// (0ldX, oldY) OO (newX, newY) OOOODO

0ldX
oldY

newX;

nevwy,;

234 0O0OOOOO

0000000000 0000 (interactive; 00000000000 OO00DO)0O0O0O0O
ggbodbbuoogobbuoobbooobuooobbuoobboobbooobboob
ggbobobuoooobbboooooboboooobobbouooon

0000 (event)d (0000000 0000)0000

gogobobobbbdooogoooogoboboobbooooooooooon
gggbbobobbouoooooobbbobuooooobbobobouoooooobobon
goobobobbooooooooboobbdoooooboobbooooooooboobooon
0000000000000 000000000 (event driven) 000000000

0000000 (event source)]l DO 000000000 OOO

goo0ooOoO0000o0o0oU00o0o0oO0O00O0OOoOOoOoOoOOOOOO (oooo
0)0000000000000000000 Applet000000O0O0ODODOOOOO
000000000 Applet000000000O0O00O0O0O0 (DOODODOOOOOO
0)0o0oooooooo

O0D0O0O0O0O0OOEventlistener0 00000000000 DODOCODO (DODOOODODO)

000000000000000000000000000 EventListener(DO )00
0000000000000 EventLlistenerUOOOOOOOOOOOOODOOOOO
Applet U0 O OOO0OUOOOOOO Component U U O OOOONO addEventListener U
0000000 EventListener U0 0 OOODOOOOOOOJavall O EventListener
gooobooobuoobooboobo
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O0000000O0OOEventAdapter] DO 0O0O0O0OO0OOOO0OODODODO(ODDODO)
UUdddddddd EventListener U U U U UUOUOUOUUEventAdapterJ U
goboboooobbboobbioooobbbioooobDbOEventAdapter U U0
goooobooboobbooobuooboobbobobooboobbooobon
Applet U0 O ODOODODOODONO EventAdapter U DO DD ODOODOODOOODO
gboooboobooboobobobobooboobboobbooboobbon
gogon

odbobDbO0OMouseEvent DO DOUOOOOOOOOOOOODO
Jawa0O0ODODO0ODOOOOOODOOOOOOOOOOO(OOO)ODoODOOoOooOoOOO
gogbbboooobbboododbbibdd MouseEvent U DU U U0
MouseEvent U OO DOOOOONO

MouseEvent U U0 0OOOO EventListener/Adapter goooog
MOUSE_CLICKED 00000000 MouselListener/Adapter mouseClicked
MOUSE_ENTERED goooooo MouseListener/Adapter mouseEntered
MOUSE_EXITED goooooo MouseListener/Adapter mouseExited
MOUSE_PRESSED gobooood MouseListener/Adapter mousePressed
MOUSE_RELEASED 00000000 MouselListener/Adapter mouseReleased
MOUSE_DRAGGED 00000000 MouseMotionListener/Adapter mouseDragged
MOUSE_MOVED gooooon MouseMotionListener/Adapter mouseMoved

00 MouseEvent 0 000000000000 DOODOOOOOO (0O0O0)ODODOOO
oo bibibil getModifiersUU OO oooon
OO0 MouseEvent U U DD UUOOOODOODODDUOO0OODOOgetXUODOUOO getY
gboobooboobon

oo obbbbobbddoodgdudd - BackgroundApplet. java
Applet U0 O0OOOOOOOOOOOOO0ODOOOOODOOOODOO MouseEvent U
0ot Applet 00U UOUOUOOMO BackgroundApplet U [0 U U EventListener
U MouseAdapter J [0 U U U0 00 BAMouseAdapter U [ 10 U U U [0 MouseEvent U [
U [0 BAMouseAdapter U J U0 U [0 OmousePressed J J U U U 0 U mouseReleased [J [
Uibobodbdobdbdboddl BackgroundApplet U U U OO OOL mousePressed
U U 0 mouseReleased [J MouseEvent U [ J U U 0O U 0 U U BAMouseAdapter [J UJ U
U 00 BackroundApplet UL OO DO DUOUOOOOODDOOOO vaOODODODOOO

import java.applet.x*;

import java.awt.*;

import java.awt.event.x*;

/*
<APPLET CODE="BackgroundApplet" WIDTH=200 HEIGHT=200>
</APPLET>

*/

public class BackgroundApplet extends Applet {
public void init() {
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setBackground(Color.green); // ODUODOOOOO0O
addMouseListener (new BAMouseAdapter(this));
} // BAMouseAdapter U OO OO UOOD OO O MouseListener OO OO
protected void mousePressed(MouseEvent me) {
setBackground(Color.red) ; // 000000on
repaint () ; // 0000000 (updateO O 0O)
}
protected void mouseReleased(MouseEvent me) {
setBackground(Color.green); // ODUODOOOOO0O
repaint () ; // 0000000 (update O 0O)

}
class BAMouseAdapter extends MouseAdapter {
private BackgroundApplet ba; // O0O0O0OOOOO0O Applet
public BAMouseAdapter (BackgroundApplet ba) {
this.ba = ba; // ba(O OO Applet) OO OO
}
public void mousePressed(MouseEvent me) {
ba.mousePressed(me) ; // bal mousePressedd 00
}
public void mouseReleased(MouseEvent me) {
ba.mouseReleased(me) ; // bal mouseReleased [ 00

000 0000000000000 000 (0 0000000) - BackgroundAppletl. java

1000 ibibibbbUUMouseAdapter U U U U U UL MouseLinstener
O0o0o0oO0O0oOoOoOOoOOoOOOOOODOODOODOO(DOO 2300000000000
00)00000OBackgroundApplet 0000000000 DODOOOOOOOOOOOO
U 00 MouseListener [ [J [0 1 EventListener U U U OO DOUOOOOOODOOONO
goooboboobooboobbuoobuooboobobooboobobobobon
gbogbuoobooboboboboobooon

import java.applet.x*;
import java.awt.*;
import java.awt.event.x*;
/*
<APPLET CODE="BackgroundAppletl" WIDTH=200 HEIGHT=200>
</APPLET>
*/
public class BackgroundAppletl extends Applet implements MouselListener {
public void init() {
setBackground(Color.green); // O0DOODOOODOO



2.34.

gbooogag 7

addMouseListener (this) ; // 00000 MouseListenerJ OO OO
}
public void mousePressed(MouseEvent me) {

setBackground(Color.red) ; // 00000000

repaint () ; // 0000000 (updated O 0O)
}

public void mouseReleased(MouseEvent me) {
setBackground(Color.green); // ODUOOOOOO0O
repaint () ; // 0000000 (updateO O 0O)

}

public void mouseEntered(MouseEvent me) { }

public void mouseExited(MouseEvent me) { }

public void mouseClicked(MouseEvent me) { }

+ // 0000000000000b00b0o0oooog

oo obbbbobodddgddd - MarkerApplet. java

getModifiersUUUDOUUOOUOOODUOODDUOODOO0ODOO int0DUOOODOOO
goobbbobobouooooobobbbbouooooobobobbooooooboboon
00000000 Dgetx0D0O00O0O getYOUUODOOODDOOODOODOODODOOO
gogbbobooogoobobobbooooooobbobboooooooooon
goobbobobboooooobobbbbooooonoboboobbooooooboon
Urepaint 00000000 uwpdate0 00000000000 O0O0O0O0O0OO0OO0
gogbooogd

import java.applet.*;
import java.awt.*;
import java.awt.event.x*;
/*
<APPLET CODE="MarkerApplet" WIDTH=200 HEIGHT=200>
</APPLET>
*/
public class MarkerApplet extends Applet {
static final int SIZE = 10; // 0000000000000
public void init() {
addMouseListener (new MAMouseAdapter(this));
+ // MAMouseAdapter J MouseListener J U 00
protected void mousePressed(MouseEvent me) {
int modifiers = me.getModifiers(); // OO0 (modifiers) OO0
Graphics g = getGraphics(); // GraphicsO O[O
if ((modifiers & me.BUTTON3_MASK) != 0)
g.setColor(Color.blue); // 00030oO0)oooooooogo
// else if ((modifiers & me.BUTTON2_MASK) != 0)
// g.setColor(Color.green); // 00O 2(0000O)0MacOODOOODO
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O
else
g.setColor(Color.red); // 000 @OOoO0)obooooooooo
int x = me.getX(); // 00000 x00
int y = me.getY(); // 00000y0O0O
g.fillRect(x - (SIZE/2), y - (SIZE/2), SIZE, SIZE);
} // 0ooood
}
class MAMouseAdapter extends MouseAdapter {
private MarkerApplet ma; // 000000000 Applet
public MAMouseAdapter (MarkerApplet ma) {
this.ma = ma; // ma(O OO Applet) OO OO
}

public void mousePressed(MouseEvent me) {

ma.mousePressed(me) ; // ma mousePressed 0 0[O

oo bbboodbobDbOd - RubberbandApplet. java

MouseAdapter U U UJ 0 U0 MuoseMotionAdapter U O IO DO UOOOOOODOODOO
(DODOooO0U0U0U0DoOCoOO0OO0)DoODoOCoOoOOUOUODDODOOOOUOODOoDDoOoOOOoO
0000000000000O0O000 (D00DO0oboo)ooooo

import java.applet.x*;

import java.awt.*;

import java.awt.event.x*;

/*
<APPLET CODE="RubberbandApplet" WIDTH=200 HEIGHT=200>
</APPLET>

*/

public class RubberbandApplet extends Applet {
private int startX; // 0000000 x00
private int starty; // 00000odyQon

public void init() {
addMouseListener (new RAMouseAdapter(this));
addMouseMotionListener (new RAMouseMotionAdapter (this));

} // RAMouseAdapter [0 RAMouseMotionAdapter 0 00
protected void mousePressed(MouseEvent me) {
startX = me.getX(); // 00x00000 @O0O0O0O00)
startY = me.getY(); // 00yOOOOoOo@oooooo)
}

protected void mouseDragged (MouseEvent me) {
Graphics g = getGraphics(); // OO0 GraphicsUOODOODOODOODO
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update(g) ; // 00000
int x = me.getX(); // 0000000 x00
int y = me.getY(); // 0000000y0OO
g.drawLine(startX, startY, x, y); // 00000

}

+
class RAMouseAdapter extends MouseAdapter {

private RubberbandApplet ra; // O0O0O0OOOOODO Applet
public RAMouseAdapter (RubberbandApplet ra) {

this.ra = ra; // ra(00O0O Applet) DO OO
}
public void mousePressed(MouseEvent me) {
ra.mousePressed(me) ; // rall mousePressed ] 00
}

by

class RAMouseMotionAdapter extends MouseMotionAdapter {
private RubberbandApplet ra; // ODOUOOOOOOO Applet
public RAMouseMotionAdapter (RubberbandApplet ra) {

this.ra = ra; // ra(0 OO Applet) OO OO
}
public void mouseDragged(MouseEvent me) {

ra.mouseDragged (me) ; // ral mouseDragged 1 U [
}

00 douooobibibbO - DrawApplet. java
gbogbuooboobobobooboobooboobobbobobooboon

import java.applet.x*;
import java.awt.*;
import java.awt.event.*;
/%
<APPLET CODE="DrawApplet" WIDTH=200 HEIGHT=200>
</APPLET>
*/
public class DrawApplet extends Applet {
private int o0ldX; // 000000000 x00
private int oldY; // 000000000 yOO
public void init() {
addMouseListener (new DAMouseAdapter(this));
addMouseMotionListener (new DAMouseMotionAdapter (this));
} // DAMouseAdapter [J DAMouseMotionAdapter [0 [

protected void mousePressed(MouseEvent me) {
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0ldX = me.getX(); // 00 x00000@MO0OOo0Oo0ono)
0ldY = me.getYQ); // 00yOOODOO@QOODOOO)
}
protected void mouseDragged(MouseEvent me) {
int newX = me.getX(); // 0000000 x00
int newY = me.getY(); // 0000000 xO00
getGraphics() .drawLine (oldX, oldY, newX, newY); // OO OOO
0ldX = newX; // 00 x00000
0ldY = newY; // 00yDOOOOO
}
by
class DAMouseAdapter extends MouseAdapter {
private DrawApplet da; // 000000000 Applet
public DAMouseAdapter (DrawApplet da) {
this.da = da; // da(0O 00 Applet) OO OO
}
public void mousePressed(MouseEvent me) {
da.mousePressed(me) ; // dal mousePressed 0 0[O
}
+
class DAMouseMotionAdapter extends MouseMotionAdapter {
private DrawApplet da; // 000000000 Applet
public DAMouseMotionAdapter (DrawApplet da) {
this.da = da; // da(0 00 Applet) OO OO
}

public void mouseDragged(MouseEvent me) {

da.mouseDragged (me) ; // dal mouseDragged ] U [J
+

235 UOOOO0OOOO -0O0

JwaOOOODOOOOOOD 100000000000 ODOOOOOOO0OOOOD (0)OoOd
0010000000000 (extends0 0000000 O0D 10000000)0DOODODOO
0000000oDooo0o000ooooo0o000oooo0oO0 (Dooo 200000000
00000000000000000000000000000D000O0OoODO)DOoOO0O0O
gbooobooobuobobobbo200b0o0bo0obuoboboboboobooobooOgn Java
gogboobobooogbbobuoooobbbuoooobboooon

0000 (multiple inheritance)D 0000000000000
JavaODOUOODOOODOOO

0000000 (interface)D OO0 00000 ODOOODOO (DOOOOO)
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public, static, final O OO OOODOO public, abstract U OO OOON
oo0oooooooboooooobooooooooooooooobooooooon

0000000000 00000000 /0000000000 (D0DOO0UODOO0oUBDDOO
oooo0)ooooo
gobogbuoobobobobbobbooboobooobg

0000000000 interface OOOOOOOO {
O0o00oooo@oooo)oooo
Oo00oooooog

ggboboboooobbbbuoooobbboooobo
public 0000000 @OOO)O000000O

ggbobobuoooobbobboooobobbuoooobbbooobon

gooodo boobood b oog s

gogobobodooooobooon
gboogbdboudbddpublic, static, finalJUOUOODOOOOOO0OOOOO
ggbbboodgbbbod

gogbobobooooobbboooobboboogobboobooan

O0o0bo000 00O oooobo (coooo)

gogobobooogoobbobooooboon
gobboboooddbibbUdpublic, abstract U U UOO0OODOOOOOOOO
ggbobboooobbodao

ggboboboooobbobbooobbboogobobooan
gbuogbooobbobobboobbogbuoobbobouooboboobooboo
gbobobgoobboboboooboobbobbuooboboooboboobooo
gogbobobbooogoobbbboooooobbobouoooooboon
ggbbobuogogbbbuoooobbbuoooobobbooooboo
0000000 A BOOODODODODOXOODOOOODOODOOOO

class OO0 X implements OUOUOOOOOA, DOODOODDOB {3}

obbobbodddd extendsUUOUOUOUOODO implements O U U OODODOOONO
gobooobooobooboobboobbooobuoobooobooobobon
gboobouooboobgon

e 200000 DODOOO0OLOLODOUOOLODLDLDDODOUOOOODLDbDOOOO

e 20000 UUO0OODLDDOLOLDLOUOOOODLDDOLDLDOUOUOLOUOUOLDLbODD
gbobobooogon
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gogbobobooooboboboobooboboobbobbooboobobooboon
0000000 A, BOODOOOODOOOOOXOOOoOooooooooo

interface JOOOOOO X extends DOOOOOO A, DO00OO0OOOBA }

gogoobboobbobobbooooooobbobbuoooooooboboon
ggbbobuooobbbuooobbbooogboboboo

e 2010000 DODODOOUOOODLDOUOOUODLDLDDOUOOOODLOLDDULOODDD

e 200000 0IU0O0O0OUODLDLDDDOOUOUUOLOUDLDDLOLDLDDOUOLOUOUOUOLDDODD
gbobobooogooboobod

ggbbobuoooobbbooooboboboood

oo bobboodboboboooobO - Sortable. java
200000000 ((00000D)0000DOO00D0DODDOOO0O0OOOoOoOOO
gds21000005340000000000000000DO greaterThanl 0
0000000000000 00000000000000 (sort0000)000O0O
000000000000 0000000 (greaterThan D00 O0O0O0O0ODO)00O0O
ERERN
PrefectureJ [ double U O U U000 Osort UUOODOOOODN tmp U Prefecture
U0 doubleJUOODODOOOO
goboboobbobobooobbodbbuoobbboubibUdsoertablel 00
gooboooooooo

public interface Sortable {
boolean greaterThan(Sortable another);

by

oo obbbboodddoddd - SimpleSort. java
gobboDuoodobiDO sertableUOO0OODODOOOOO

public class SimpleSort {
public static void sort(Sortablel] s) { // SortableO0 O IO DOOOMN
for (int i = 0; i < s.length-1; i++) {
int min = 1i;
for (int j = i+l; j < s.length; j++)
if (s[min].greaterThan(s[j])) // greaterThanO OO OOO0O

min = j;

Sortable tmp = s[i]; s[i] = s[min]; s[min] = tmp;
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o0 Dbo0odobbooodbbDd - SortingTime. java
Uo0ddbO0O SortableJ DU DDODODO L Sortable.class, SimpleSort.class [
gbogoobooboobbobboobuoobbooboobooboboobon
gooooooboobgon

public class SortingTime implements Sortable {
private double value;
SortingTime(double value) {
this.value = value;
}
public boolean greaterThan(Sortable another) {
return this.value > ((SortingTime)another).value;
}
public static void main(Stringl[] args) {
final int TIMES = 10;
long t = 0;
SortingTime[] st = new SortingTime[Integer.parselnt(args[0])];
for (int i = 0; i < TIMES; i++) {
for (int j = 0; j < st.length; j++)
st[j] = new SortingTime(Math.random());
System.out.print("Start sorting #" + i + " ... ");
t -= System.currentTimeMillis();
SimpleSort.sort(st);
// BubbleSort.sort(st);
// QuickSort.sort(st);
// MergeSort.sort(st);
t += System.currentTimeMillis();
System.out.println("... finished.");
}
System.out.println("Average time for sorting " + st.length +
" elements: " + (t/TIMES) + " [msec]");

OO0 Prefecture U UOOUOOUOON - SortPrefecture. java
OO0 PrefectureU OO OOOO0OOO0OOO0O Sortabled OO0 OO OOSortable.class,
SimpleSort.class, Prefecture.classUUUODOOOOOO0OO0OOOU

public class SortPrefecture extends Prefecture implements Sortable {
public SortPrefecture(Prefecture p) {
super (p.name, p.area, p.male, p.female);
}
public boolean greaterThan(Sortable another) {

return this.area > ((SortPrefecture)another) .area;
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// return this.name.compareTo(((SortPrefecture)another).name) > 0;
// return this.popDensity() > ((SortPrefecture)another) .popDensity();
// 0000000000000 0000b00b0obobooooobogon
}
public static void main(Stringl[] args) {

Prefecture[] p = Prefecture.loadFile(args[0]);
// loadFile 0O OO0 Prefecture DUODOODOOOOODOOOODOO
// 000000000 SortPrefecture JUDOUODOOOOODOODOODO
SortPrefecture[] sp = new SortPrefecture[p.length];
for (int i = 0; i < sp.length; i++)

spli] = new SortPrefecture(p[il);
SimpleSort.sort(sp);
// BubbleSort.sort(sp);
// QuickSort.sort(sp);
// MergeSort.sort(sp);
// 0000000000b0b000b00boobobooboooooobDobn
System.out.println("Name \t\t Area \t\tPopulation \t Pop. Density");
for (int i = 0; i < sp.length; i++)

System.out.println(sp[i] .name() + " \t " + spli].area() + " \t " +

spli] .population() + " \t " + spl[i].popDensity());
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30 ogubootdd

3.1 nUO

n000n,0100(0)0000(000-0000000000)
10000000 009010000000000000000

200000000 102000000000DL0O0O0O0OO
O00OO0OO0OODOO0OO0OO ON/OFF (1/0)00000oooooooo 2000000
gogd

16000000 0090 AOFO 16000000000000000
16000 10020004000000000000000000020000 800
0(1000)0000000

3.1.1 nUO00OO 10000000

oo0ooong
AnA,y - AgAi Aoy = A, x 10" 4+ A,y x 107+ Ay x 107+ Ay x 101 + Ay x 10°

1=0

00 102400 = 1 x 10° + 0 x 10> + 2 x 10" + 4 x 10°

2000000
AnAn—l . 'A2A1A0(2) = An x 2" +An—1 X 2n—1 s —|—A2 X 22 +A1 X 21 +A0 X 20
=0
00 1011g=1x2°+0x224+1x2'+1x2° =114
6000000
ApAny- o AgAiAggy = A X 16" + Ay x 16771+ Ay x 167 + Ay x 16" + A x 16°

1=0

00 1B7ae =1 x 162+ 11 x 16" + 7 x 16° = 4391
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3.1.2 1000002000000

00oofd200000000000 (D00 Hoooo
HRN

25
12
6
3
1

0 -

N[NNI DN DN

=1 E=l

3.2 000 (bit)DOOO (byte)
000 /00o0ooooooo

gogbb1l1o0d =20001000000
nO0000 200 n00 (2"00)0000

00001000 =8000 (=22=26000000)
00000 (Kbyte)D 1,024000 =21000 (0 1,000000)
00000 (Mbyte)D 1,0240 0000 (O 1,0000 0000 = 1,000,000000)

000 (word)d DO DO (CPU)0 10000000000 (000 (CPU)0DOOONO)
001600000000320000000

3.3 Uoogoon

gogbbogoboogbbooboob 2000bbooobobooobooobooboboon
O0,000000002°00000000000000000080000000O 220016
00000002 00320000000 2200000

000000 (unsigned)D OO0 O0O000O0ODOO0OOOOOOOOO

n00000002'-10000000
00... 0 [~ [01.. .1 [ 10...0) | --- [ 11.. 13
0 N e S

2000000 000b0b0b0000bobon
0000000 10000000-1000002»'0000000000 (000
0000000oooooooooo2"00D0ooooooOoooon)

n0000 —2"'002'-10000000
10...0@) | - [ 11... 11 [ 00...0@) | -~ [ 01... 1y

—9on—1 -1 0 R A |
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100000000000000000000000000
n0000 —-2'+1002!'-10000000((000000000)
10...00) |-+ [11...12) [ 00...0@) | ---|01...1(
A e I I -0 0 R |

000000 (overflow) O0D0000000O0O0ODOOOOOOOOOOO
00000,0000000000 200000)002'-10100000000
O-2r-10000000

3.4 U0OOOO

ggbbbuodoogbobbuoogo20bbbdoodn

0000000 (D0000oo0)0 1000 (25600)
ggoooo 2000 (65536 0 0)

00 00000000 =2x00100000000 xn(ODOO)

ASCII(American Standard Code for Information Interchange) D000 00000
000000 0oo0oooooooon

JIS(Japan Industrial Standard) 0000 0000000000000 0O0O00O0O0O
00000000000 JISO0OD0OOSIIS(Shift JIS) O O 00 EUC(Extended UNIX
Code) 0 0 00 UTF-8(UCS Transformation Format) 000000000

ggbobobuooogoboboooooon
gg20b0000040o0b

1. nkf00000
000000000 JIS(H)OEUC(-)0SJIS(-s) 0000000
0000000000000000000000000000

cal0101$ nkf -j original > original.jisY (JISOOOOODOO)
> original.euc (rucOO0OOOOO)

cal0101$ nkf -s original > original.sjis{ (SJISOOOOOO0O)
>

original.utf q (UTF-80O0O0Oooono)

cal0101$ nkf -e original

cal0101$ nkf -w original

2. EmacsO0 0000000
EmacsO0O0OOOOOO0O [--17.: O 2000000000
O00O00O000O0O00ooooooooooo

C-x <enter> f - Coding system for visited file (default, nil): 7?77
)l

(ooooooo)
o0 »reed000000OO00ODOOOOOCOO
euc—japan : EUC , junet : JIS , sjis : SJIS
(Coboboboobooboobooboboboboboboooboobobon)
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3.4.1 JISOO (1000)000000

O O 4 O O O

0 1 2 3 4 5 6 7 8 9 A B C D E
O | NUL SOH STX ETX EOT ENQ ACK BEL BS HT LF VI FF CR SO
1 |DLE DC1 DC2 DC3 DC4 NAK SYN ETB CAN EM SUB ESC FS GS RS
2 ! " # $ yA & ? ( ) * + > -
3| O 1 2 3 4 5 6 7 8 9 : ; < = >
4 Q A B C D E F G H I J K L M
5| » @ R S T U V W X Y Z [ O 1 -~
6| ¢ a b c d e f g h i j k 1 m =n
7| p q r s t u v W X y oz { | } ~
8
9
A o O O 0 o 0O O 0 O 0 0 o 0O O
B| - O O O O O O O O O O O o O O
c| O O O O O O O O O O O 0 o O O
D| O O O O O O O O O O O O o 0O O
E
F

JIsOO00 (1ed)HO 21 37 4A 63 Bl DE
JIsodno (1odHhd 33 55 74 99 177 222
g o 0 ! 7 J c U U

N O I B |
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40 Oooduootdd

ggbobogbugobbubbooobbuoooboobbooobbooobboob
000000000000 0000000O000000000D0DO0D00OOOODOOO (OO
00)0000000000200 (00000)00000000OOOOOOOODOOOO
ggboboboogoboogad

4.1 0OO0O0OO

00000000000000000 f(r)=00000000000f(e) 0 f(b)ODOO
00000000 [0, 00000000000 4100000000000 b0000
0000 m=(e+0)/20000 f(m)0ODDD0OO0O0OD0O0OOOO0OO0OOOOOODOOOO

[a,m] 000 [m,b) 0000000000000 000000000000000000
00000000000000000000000000000000000000000
00000000000 (b—a<e)0000000000000000000000000
0000000000000 (6,4 (fla)0 f(b)0000000 2000 ¢,b)000000

gboooboogoo
00000000000 22-~1=000 - Bisect.java

public class Bisect {
static double funct(double x) {
return x*x*x - 1.0;
}
public static void main(String[] args) {
final double EPS = 1.0e-13;
double a = Double.parseDouble(args[0]);
double b = Double.parseDouble(args([1]);
double fa = funct(a);
double fb = funct(b);
if (faxfb >= 0.0) {
System.out.println("Bad numbers result in the same sign:");
System.out.print(" funct(" +a + ") =" + fa + ", ");
System.out.println("funct(" + b + ") =" + fb);
}
else { // 000 while 000000000
while ( ) {
double m =
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(%) (%)

>

f(b)
. >

| M *
f(a),/

U41: 00000000

f(a)

f(x)4 fx) = (X }(x- xJ + f(x )

L >

// X

042 000000000

double fm = [:::::::]

// 00100000000000000
System.out.println("funct(" + m + ") =" + fm);
if (fa*xfm > 0.0) {
[J= m; [:}= fm;
}
else {
[}= m; [:}= fm;
}
}

System.out.println("The answer is " + ((a+b)/2.0));

f(xc)

}
}
}
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4.2 0OJOOOOO

00 f(z)0 100000000000000000000000000000000000
0 f(z) =0 0000000000000 4200002=2,00000000 f(2,)00
000 f(z) =24 00000000000000002=2,0000 f(z) 01000
fu(x) OO

fe(x) = () (@ — wc) + f(2e)
000000000 10000 f(e)=00000

~ flze)
C fx)

0000000000000« 00000000000 f(zx)=000000000000
OO0#z.0 f.(x)=000000000000000 (z—2/<e)000000000000
00000000000000000000000000000000000000000
D0000000000000000000 (first guess) 000000000000000
0000000000

r =X

000000000000 22—~1=000 - Newton. java *

public class Newton {
static double funct(double x) {
return x*x*x - 1.0;
}
static double deriv(double x) {
return 3.0*x*x;
}
public static void main(String[] args) {
final double EPS = 1.0e-13;
double x = Double.parseDouble(args[0]);
double xc;
do { // 00O do ODOOODODOOOODO
xc = []
double f
double d
// 00100000000000000
System.out.println("funct(" + xc + ") =" + £);
} while (Math.abs| )

System.out.println("The answer is " + x);

*Math.abs(x) 0020000 |z|0000000O00O0OO
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4.3 000DOO0ODOO(DODOODOOO)

gobbogboboodbuooobuogboooogbbooobooobbooobboon
ggbobobuooogbbbuoooobbbuoobobboooon

gdob gobbobuoooobobbooooboon
ggbbobuooobbbooooboo

IEEE 754 O 0O0O0OOO0OOOO (DD)
Ogooooooooooobooooooooo0oo0oooooooononon
(—1)8<2>1.d1d2"'dm(2) X 2d'1d’2-~~d’c(2)—b (S,di,d{ € {0,1})

(2

S(Q)DDDDl.d1d2~~~dm(2)DDDDd’ld’2~~d’C(2)—bDDDDDDDDD booogno
ggbobobogogbboboooobbobuooooboboo
200000000000064000000000000000

0oOgd oogd 0oOgd m | c b

000 (32000) | 00000 | 0108000 gogs31gog 23] 8| 127

000 (4000) 00000 (01011000 |0 12063000 |52 (111023

4.4 0O0OOO

0.1p 000000000
0.1y =274 +27°+278 4+ 279 + ... = 0.000110011 - - -9y x 2° = 1.10011 - - -9y x 27

0000000000000000000000(1000000 1/30 1/70000000
ooooo)

gbooob boo 2300000008000
ooooodddgl1.o...0 =100 1.1...1(2):2—2_2322—1.2><10_7DDDD
goobd240p0o0boboobooobobrbobobobobobooooon
g
gogdggobobbbobbtbouoooooobb oo l1bboboooooooooboon
[0 [ [ 200000001(5) =127 _ 9126 ~, ] 9 5 1(~38 [J [ 21111110 —~127 _ 9127 ~ 1 7 % 1038 [ [
000000000000 20000000000000 2% ~34x3¥0000

00000 00050000000 11000
00000000010...0p=10011...1p=2-2"2~2-22x10"0000
0000053000 (10000 16000)000000000000020-0%e1028 —
271022 v 9 2 % 107308 0 [ 21102 ~1028 — 21023 ~ 90 x 1037 00000000000
21024 ~ 17 % 380000

ggobo010000000 -PointOne. java

public class PointOne {

public static void main(String[] args) {
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float f 0.1f; // 0.1f 0 floeatOO 0.1 OOOOO
double d = 0.1;

System.out.println("f \t\t = " + £f);
System.out.println("d \t\t = " + d);
System.out.println("f*1.0e9 \t = " + (£%1.0e9));
System.out.println("d*1.0e9 \t = " + (d*1.0e9));
System.out.println("(f-d)*1.0e18 \t = " + ((f-d)*1.0e18));
System.out.println("(£f-0.1)*1.0e18 \t = " + ((£-0.1)%1.0e18));
System.out.println("(£f-0.1f)*1.0e18 = " + ((£-0.1f)*1.0e18));
}
by
4.5 00O

gobboobboogooobbuooobbooboboobooobbooobboon
ggboodgd

ggobobh gbobooogboobod
ggbobobooogbbboooobobbooogooo

oo obbbbO0OnO - Derivative. java

O000ooo (jf(x):hmf(x‘i‘e)_f(x)

X e—0 €
gooog

)OOOOOOeps— 000000000

public class Derivative {
static float funct(float x) {
return x*x/2.0f;
}
public static void main(String[] args) {
final float X = 1.0f;
float eps = 0.1f;
for (int i = 0; i < 10; i++) {
System.out.println("eps = " + eps + ",\t £°(" + X + ") =" +
((funct (X+eps)-funct (X)) /eps));
eps *= 0.1f;

4.6 UOOOO

gobob gobbobuoooobbobooooboo
gogobbobobbouoooooobbbbuooooobobobbboooooobobon
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ggboboboooobbobooooboboboab

o 1000 - Partition. java

public class Partition {
public static void main(String[] args) {
int n = 1;
for (int i = 0; i < 10; i++) {
float sum = 0.0f;
float d = 1.0f / n;
for (int j = 0; j < n; j++)

sum += d;
System.out.println("n = " + n + "\t d ="+ d);
System.out.println(" sum = " + sum);
n *x= 10;

4.7 4OQ0O0O4gg

gobobodobboodgbbdoobobooobbobbooobbooobooobbob
O000e* (zreR)OODOOODOOOODOOOODOOOODOOOOOOOODOODO

2

Syl z
i=0 :

gooooooOoOOOOOCOOOOOO0O0O0O0O0U0O0U0U0DD (nO)ODOooooooooo
gooooo

n 7
= T

e = -
=
goodoooooooooooooouoooogoon

:L.n—l-l

(n+1)!

gogbbbuoodbez=10000000000e0000000O0DO0OO0O0OODOOOO
good

0000000 (0D00000) - Exponent. java

public class Exponent {
public static void main(String[] args) {
double x = Double.parseDouble(args[0]);
double xi = 1.0, fi = 1.0, ex = 1.0;

fMath.exp(x) D0 e* 0000000000
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System.out.println("From Math -> " + Math.exp(x));
System.out.println(" i \t Ans. \t\t\t Err. \t\t\t Est.");
for (int i = 1; i <= 20; i++) {

X1l *= X;

fi *= 1;

ex += xi/fi;

System.out.println(" " + i + "\t" + ex + "\t" + (Math.exp(x)-ex) +

"\t" + ((xi*xx)/(fix(i+1))));

4.8 UOOOOOO

goouooobbbbbiboddoooouooouuooobooobbobbbooooobn
gogd

/ sinzdr = [—cosx]) = 2
0

ggbbbugobobbuooobbbuoooobbboooobbooogbbbooooon

4.8.1 0000

0000000 (piecewise linear) 00 000000000000 000000000 Az
gboobuoobooboboboboobooo

n—1

[ty ~ Z;{f(x8+iAm)+f(a:s+(i+1)Ax)}Ax
Ts i=0
= M{f(xS)—;—f(xe)+7§:1f<l’5+ZALU)}
_— =1
DDDDAIZ%;%DDDD

000 [ sinzde OOO*

public class Trapezoid {
static float funct(float x) {
return (float) (Math.sin((double)x));
}
public static void main(String[] args) {
final float xs = 0.0f;
final float xe = (float)Math.PI;
int n = 10;
for (int j = 1; j < 9; j++) {

Math.sin(x) O0sinz 0000000000
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f(X)Ak

0 43: 00000000000

f(X) A

044 0000000000000OD0

// 000 5 000b0boooooogn

float dx =

float sum =’

for (int 1 = 1; i < n; i++)

sum += ’ ‘

sun *= ||

System.out.println("n = " + n + ", result = " + sum);

n *= 10;

4.8.2 0O0O0O0OO0O0O
000200000000000000(0000)000D0 100 (Ax)DDODOO

@)+ flo 4 A)) A
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0000020000000100 Ax)0000O

@) +4f @+ A0) + f(a+280)} A

Te — Ty

gi1goobogooobboooon

00000000 Ax =
n

nf ;1; {f(2s + 2iAz) + 4f (x5 + (20 + 1)Az) + f(2s + (20 + 2)An)} Ax

=0

- Z {fus) A (o + Ba) + fla) + 3 (25 + 2000) + 41 (o, + <2i+1>m>>}

i=1

Q

/: f(z)dz

gogo
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s oootbdbod

0000000000000 00000000D000000 (search) DOOODOOOOOO
00000000000000000 (sort)D 00000000000 DODOOODODOOOO
gooooobgooboobobooboobuooboboobobobooooboboo
gbogbuoobuoobobbobboobooobg

OO00000Java2 SDK 1400000000000000O ArraysO 00O OO Comparablel
Comparator U OO UOOO0OODOOON

5.1 OO0

000 (search)0 OO0O0OD0OOOOO0O0O0O0DODOOODOOOOOOO
00o00o00oooo(booooooooo)ooo

00 (key)D 0000D0DO00000000O
00000 (linear search)] n 0000000000 O(r) 0000000

0000000 (binary search)0 n0 000000000 O(logn) D0O0OO0OOO
ggboobobuooogbbboooobobobuoogbobboooobooboboood

gobbobbuogboboooobbuooobboobboobbooobbooobboon
ggboodgd

5.1.1 0OO0OOOO

oo plilJ] D000O0ODOO0DOODOOODDOODOOODOODO0ODLOO0
0000000000 «0000000000 R/200000000000000000n
000 (order) 000 00,000000000000000O00O0OO0OOOOO(n)O0OOO

OO0 00000 - LinearSearchl. java
22000000000 0bO0bO0obO0obDOobDOobDobDobDobDobDobDobobobog
00 (Prefecture.class) 000000000000 OOOOO
Oo0ooooooog CFIVEO Japan.dat DO OO

public class LinearSearchl {
public static void main(String[] args) {
Prefecture[] p = Prefecture.loadFile(args[0]);
Prefecture cp = search(p, args([1]);
if (cp '= null)
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cp.print(p);
else
System.out.println("Invalid name -> " + args([1]);
}
static Prefecture search(Prefecture[] p, String str) {
for (int i = 0; i < p.length; i++)
if (str.equals(p[i].name())) return plil;
// if (p[n] .name().equals(str)) return pl[i]l; OOOO

return null;

}
+
good»>
cal0101$ java LinearSearchl Japan.dat Tokyo
Tokyo:
Area = 2102.14 [km"2]
Pop. = 11639000 (5795000 (m)/5844000(f)) [persons]
Dens. = 5536.738751938501 [persons/km~2]
Area Rank = 45, Area Ratio = 0.005730467501676294
Pop. Rank =1, Pop. Ratio = 0.09292466387762272

Pop. Density Rank = 1

5.1.2 0JU0Oooon

0000000000000000000000 (000000000000000000
000000000)000000000000000000000000000
000000000000 -00000000100000000000000 »/20000
00000000000 lg,r000000000000000000000000000
0000000000000000 O(logn)000 (0000000000 log000 20
00)0

1. 000 lowerUUO U upper U U OO0 lower Jupper U OO OO OOOOOONO
Ub0dbUOOlowerJupper 000 2000000000000 0O000O00O0O0OO

2. 0000000000000 midd1leJ0000O0O0O0O0O0O0ODOOO0O0OO

(a) middle 0000000000000 O0O00000
(b) middle 000000000000 lover 0 middle 000 (000000)00
(c) middle 000000000000 Omiddled upper 000 (000O000)O0

0000000000 (0D00) - BinarySearchl. java
2290 000000000000000D00DOOOOOOOOODOODOO
O00O0O0oOooOgn CFIVE O SortedJapan.dat OO OO
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public class BinarySearchl {
public static void main(Stringl[] args) {
Prefecture[] p = Prefecture.loadFile(args[0]);
Prefecture cp = search(p, args([1]);
if (cp '= null)
cp.print(p);
else
System.out.println("Invalid name -> " + args[1]);
}
static Prefecture search(Prefecture[] p, String str) {
return bsearch(p, str, -1, p.length);
// 00 lower OO0 O wpper 000000001 000000000
}
static Prefecture bsearch(Prefecture[] p, String str, int lower, int upper) {
if ((upper - lower) < 2)
return null;
else {
int middle = (lower + upper) / 2;
int diff = str.compareTo(p[middle] .name());
if (diff == 0) return p[middle];
else if (diff < 0) return bsearch(p, str, lower, middle);

else return bsearch(p, str, middle, upper);

gobood»>
cal0101$ java LinearSearchl SortedJapan.dat Tokyo
Tokyo:

2102.14 [km"2]

11639000 (5795000(m)/5844000(f)) [persons]

Dens. = 5536.738751938501 [persons/km~2]

Area Rank = 45, Area Ratio = 0.005730467501676294
Pop. Rank =1, Pop. Ratio = 0.09292466387762272
Pop. Density Rank = 1

Area

Pop.

5.2 0O 00O

000 (sort)D OO0OODO0OOOOODOO
0000000000 (Cooooooooo0)ooo

00000000000000O0O(M)0DO0O0oooo
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gsbd Ougaoon

O00000000000000 O(nlogn) DODODODOOO

ggbobobuoooobboooobobuoooobbooooboboboooobn

5.2.1

Joog

[

U0 plil] D0000D0OOOOOODOODOODOOOOOODOD

gogobobbooooobooogoo

1. 0000 (pl0)) 000000 (pl110plp.legnth-11) 00000 0p0I 00000
00000000000000000000000 plol00000

2. 00 p[11 000000 (pl210plp.legnth-11)0 000000000000 pl1] 0
oooQ

3.000p[il000000 (pli+1]0plp.legnth-11)0 0000000000000

OO0 plilOOOOO

= p.legnth-200000000000000000 plp.legnth-11000000

4. i
(0oooo)
oooooo
4 4 4 4 4 4
6 6 6 6 6 6
1112 2 2
333 3 3 3
5 55 5 5 5
2 2 2 1 1 1

= O N O

4

— N Ot Ww O

4

— N Ot W D

— NN Ot W O

(0OooU0O0U0U0OooOoUoUoOoooDoooooog)

4 4
6 6
5 5
3 3
2 2
1 1

000000000 (00000000 (00)000) - SimpleSortl.java
0000000 (0000000000000)00220000000000000
000000000000000000
000000000 CFIVE O Japan.dat 0000

public class SimpleSortl {

public static void main(String[] args) {

}

Prefecture[] p = Prefecture.loadFile(args[0]);

sort(p);

System.out.println("Name \t\t Area \t\tPopulation \t Pop. Density");
0; i < p.length; i++)

for (int i

System.out.println(p[i] .name() + "

\t " + pl[i]l.area() + " \t " +
pli] .population() + " \t " + p[i].popDensity());

static boolean greaterThan(Prefecture p0O, Prefecture pl) {

}

return pO.area() > pl.area();
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static void sort(Prefecture[] p) {
for (int i = 0; i < p.length-1; i++)
for (int j = i+l; j < p.length; j++)
if (greaterThan(p[il, p[j1)) {
Prefecture tmp = pl[i]l; plil = p[jl; plj] = twmp;
+

ggooboo
0000 (0000000)00000000O00O0O000D0ooOOODODOO0oOOO
ggbobobuoogboboobod

allb0O0O0On
X a=Db; b=a; // a,b00000v00000O
O tmp = a; a ="b; b= tmp;

000 000ooo(oooooooooon)
0000o0d0ooooooooo0oU0oUooDo0 (DO0)oooooooood

/¥ O000000 greaterThan DO DOODOOOO %/
static boolean greaterThan(Prefecture p0O, Prefecture pl) {

return pO.name().compareTo(pl.name()) > 0;

}

ggbobbboogbboboooobobobdao
00000000 (00min) 00000000000 OOODODODOOO

/ O000000 sort DODOODOOO %/
static void sort(Prefecture[] p) {
for (int i = 0; i < p.length-1; i++) {
int min = i;
for (int j = i+l; j < p.length; j++)
if (greaterThan(p[min], p[j])) min = j;
Prefecture tmp = p[i]; pli]l = plmin]; plmin] = tmp;
}

5.2.2 000000

O000000O00p(j10p+11 000000000000

1. 00pl0l000000000000 plp.length-21000000000p[j1000
000000 p[j+1100000000000000000000000O0000O0
000000000000 plp.length-11000000
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2. 00pl0J]O0D00O0ODODOO plp.1length-3] D0 O0DO0O0OOOOODOOOODOOO
000 plp.length-2] OO OO0

. 00000 plol00pli1l00000DO0OO0OODOODOOODOOOD plilODO
goon

4.1 =10000000000000000COC0OOpl[0JO0OODODOO (DOODODO)

000000 (DoooooooOO0opDoOoooOoOoooooon)
4 4 4 4 4 6 6 6 6 6 6 6
6 6 6 6 6 4 4 4 4 5 5 5
111 58 5 5 5 5 5 4 4 4
33 51 1 113 3 3 3 3
5 5 3 3 3 3 3 111 2 2
2 2 2 2 2 2 2 2 2 2 11

gobobbobodgo

/* 0000000 sort JOOOODODOO %/
static void sort(Prefecture[] p) {
for (int i=| [ i>[] i)
for (int j =1 |; j
if (greaterThan(p[jl, pl[j+11)) {
Prefecture tmp = p[jl; plj]l = ’

|

L]
—

AN
L]
.

+

+

~

LS

5.3 UOUuooubooubood

0000000000000 0O2000000000000O000OOOOO((@EO)ORIOO
ggbbbuoooobboogog2bbgogbbbuoooobboooobobbuooob
000000000000 100000000000000 (200100000)000OO
O00000O0O000DO0O0DOO0OO0ODOOO0O0O0bODoODbOOd logn!=nlognODOO00OO
goon

0000000000000 0oO000oOoOo0o0oOoDOoOOO0O0(oooo)ooo
0000000000000 0O00l000000D0UUOOOOOODOOOg 1kit)jOoO
0000000000000 000000000000 nO0000O0O0logn! &~ nlogn [bit] O
O00000000000000000000000000 O(nlogn) 0000

5.3.1 UOOOOO

00000000000000000000000000000000000000000C0
0000000000000000-00000000000n(r—1)/200000000
00 (order) 00000n0 20 (»)000000000000000 O@2)O000
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gogbboogobuodnbbboobbboobobbooobboobbooo1bboon
0000000000000 oooooooooo0o000ooO0O00ggdologn)OO
gogbboobbotobnbodobbooboodgbbuooobboobbooobbob
O00000000000000 O(nlogn) 0000000000000 OOOOOODODOO
gogbobobooodgbboboooobobobooouobbboooon
gboboobooobobooboboobobobooboboobooobobon
2r—-100000000000000000000000000001000000004
0000000000000 UoUoooUoooUU 10DoODo0ooO0ODDoDoOO0O0OO R/2000
0000000,00000000000000000000000000 O(*)0O0O0OO0
ERERE

5.3.2 UUOOOOO

ggbbooobbobdoooobbobooobbooobbbuoobbboooobooon
gobbbooodobbbtoododbibgesertddbbbuoooobbbgn

ggbbbuoooobbbooooobbbuoooobbod

o000000 00000000000 0DO00DOO0DOOODOODODOODO0O®
000 (0DoooO0)OoDoOoUoOooDooOO@E LOOOoDOoDoooOOooOooDooOoood
0000000000000 0000000000 000000000OR/20000
gogobobobobooooooobbobboooooooboboooooooooon
(DODODDDODD)0O0O0O 0000000000000 z0./2000000000
gbg200000b00200000000000OO0DOO0OOO0ODOODIODOOO0
x0000000000000000 1200000000 z0logn00O0O0O00O0O
0000000000D00o0ooooOoOoDoO O(mlegn)0000OO0ODODOOODOOOO
OO00D0O00eUOO00DO0 0000000

ooooin gsortld lower U uwpper OO OOU

1. 00002000 (lower < wpper) JO0OODOOODOO

2. 00000000 (Qower+upper)/200 pnO0 000000000 0OOOODOO
000000 (0000 i0j)0pmd0000000000pmOO0O0OOOO0O
oboboobooboobobooboobobbobooboboobon
O000i<=jObO0O0000O0O00O0O00bOboOo0obOnO j<i(@oOoo
OO0 j=i-0)00000001owerd jO0 pmO0 00000010 upper 0O
pm0 0000000000 0O00O0O00O0

3. lower j U ilupper DU UOUOUOOOO gsort U0 OUOUOOOODOOOOMO
gooooboooogon

/¥ O000000 sort U gsort DUODODOOOOO =/
static void sort(Prefecture[] p) {
gsort(p, 0, p.length-1);
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static void gsort(Prefecture[] p, int lower, int upper) {
if ( b {

Prefecture pm = ’

int 1 lower;
upper;
while (i <= j) {

while (greaterThan(pm, p[i])) i++;

int j

while (greaterThan(p[jl, pm)) j-—;

if (i <= 3j) {
Prefecture tmp = pl[il; plil = pl[jl; plj]l = tmp;
it+; j——;

}

gsort(p, lower, j);

gsore(____ ]

5.3.3 UULOOOO

2000000000000000000000O0 2000000 1000000 ((LODOO
0)000002000000000msortdmerge000000000

0000000 msortl lower OO uwpper DO OO OOOO0O

1. 0000 20 (lowerdmiddle 0 middle+10upper) 000000000 2000
OO000O0Omsort 0000000000000

2.0000000merge 002000000 1000000000000 0O
00100 (lower-100)0 0000000 DUIMMYOOOOO

000D 0O0Omergell UO0DOUO0O0OOO 1lowd O lupUO 00 rlowU 0 rupO0 000400
Ubobooboooboodbioddl headU posUUDDOUODOOODOUNO pos+1 U000
gogoboo

1. 0000000000 (Qlow<=lupO OO rlow<=rup) 000 (D O0O0OOCOOO
O0000000000)0000000000000OO0 (D00oOoOOoooooo
O000)0D0O00000000 pes+1 000000000 ODOODODO merge
gobobodo

2. 00000000 headd pos0 00000000 Opos<1low(0 000 pos==1low-1)
O000OOposO00000 headJ D DODOODOOOO (OO pos==lower-10
O0000puMMYOODOOOOO0DO0O0O0O0OO0OO0OO0OO0)O

gogbobbobodo
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/¥ 0000000 sort O msortlmerge DODOODOODO */
static void sort(Prefecture[] p) {
msort(p, O, p.length-1);
}
static void msort(Prefecture[] p, int lower, int upper) {
final Prefecture DUMMY = null;
int middle = (lower+upper)/2;
if (middle > lower) msort(p, lower, middle);
if (upper > middle+1) msort(p, middle+l, upper);
merge (p, DUMMY, lower-1, lower, middle, middle+1, upper);
}
static void merge(Prefecture[] p, Prefecture head, int pos,
int 1llow, int lup, int rlow, int rup) {
if ((Qup >= 1low) || (rup >= rlow)) {
if (lup < 1llow)
merge(p, plrlow], pos+l, llow, lup, rlow+l, rup);
else if (rup < rlow)
merge(p, plllow], pos+l, llow+l, lup, rlow, rup);
else if (greaterThan(p[llow], pl[rlow]))
merge(p, plrlow], pos+l, llow, lup, rlow+l, rup);
else
merge(p, pl[llow], pos+l, llow+l, lup, rlow, rup);
}
if (pos >

llow)
head;

p[pos]

googoooboobooboboooboobuoobboobobooboobboDbbon
gooooOoOoDODODOOD (DOOOOOOO0OO0OOO0OODOOOODOOOOOOOODO
O00000O0) D000 UNIXODOOD 40231 00000000000 OO0OO0O
U0 UException in thread "main" java.lang.StackOverflowError U U D ID
gboobooobooboobobooboobbooboobooboobbon
000000000o0o0O00000oooooOO(0D0)oooooooooooOoO
gboooboobobobooobooboboboobobooboboobobooon
U00DbO0b00b0bO0ODbDO 14336 KByte DO O ODOOOOO0OOOOO0OOOOOOO
UopDoobobooobuooobbywinit 000D O0O0OO0DOJava OO OO Java
UbobobooobOd-Xss1i433600 000000 0OO0OOODODOOODOOOOO
8192 KByte U0 DO UO0ODOODDOODOOOODOODOOODOODbDOODOODbDOOO

cal0101$ ulimit -s 143369
cal0101$ java -Xss14336 TimeMerge 45000
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5.3.4 UUOOOO

OO000dowbleJO0O0OOOO0ODOOODODOOODOOODDOOOOOODOODOOODO
ooooooo

0000000000000 00000O000D00O000O0Math.randO O O0O0OO0OO
oboooooooboboooboTiMEsS=1o0 0000 bOOoooooooooobobooon
System.currentTimeMillis(O OO O ODOO19700 10 10000000 msecOODOODO
(19700 10 10000 msecO )0 OO0

000000000 (5.210000)000 - TimeSimple3. java
Ubbodbodgibbdd Prefecture U U UOOdoubleU DO OUOOOOOOOU

public class TimeSimple3 {
public static void main(Stringl[] args) {

final int TIMES = 10; // 0000
long t = 0; // 0000
double[] p = new double[Integer.parselnt(args[0])];

// 00000oogo
for (int i 0; i < TIMES; i++) {
for (int j = 0; j < p.length; j++) // 0O0OO0OOOOO
plj] = Math.random();

System.out.print("Start sorting #" + i + " ... ");
t -= System.currentTimeMillis(); // 0000000
sort(p);

t += System.currentTimeMillis(); // 0000000
System.out.println("... finished.");

}
System.out.println("Average time for sorting " + p.length +
" elements: " + (t/TIMES) + " [msec]");
}
static boolean greaterThan(double pO, double pl) {
return pO > pi;
}
static void sort(double[] p) {
for (int i = 0; i < p.length-1; i++) {
int min = i;
for (int j = i+l; j < p.length; j++)
if (greaterThan(p[min], p[jl))
min = j;
double tmp = pl[i];
pli] = plmin];
plmin] = tmp;
}
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0 OA JavalUOOOOOOO

JawvalOUODOOOODOOODOOOODOOOOOOOOOODOOOOOOOO0obOobOoDg
gboboobobooooboboooboobooboobooobooboboobobg

0000000 http://java.sun.com/j2se/1.4/ja/docs/ja/api/index.html

goooboboboobobodobo imoboobobooboobooboboobooboboooo

Al O0O0ODOOOOOOO

ggbobbuooogbbbuoooobbbuoooobo

A.1.1 System [ [

goboboobobooobboobboobboooboboobobooboboooboon
ggobobuooooboooodn

bbbl java.lang
Uooobouobool import 0O OO0DOO

err O000000000ooooD (oooono)

public static final PrintStream err

in 000000000 (boooo)

public static final InputStream in

out 000000000 (Doooo)

public static final PrintStream out
<go>
System.out.println(i);

currentTimeMillis 0000 (Dopooooo)
19700 10 10000000 msec OO OO

public static long currentTimeMillis()
<0 o>

long t = System.currentTimeMillis();
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exit 0000 (0000000)
00000000000000000

public static void exit(int status)
<0 0>
System.exit(i);

A.1.2 InputStreamU O

000000000000 (o000 000ooooooooooO)O
oo java.io

import java.io.*;

close 00000000 (D0ooooooon)

public void close() throws IOException

read 0000 (DODooooooon)
O00000oboOob 1ByteDODOOOODOO int00O0O0

public abstract int read() throws IOException

A.1.3 InputStreamReader [] [ []

00000000000 (000000000000 0)0Reader000000 (0DDO)00OO
gool1bbooooobobooon

oo java.io
import java.io.*;
InputStreamReader gooooon

public InputStreamReader (InputStream in)

close 00000000 (boooooooono)

public void close() throws IOException

read 0000 (DOooooooon)
0000000001000 (2Byte) 00000000000 int0O00OO

public int read() throws IOException
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A.1.4 FileReader 00O

O0000O0O0oOoOoOOoO(oOOO0O0O0O0000O0O0O)OReaderd InputStreamReader [
ooooo(@o)o

oo java.io

import java.io.*;

FileReader ooooooo

public FileReader(String fileName) throws FileNotFoundException

A.1.5 BufferedReader J O [

00000000000 (000000000000 0)0Reader000000 (ODO)00OO
ggboboboogobbooooooboo

godod java.io

import java.io.*;

BufferedReader ogooogg

public BufferedReader (Reader in)
<go>
BufferedReader br

BufferedReader br = new BufferedReader (new InputStreamReader (System.in));

new BufferedReader (new FileReader("foo"));

close 00000000 (D0ooooooon)

public void close() throws IOException
<go>

br.close();

read 0000 (DODDDoooooo0)
0000000001000 (2Byte) 000000000 ODO int00O0O0O
gbogbgoobobo-1000

public int read() throws IOException

<0 >
while ((i = br.read()) != -1)
readlLine 0000 (0D00000ooooo)

00000000010 (\wO0)O0OO0OO0O0O0O00000 Stringd OO0
oooooooobobD ndl 0D OO

public String readLine() throws IOException
<0 >
while ((str = br.read()) != null)
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A.1.6 PrintStream [ 00

000000000000 (00000000Do0000000O0n)O OutputStream]
FilterOutputStream 000000 (0 0O)O

godod java.io

import java.io.*;

close 00000000 (D0ooooooon)

public void close()

flush 00000000 (D0ooooooon)
000000000 (boooo)0Doooooooo

public void flush(Q)

write 0000 (000000ooooo)
00000000 int000D0D00O0O 1ByteDOODOO
public void write(int b)

print 0000 (0D0000ooooo)
goooboooooOooooobbooooboobooo

public void print(0 OO OO0 p)
public void print(Object obj)
public void print(String str)

println 00000000 (D0ooooooono)
ggboboboooobbbuoooobbbuooobbbooogn

public void println()

public void println(00OOOOO p)
public void println(Object obj)
public void println(String str)

A.1.7 FileWriterO OO

00000000000 (0000000000000)0VWriterd OutputStreamiriter [
00000 (00)0

oot java.io

import java.io.*;

FileWriter goooggo

public FileWriter(String fileName) throws IOException
public FileWriter(String fileName, boolean append) throws IOException
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A.1.8 PrintWriter O [

00000000000 (000000000000 n)Ovwriter000000(0DDO)00OO
ggbbbuooobobboogooboo

oo java.io

import java.io.*;

PrintWriter ogopoogg

public PrintWriter (Writer in)
<go>
PrintWriter pw = new PrintWriter(new FileWriter("foo"));

close 00000000 (D0ooooooon)

public void close()
<0 0>

pw.close();

flush 00000000 (boooooooono)
000000000 (boooo)ooooooooo

public void flush()
<go>
pw.flush();

write 0000 (000000ooon)
O000b00b int000000O0O 2Byte 100000 O0OOO0OOOOODOOO

public void write(int b)
<go>

pw.write(’x’);

print 0000 (000000oooo)
ggboobuoooobbboooooboboood

public void print(0 OO OO0 p)
public void print(Object obj)
public void print(String str)

println 00000000 (D00oooooon)
gogboboboogobbbuoooobbbuooobobbooodgn

public void println()

public void println(0 00000 p)
public void println(Object obj)
public void println(String str)
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A.2 000000 (Wrapper Class)

ggbbogobooogbobbooobuoggbbuooobbuooobobuoooboboon
ggbobobuoooobbbooobobboood

Jodddd | byte short int long float double boolean char
000000 | Byte Short Integer Long Float Double Boolean Character

A.2.1 Integer [0

UobobobD0 intd 0o ododdNumber 000000

oot java.lang
gooboboooobi impert OO0 g

MIN_VALUE int00000 =-2147483648 (DO DO 0O)

public static final int MIN_VALUE

MAX_VALUE int00000 =2147483647 (DO OO O)

public static final int MAX_VALUE

Integer goooooo

public Integer(int value)

public Integer(String str) throws NumberFormatException

parselnt 00000000 (boooogn)
oot intdgggooon

public static int parseInt(String str) throws NumberFormatException
<go>

int i = Integer.parselnt(str);

valueOf 00000000 (D0Doooon)
UO0O0OD Integer DU OOOOOOU

public static Integer valueOf(String str) throws NumberFormatException
<go>

Integer i = Integer.valueOf(str);

toString 0000000 (0000000)
int 0000 (00)00 String 0000 (000)00000

public static String toString(int i)
<gf>
String str = Integer.toString(i);
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intValue int00000 (DO000000000)
O00000000o0oooCD int000D0(ODO)00000

public int intValue()
<O 0>

int i = Integer.valueOf(str).intValue(Q);

doubleValue double DO OO0 (DODDOODODOOODO)
0000000000000 dowble0 000 (DO0)O0ODODODO

public double doubleValue()
<g o>
double d = Integer.valueOf (str).doubleValue();

toString 0000000 (boooooooono)
0000000000000 string0 000 (DO0O0)0DODOODO

public String toString()

A.2.2 Doubled O
JO00d000d0O doubleDOODOOOOOOONumberd 000

bbb java.lang
ooobouooboiol import 0oy

MIN_VALUE double JOODOOODO (ODODOODO)

public static final double MIN_VALUE

MAX_VALUE double OO OODOOOO (ODDOODODO)

public static final double MAX_VALUE

POSITIVE_INFINITY double DO OOOOO (DODOOO)

public static final double POSITIVE_INFINITY

NEGATIVE_INFINITY double OO DOOODODO (DODOODO)

public static final double NEGATIVE_INFINITY

NaN double DO DO DOOODOO (DODOODO)

public static final double NaN

Double goooggno

public Double(double value)

public Double(String str) throws NumberFormatException
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parseDouble 00000000 (D0o0oooo)
O0OO0OOdouwble D0 OOOOOODO (JDK12O0OOOODOOODOO)

public static double parseDouble(String str) throws NumberFormatException
<go>
double d = Double.parseDouble(str);

valueOf 00000000 (D0oooooo)
UOdO0bO0DboubleDDOUOOOOOONO

public static Double valueOf (String str) throws NumberFormatException
<go>
Double d = Double.valueOf (str);

toString 0000000 (000oooo)
double 00D (ODD)0OD0O string0 000 (DOD)0D0ODOO

public static String toString(double d)
<go>
String str = Double.toString(i);

intValue int00000 (00000000 00)
0000000000000 int0000 (0O0)0O0D00OO

public int intValue()
<gd o>
int i = Double.valueOf(str).intValue();

doubleValue double 00 OO0 (DDDDOODODOOOO)
0000000000000 dowble0 000 (DO0)ODODODODO

public double doubleValue()
<0 o>
double d = Double.valueOf (str).doubleValue();

toString 0000000 (oooooooono)
0000000000000 string0 000 (DO0O0)0DOOODO

public String toString()

A.2.3 Boolean OO

UodbbDbObooleanUOUOOOOOU

oot java.lang
UbooboooboioD import 00O OO0DOO
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FALSE Boolean 00 falseJ O OODO (DODOODO)

public static final Boolean FALSE

TRUE Boolean O O true0 0000 (DO OOO)

public static final Boolean TRUE

Boolean goooggo

public Boolean(boolean value)

public Boolean(String str)

valueQOf 00000000 (ooooon)
UOdbO00 Boolean DO U OOOOOOU

public static Boolean valueOf (String str)
<go>

Boolean b = Boolean.valueOf ("True");

booleanValue boolean 00000 (0O0DODODOODODODO)
odouoobooibbobbiUbOd veoleanJ ooy

public boolean booleanValue()
<go>

boolean b = Boolean.valueOf (str) .booleanValue();

toString 0000000 (0000000000)
0000000000000 String0 000 (000)00000

public String toString()

A3 ODUOOOoOOO

OO0 (00)ooooooooooooooo

A.3.1 MathOOO

oot java.lang
goboobooooibi impert OOy

E double OO OODODOO e(DODODODO)

public static final double E

PI double O DOO n# (0DODODOO)

public static final double PI

119
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abs 000 o (DOOOOOO)

public static int abs(int a)
public static long abs(long a)
public static float abs(float a)
public static double abs(double a)

min 000 min(e,d) (0000000)

public static int min(int a, int b)

public static long min(long a, long b)
public static float min(float a, float b)
public static double min(double a, double b)

max 000 max(a,b) (00D0O0O0OO)

public static int max(int a, int b)

public static long max(long a, long b)
public static float max(float a, float b)
public static double max(double a, double b)

round, rint 0000 (0000ooon)

public static int round(float a)
public static long round(double a)
public static double rint(double a)

floor 000 ¢ (00O00O0DO0O)

public static double floor(double a)

ceil 000 [¢] (DOOOOOO)

public static double ceil(double a)

pow 000« (0000000)

public static double pow(double a, double b)

sqrt 000 Ve (OOOOOO0O)

public static double sqrt(double a)

exp 0000 e« (0000000)

public static double exp(double a)

log 0000 log,a (ODOOOOOO)

O0A

JavaODOUOQOOOQO
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public static double log(double a)

sin, cos, tan 0000 sina,cosa,tana (000 O0000)

public static double sin(double a)
public static double cos(double a)
public static double tan(double a)

asin,acos,atan,atan?2 ooooo shr’la,cos*1aqtanfla,tanfl3 (Doooooo)

public static double asin(double a)
public static double acos(double a)
public static double atan(double a)
public static double atan2(double a, double b)

toDegrees, toRadians 0000 (Dopooooo)

public static double toDegrees(double angleRadian)
public static double toRadians(double angleDegree)

random 00 re[0.0,1.0) (D00O0O00O0O)

public static double random()

A4 DO0ODODOOOOOOO

gogobobboogoobobboooooboo

A.4.1 StringO OO

Ubddf java.lang
uboooboooobob import00nOg

String gooooon

public String(String str)

valueOf 0000000 (0000ooo)
gogoboboooooboobodo

public static String valueOCf(U OO OO0 p)

equals 000000 (oooooooono)
ggbobobuooogbbboooobbbooad

public boolean equals(Object o)
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equalsIgnoreCase 000000 (Doo0o0ooooono)
ggbbobuoooobboooobobuooobobboooonobboooobn

public boolean equalsIgnoreCase(String str)
compareTo 00000000 (ooooooooo)

000000000ooooooooDooOoC0O0O0 (oODOoooooooooooOo
000000000oooon)

public int compareTo(String str)

compareToIgnoreCase 00000000 (boooooooon)
0000000000000 0000000O0000DO000DOODO00OooOOO (O
O000000ooooooooooooooooooooon)

public int compareToIgnoreCase(String str)

length 00000000 (D00DO0ooooon)
OOo0oooOoooooood
public int length()

charAt 0000000 (boooooooono)
0000000 indexO0O char 0000 (DO)OOO

public char charAt(int index)

substring O0000000oooo0 (boooooooono)
0000000 beginIndexO OO (endIndex0 000 )000000O0O (StringO)
goo

public String substring(int beginIndex)
public String substring(int beginIndex, int endIndex)

index0f 0000000000 (Doooooooon)
0000000000000 000oUoooDoo0O0d (intDh)OD0OO

public int indexOf (in ch)
public int indexOf (String str)

laxtIndexOf 0000000000 (booooooooo)
000000000000000000000D0ODO0O00 (int0)O000O
public int lastIndexOf(in ch)
public int lastIndex0f (String str)

toLowerCase 00000000 (Doooooooon)
00oOoO00ooOoO0boboOoobboOooooooo
public String toLowerCase()

toUpperCase 00000000 (Doooooooon)
oo0ooOo0o0ooOoOobOboOoobboOooooooo
public String toUpperCase()
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gogooboboooaooo

A.4.2 StringTokenizer [ [ [

StringTokenizer U U D UOUOOODODDODUOUOOODODOOOOODDODDOOOOODOO

goobbnd java.util

import java.util.x;

StringTokenizer goooobod
200000 string0 U delimU 000000 O0delimJ 00000000000

ggoooo

0000000000000 (0000000 oO)ooo0ooooood

public StringTokenizer (String str)
public StringTokenizer(String str, String delim)
<>

StringTokenizer st = new StringTokenizer(str);

countTokens 000 (0000000oooo)

ggboobobuoooobbooooon

public int countTokens()

nextToken 0000 (DO000Ooooooo)

00o0o0o0dooooooooooOg (Dooo)ooo

public String nextToken()

<>

StringTokenizer st = new StringTokenizer(str);
for (int i = 0; i < st.countTokens(); i++)

strArray[i] = st.nextToken();

hasMoreTokens 0000000 (D00ooooooon)

gogbbobuoooobbboodbbbiddl boolean OO O

public boolean hasMoreTokens ()

<go>

StringTokenizer st = new StringTokenizer(str);
while (st.hasMoreTokens())

strArray[i++] = st.nextToken();

A5 O0O0OOO0OOOOODOOO

gogbobbbooodgbbbooooobbo

123
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A.5.1 Applet00 00

Applet U OUO0O0OOOO0OOOO0OODUOOOODOOOOOODOOOO0ODOOODO AppletU O
ggboboobuoogoobo

oot java.applet

import java.applet.*;

gododoind java.awt.Panel
ggbbobuoooobbooodn
java.applet.Applet — java.awt.Panel — java.awt.Container — java.awt.Component

— java.lang.0Object

init 000000000000 (Coobooooooo)
googoobbbobbbbbobtoooooobbbboouooooooobbo
goboooooowwwioooooooooboooooboooooooobogo
gogoooo
U000 start U0 0000 UOO0O0O0ODOO0O0 init 0000000 OO0O0

public void init()

start 00000000000 (Cooooooooo)
0000000000000 000000O0OO0O0000 (0)booooooooO
gbobooboboboboboowwwioiboooooooooboboboboo
ggbboobuoogoobo
wwwioooooooooooobooobooooowwwioooooboooooog
ggbobobogooboogao

public void start()

stop O00O0O0000O0ooD (Dooooooooo)
gbbooobooboobboobooboobooboobbooboobbon
goooooobooooobooowwwioooooooooooooobooboboo

ggboboobogood
wwwioooobooooooooboobooooowwwiooooooooooo

ggboobuoogoobobooooboo

public void stop()

destroy O000000000ooD (Dooooooooo)
ggobobbbboooooobbbbooooobbbbouooooobobobooo
goooooobooooboowwwioooboooooooooooboobobooo
ggboobooooboo
destoryU U UOUUOOOOOOOOODODOO stopUUOOOOOOOODODO

public void destroy()
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getParameter 0000000000 (Dooooooooo)
WWWOOOOO<PARAM>OOOOOOODODOOOODODODOOOOOOOODO (DOO
000000000000DOO0ooo0n)

public String getParameter(String name)

<Oo0>

wwwiOoooo
<APPLET CODE="...." ....>
<PARAM NAME="Message" VALUE="msgl">
</APPLET>

O0000000 getParamter("Message") U '"msgl" OO0

showStatus 000000000 (Coooooooono)
0000000000 WWWOOOOOOoOoOo (oooooo)ooooooooo

public void showStatus(String msg)
<g o>
showStatus("Applet running");

getDocumentBase wWwwwooOoO URL(DOOOOO0O0OO0O00O)
gboobooboowwwiooooooooboo URLODO

public URL getDocumentBase()

getImage 00000000 (D0oooooooon)
goodbo vRLOOOobOooboobon

public Image getImage(URL url, String name)

<>

Graphics g = getGraphics();

g.drawImage (getImage (getDocumentBase(), "image.jpg"), x, y, this);

A.5.2 Container [ O[O

Container [l UApplet U 200 U0OO0OOOODOOOOOLDOOODOOODOON Container
oooobooobooobgoobo

goobOd java.awt

import java.awt.*;

paint 000000 (000oooooon)
0000000000000 00000OOCentainer(00000O00OOOODODO)
gogooboogd
OO0 ContainerJ g bbuoooobboooobbbooonobn
Uobbbudd gdddbbOU GraphicsUUODDODOOOOMN



126 OO0A JawvaDOOODOOODOO
public void paint(Graphics g)

update 00000 (D000 O0oooooon)
Container(0 0000000 OODODODO)DO0O0O0OOOODODO
gboodbooobbobuobbuodbibddbpaintd0ooognbooon g
00000 GraphicsUODODOOOOOMO

public void update(Graphics g)

repaint 0000000 (oooooooono)
JavaOOOODODODOODOwdateUODOOOOO0ODOOOo0OO

public void repaint()

A.5.3 Component ][]

Component Ul JApplet U 3U L UDOUDULDOOOOOOOODOO00O0O0O0OODN Component
gbogbuoobooboobo

b java.awt

import java.awt.*;

getGraphics Graphics 0O 0O0O0ODOOOO (DODOOOOOOONO)
Uobobobuoodibl GraphiesO OO OO

public Graphics getGraphics()
<go>

Graphics g = getGraphics();
g.drawLine(x1, y1, x2, y2);

getSize 000000 (boooooooon)
Component U U U U Dimension J U 1 1

public Dimension getSize()
<go>

Dimension d = getSize();
int width = d.width;

int height = d.height;

getForeground 000000 (Dobooooogon)
00D (paint 00 00O0D0D0OCOOOOOOO)DODOOO

public Color getForeground()

getBackground 000000 (D0oooooooono)
000 (wdateOOODOOOOOOODODOOOOOO)ODODOO
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public Color getBackground()

setForeground 000000 (0oo0o0oooooo)
000 (paint 0000000 OCOOOO0OOO)DO cOODODDO

public void setForeground(Color c)
<go>

setForeground(Color.blue);

setBackground 000000 (D00ooooooon)
000 (wdateO0OOODODOOOOODODOODOOOO)O0 cOOOOO

public void setBackground(Color c)

addMouseListener 000000000 (00oo0o0o0ooo0)
ggbbobuooobbboooobobobuoooobbbuooobobboood

public void addMouselListener (MouseListener 1)

removeMouseListener 000000000 (oooooooono)
goooobbbbbboooooouoooobbbbbooooooooooon

public void removeMouseListener (MouseListener 1)

addMouseMotionListener O00000000000000O (DooooooooO)
gbooboboobooboboobbooboobbooboobooboobbon
goo

public void addMouseMotionListener (MouseMotionListener 1)

removeMouseMotionListener gdooooooooocoogo (DDDDDDDDD
0)
gopoooboogooooboogooooboobooooooobooubogobo
gooogg

public void removeMouseMotionListener (MouseMotionListener 1)

A.5.4 GraphicsU O[]

Uobooboo0boobobOodbd GraphiecsUOD O OODOOOOOGraphicsd 0O 0N
gobobodobbuogobbobbooobbuooobbuoobobobooboboobboob
00000000 (0,0)0002000000y0000000O0OO0OO0OOOOOOO

oo java.awt

import java.awt.*;
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clearRect 0000000 (000O0ooooon)
0000 (x,y)DOwOOOKhOOOOOODOOODOOOOOO

public abstract void clearRect(int x, int y, int w, int h)

drawImage 00000 (boooooooon)
0000 (x,y)0OwOOOROOOOOO imgOOO0ODOO0O0OO0O0O0O0OO do (O
00000o0)oooooo

public abstract boolean drawImage(Image img, int x, int y, ImageObserver io)

public abstract boolean drawImage(Image img, int x, int y, int w, int h,
ImageObserver io)

<gf>

Graphics g = getGraphics();

g.drawImage (getImage (getDocumentBase(), "image.jpg"), x, y, this);

drawLine 00000 (0000000000)
(x0,y0) 0 (x1,y1) 0000000000000

public abstract void drawLine(int x0, int yO, int x1, int y1)

drawOval 00000 (00000o0opooo)
0000 (x,y) DOwOOOKhOOO (OOO)OODOOO

public abstract void drawOval(int x, int y, int w, int h)

drawPolygon 000000 (D0oooooooo)
n0000 (x[i],y[i]) O0OO0OOOOO (DOODO)oOoOOO

public abstract void drawPolygon(int[] x, int[] y, int n)

drawPolyline 000000 (boooooooon)
nd0000 (x(i],y[i]) OO00O0OD0OOCOOOOO0OODOOOOOOOOOOOOO
gbooobood

public abstract void drawPolyline(int[] x, int[] y, int n)

drawRect 00000 (0000000000)
0000 (x,y)DOwDOO KOO0 (00O0)00000

public abstract void drawRect(int x, int y, int w, int h)

drawString 000000 (0000000000)
000 str000 (x,y) 00000

public abstract void drawString(String str, int x, int y)

fillOval 00000000 (Dooooooooo)
0000 (x,y)DOwOOOKhOOOOODOOOOOOOOO
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public abstract void fillOval(int x, int y, int w, int h)

fillPolygon 000000000 (boooooooono)
n0000 (x[i],y[i])O0OOOOODODOOOOOOOOOOO

public abstract void fillPolygon(int[] x, int[] y, int n)

fillRect 00000000 (D0ooooooon)
0000 (x,y) DOwWOOO hOOOOOOOOOOOOOO

public abstract void fillRect(int x, int y, int w, int h)

getColor 000000 (D00oooooon)
gooobooboobooodad

public abstract Color getColor()

setColor 000000 (D00ooooooon)
gogbbcObboog

public abstract void setColor(Color c)

A.5.5 Colord 000

000000 Color00000000000000000D000000 (Red)00 (Green)O
0 (Blue) 0000000000000 00000000O0ORGBOONONOOOODO Java
00000 (Hue)O OO (Saturation)d O O (Brightness) 0 00 0OHSBOOOOOO OO
000000000000

oo java.awt

import java.awt.*;

Color gooooon
RGBOODUOOOOOOOOODODODfleatODODODO [0.0,1.00int00000O0O
0,255|00000000RGBOOOOOOOO 00000 ODORGBOOOOOO
0000 (100002 00000000

public Color(float r, float b, float c)
public Color(int r, int b, int c)

black O (@Oooooono)
UoOO0dbdOdOblack, blue, cyan, darkGray, gray, green, lightGray, magenta,
orange, pink, red, white, yellowU OO QO4oooog

public static final Color black
00>
setForeground(Color.black) ;
g.setColor(Color.black);
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equals 0000 (D000 0oooooo)
200000000000000000000 (5)00000equalsd000O0OOOOOO

public boolean equals(Object obj)

A.5.6 MouseAdapter ] [

obdbodboobobdbubobubudbUldl MouseAdapter U U U UMouseAdapter
U MouselListener U 0O UO0O0O0OO0OUOODOOODOOODOODODOOOOODOO

oot java.awt.event

import java.awt.event.x*;

MouseAdapter gooooon

public MouseAdapter ()

mouseClicked 00000000000 (booboooooog)
0do0oobooodoooooboooddoooobooboooooooooooooao
0000 bbbb0d0dUdUddUmousePressed] 00O OO
mouseReleased 1 0 OO 0OOODOOOOOOOOO0N

public void mouseClicked(MouseEvent me)

mouseEntered 000000000 (Doooooooon)
goggbbbobbouoooooobbbboduoooobbobobouoooooobobon
ggoboboooobboboooobobbuoooobobbooooboo

public void mouseEntered(MouseEvent me)

mouseExited 000000000 (oooooooon)
gogbbobobbouoooooobbbouooooobbobouooooooboboon
gbooboobgbbgbboboobooboobooboobob

public void mouseExited(MouseEvent me)

mousePressed 0000000000 (0ooo0o0oooooo)
gogbbobboooooobbbbouooooobobobbouooooooboboon
ggbbboooobbbuoooobbbuoooobbboooboboo

public void mousePressed(MouseEvent me)

mouseReleased 00000000000 (Cobobooooooo)
goobbobboooooobbbbouoooobbobouooooooboboon
ggbbbugoobbodoodgbobbuoooobbobuooobobboood

public void mouseReleased(MouseEvent me)
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A.5.7 MouseMotionAdapter [ [ [

booobuoobuoobuoobobobobbO0obOOdn MouseMotionAdapter U U O [
MouseMotionAdapter [J MouseMotionListener U U U U OUOUODODOOOODODOOO
goooogon

0000 java.awt.event

import java.awt.event.x*;

MouseMotionAdapter goooooo

public MouseMotionAdapter ()

mouseDragged 000O00000oooD (Dooooopoooo)
gooobboooooboboboogobbbobbooooobobobbouoo
O0000000ooOoO0o0o0000ooooooO(DoooooooooooO0)od
goooooon

public void mouseDragged(MouseEvent me)

mouseMoved 000000000 (Coooooooono)
gobobbodoooobbbooooooubbbbooooobobbboao
goooobobbobbboooooooouooooooobobon

public void mouseMoved(MouseEvent me)

A.5.8 MouseEvent [ [

0000boobuoobuo0oboobO0obDO MouseEvent OO O
OO0OO0D0 java.awt.event

import java.awt.event.x;

ool java.awt.event.InputEvent
ggoboboooobboooon
java.awt.event.MouseEvent — java.awt.event.InputEvent —
java.awt.event.ComponentEvent — java.awt.AWTEvent — java.util.EventObject

— java.lang.0Object

MOUSE_CLICKED 0000000 (D00oooo)
0000000000 (int0000)000000000 AWTEventd getIDOODOODO
ggbodbboguobbooubdodbbddbdUMOUSE.CLICKED, MOUSE_DRAGGED,
MOUSE_ENTERED, MOUSE_EXITED, MOUSE_MOVED, MOUSE PRESSED, MOUSE RELEASED[J
goooooon
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public static final int MOUSE_CLICKED

<gf>

if (me.getID() == me.MOUSE_CLICKED)
System.out.println("Clicked");

// 000

if (me.getID() == MouseEvent.MOUSE_CLICKED)
System.out.println("Clicked");

getX 00000 x0000O0O0 (oooooooono)
ggbbbuoooobbbuoooobbbdxbuooaobbo

public int getX()

getY O00000y0OO0OOODOO (DOOO0DOOOOODO)
ggbobobuoooobbobooooobbbdyboogoboo

public int getY()

A.5.9 InputEvent[ [0

UbooobuoobuoobuooboobOobD InputEvent DO OO
ool java.awt.event

import java.awt.event.x*;

ool java.awt.event.ComponentEvent
vboooogbogbogbdoood
java.awt.event.InputEvent — java.awt.event.ComponentEvent — java.awt.AWTEvent

— java.util.EventObject — java.lang.(Object

BUTTON1_MASK 00010000 (Dooooono)
O0000000000000000000 (int0000)000OgetModifiersO OO
0000000000000 000BUTTONL MASK, BUTTON2_MASK, BUTTON3_MASK,
ALT GRAPH MASK, ALT MASK, CTRL_MASK, META MASK, SHIFT MASK 1O OO OOOO
000 (@OOo0)ooooooo
public static final int BUTTON1_MASK
<go>
if ((me.getModifiers() & me.BUTTON1_MASK) != 0)
System.out.println("Button 1");

// 000

if ((me.getModifiers() & InputEvent.BUTTON1_MASK) != 0)
System.out.println("Button 1");

getModifiers 000000 (Doooooooon)
00000000000000 (int0000)00000000000D0 BUTTONL MASK
ggbobbbooodgbbboooobobbooodabobon

public int getModifiers()
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A.5.10 AWTEvent [l 0[O
AWT(Abstract Window Toolkit) DD 0000 ODODOO0OO0OOOOOOOO AWTEvent OO OO
oo java.awt

import java.awt.*;

godobboOd java.util.EventObject

boooogbogboobdboood
java.awt.AWTEvent — java.util.EventObject — java.lang.0Object

getID O0000000ooOo(@ooooooooon)
Uboobuob int000000000000

public int getID()

A.5.11 EventObject ][I
JawvalOUOOOODOOOOOOOOODOOODOO EventObject O OO
oo java.util

import java.util.x;

getSource 0000000000 (Coooooooon)
0000000 (DooooooU0UoUooooDoo)ooogoo

public Object getSource()
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import java.awt.event.*;
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public void mouseClicked(MouseEvent me)
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public void mouseEntered(MouseEvent me)
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public void mouseReleased(MouseEvent me)
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bOddl java.awt.event

import java.awt.event.x*;
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public void mouseDragged(MouseEvent me)
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public void mouseMoved(MouseEvent me)



135

O OB 000000000

10 -JavalUOUOOOOOO
B.1 00O0OO0ooooon

HTML ODOODODOOOOODOOOODOO0DbO00bO00DbDO00 report_sample.html [J
report_format.html 0 2000000000000 000O00D00C0O0O0O Safari00O0OdnQ
gboooboboooboob wwwiouooboooobooboboobuoooonooo
0000o0d0ooooooooo00UoUooooD (Coooo)oooopoooo

gboobobooboobobooboboobobosbboboobuoooobon
0000000000000 00(0000000000)000000000000000
gobobobooobobgoobdobooboobobobobobooboboobobon
gboboobobooboobobobobobooboboobobobboobobon
gobogobuoobooboboobooboooboobuooboobobobobboboobOon

B2 0O00OO0O0OOOOOO

gbogbuooboobobboboobooboobooboobobbo

220 01,234

0000000ooo(@oooon)

gogoobogdgbbbdgbuogoboooboobboobbuoobbooooon
000000000000000000000000O0O000U0O (booo)o




136 UodB 0OO0O0OO0OO0DOO0ODOO



B3. 0000000000 137
020 -0000dod o oogdo
B3 00000O0oOOoOon

gogbbogboboogbbooooboooboobobooobboooboboobboon
gobboobboogbboobobooobbobbooobboooboobboob
ggbbboooobbbouoodoobbboodobbboooobbbuoooobn

230 01,4 240 1,3 260 U1l 2.70 01
280 02,4 2100 0O1 2110 01,2 2120 0O1

B4 0000000000

0000000000 (\n, \t, \b, \f, \r, \\, \’, \»’) 0000000000000
0000000000000 0000000000000000000(00)00000
00000000000000000000000000000000000000000
0000000000

public class Backslashl {

public static void main(String[] args) {
System.out.println("\\n:");
System.out.println("[[" + "\n" +"11");
System.out.println("\\t:");
System.out.println("[[" + "\t" +"11");
System.out.println("\\b:");
System.out.println("[[" + "\b" +"11");
System.out.println("\\f:");
System.out.println("[[" + "\f" +"11");
System.out.println("\\r:");
System.out.println("[[" + "\r" +"11");
System.out.printIn("\\\\:");
System.out.println("[[" + "\\" +"]]1");
System.out.println("\\\’:");
System.out.printIn("[[" + "\’" +"]1");
System.out.printIn("\\\":");
System.out.println("[[" + "\"" +"]11");
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do U while U0 UO0O0Owhile O OOOOO
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gboobuoobgoobgobbobooobbobbobooboobooboobo

S Gk N

import java.io.*;
public class Gamel {
public static void main(String[] args) {
try {
final int MAXTIMES = 3;
final int RANGE = 10;
BufferedReader br =
new BufferedReader (new InputStreamReader (System.in));
System.out.println("0O 0" + (RANGE-1) + "ODODOODO" +
MAXTIMES + "OODOO0OOOM;
int answer = (int) (Math.random()*RANGE) ;
int times = O;
int trial;
do {
System.out.print("OO7 -> ");

trial = Integer.parselnt(br.readLine());

000000 10000000 Math.random() 000000 1.0000000000000 (000000
0O0)oooo
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if (trial < amswer) System.out.println("OOOOO");
if (trial > answer) System.out.println("ODOOOO");

times++;
} while ((trial !'= answer) && (times < MAXTIMES));
if (trial == answer)

System.out.println("O OO ! " + times + "OODOOOO");
else

System.out.println("O0 !");
}
catch (Exception e) {
System.out.println("Error: " + e);

e.printStackTrace();
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public class Hanoil {
public static void main(String[] args) {
int n = Integer.parselnt(args[0]);
System.out.print("UO0 OO0 -> " + n);
hanoi(1l, 2, 3, n);
}
static void hanoi(int src, int dst, int buf, int n) {
if’ ¢ by ‘
System.out.println("O0O" + n + "OO" + src + "OOO" +dst + "OOOOO");
| |
}
}
}

000000 (D00ooo300o00)

goooog - 39
gdi1gdi1gdgg200oo0n
gd200100gg3ggoon
gdi1gd20003ggooo
gog3gtbi1ggga200oon I
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gdi1gdi10d0gg200000
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import java.io.*;

public class CardStock {
static BufferedReader br;

int[] cards;

CardStock(int n) {
cards = new int[n];
for (dnt i = 0; i < n; i++)

cards[i] = i+1;

int discard(int i) {
int card = -1;
if ((1i >= 0) && (i < cards.length)) {
card = cardsl[i];
int[] newcards = new int[cards.length-1];
for (int j = 0; j < i; j++)
newcards[j] = cards[j];
for (int j = i+1l; j < cards.length; j++)
newcards[j-1] = cards[j];
cards = newcards;
}
else
System.out.println("Wrong index \’" + i +
"\’, # of cards: " + cards.length);

return card;
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int automaticDiscard(int sum, int goal) {
if (goal <= sum + cards[cards.length-1]) {
for (int i = cards.length - 2; i >= 0; i--)
if (cards[i] < (goal - sum))
return discard(i);
}
return discard((int) (Math.random()*cards.length));

int userDiscard(int sum, int goal) {
int i;
System.out.println("You have the following cards:");

for (i = 0; i < cards.length; i++)

System.out.print(" " + cards[i]);
System.out.println();
do {
System.out.print("Select a card -> ");
try {

int card = Integer.parselnt(br.readLine());
for (i = 0; i < cards.length; i++)
if (cards[i] == card) break;

}

catch (Exception e) {
i = cards.length;

}

} while (i >= cards.length);

return discard(i);

public static void main(String[] args) {
if (args.length < 2) {
System.out.println("Usage: java CardStock <# of players> <# of cards>");
}
else {
System.out.println("You are player #0.");
int nPlayers = Integer.parselnt(args[0]);
int nCards = Integer.parselnt(args[1]);
br = new BufferedReader(new InputStreamReader (System.in));
int i = 0;
for (; nPlayers > 1; nPlayers—--) {

int limit = nCards*(nCards-1)*nPlayers/3;
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System.out.println("NEW GAME with " + nPlayers + " players. " +
"You may not exceed " + limit + ".");
CardStock[] players = new CardStock[nPlayers];
for (i = 0; i < nPlayers; i++)
players[i] = new CardStock(nCards);
int sum = O;
i=-1;
do {
i = (i+1) % nPlayers;

int card = 0;

if (i == 0)
card = players[i].userDiscard(sum, limit);
else
card = players[i] .automaticDiscard(sum, limit);

sum += card;
System.out.println("Player #" + i + " discards " + card +
", the current sum is " + sum);
} while (sum < limit);
if (i !'=0)
System.out.println("Player #" + i + " lost!!\n");
else
break;
b
if (1 !'= 0)
System.out.println("You are the WINNER!!!");
else
System.out.println("You are a LOSER!!'! ( " +

nPlayers + " / " + args[0] + " )");
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import java.applet.x*;
import java.awt.*;
public class SineCurve extends Applet {
public void paint(Graphics g) {
Dimension d = getSize();
g.drawLine (0, d.height/2, d.width, d.height/2);
);

g.drawLine(
int oldY =
for (int x = 1; x <= d.width; x++) {

double theta = ’ ‘

int newY = (int)(d.height * (1.0 - Math.sin(theta)) / 2.0);

g.drawLine(x-1, oldY, x, newY);

oldY = | |
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import java.applet.x*;

import java.awt.*;

import java.awt.event.x;

/*
<applet code="ClickSpeed" width="300" height="300">
</applet>

*/

public class ClickSpeed extends Applet {
static final int TIMES = 10;
static final int SIZE = 10;
static long fastest = -1;
int count = O;
long time;

int x, y;
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public void init() {
addMouseListener (new CSMouseAdapter(this));

public void mousePressed(MouseEvent me) {
if (count > 0) {
if ((me.getModifiers() & me.BUTTON1_MASK) !'= 0) {
int xc = me.getX();

int yc = me.getY();
if ((x < xc) && (xc < (x+SIZE)) && (y < yc) && (yc < (y+SIZE))) {
count——;
setForeground(Color.black) ;
}
else {
count++;
setForeground(Color.red) ;
}
if (count > 0) {

showStatus("" + count + " more!!");

repaint();
}
else {
time += System.currentTimeMillis();
if ((fastest < 0) || (fastest > time)) fastest = time;
showStatus("Finished in " + (time/1000.0) + " secs. " +
"Fastest time: " + (fastest/1000.0) + " secs.");
repaint();
}
}
}
else {

if (fastest < 0)
showStatus("Click right button to start.");
else
showStatus("Click right button to start. Fastest time: "
+ (fastest/1000.0) + " secs.");

public void mouseReleased(MouseEvent me) {
if ((me.getModifiers() & me.BUTTON3_MASK) !'= 0) {
count = TIMES;
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showStatus("Start clicking ... " + TIMES + " more!!");
setForeground(Color.black) ;
time = -System.currentTimeMillis();
repaint () ;
}

public void paint(Graphics g) {
if (count > 0) {
Dimension d = getSize();
X (int) ((d.width - SIZE) * Math.random());
y = (int) ((d.height - SIZE) * Math.random());
g.fillRect(x, y, SIZE, SIZE);

class CSMouseAdapter extends MouseAdapter {

private ClickSpeed cs;

public CSMouseAdapter (ClickSpeed cs) {
this.cs = cs;

}

public void mousePressed(MouseEvent me) {
cs.mousePressed(me) ;

}

public void mouseReleased(MouseEvent me) {

cs.mouseReleased(me) ;
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